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Participant Name
Test Center Name
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Section : General Ability1

Q.1 U fAfYa shis wmn F,
ma ba ca <1 31 & kiwi is fruit,
za ja 1 31 @ fresh vegetable,
ja ba la @1 3r2f & brinjal is vegetable,
‘brinjal' & fOQ wis FT 82

Ans x A.ja
X B.ca
“ C.la 30
x D. ba 60

(00 Question ID : 54062619449

Q.2 39 e o1 9g= R Sit fieR o @ I uahR @ H&fda | gEA UGS Ug U5 &
wefa g1

AT AR T ? $

Ans XA ST $

of B
/< C. @i

£ D. <rid &

Question ID : 54062619445

Q.3 o 31&rl &t 1,2,3,4,5 3R 6 # shuifoha fohar mam g1 fReredl |, 371 S=msil i ar dwnfaa
TRy €1 7S § 1 39 e 1 a1 R A9« 31eR Uah arefeh e a1 9ahl

DIR[H|L[U|E
1.2 |3 |48 |B

Ans X" A 453216

/X B.254136

of C.352146

75 D. 124653

Question ID : 54062619436
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Q.4 f=fafae sigen &t g

G2I, L4N, Q8S, V16X,
Ans X" A Y32A

o B.A32C
/< C.B24D
/< D.Z724B

Question ID : 54062619437

Q.5 Ry g fasmeut & @, A9 g Affa adeh @ gu &1 greifeh, Uah faerey s fia fr avg gl 21
39 fehe &1 Ta_ R St 3T | 3T &l

Ans X A g
X B.&
v o
/5 D.amw

Question ID : 54062619438

Q.6 T BIRTH & GDWOM & = & <hif2d forar mar &, @t AWFUL & foig sl s &7

Ans X" A GSBAH N\
60

< B.GRBZF 60

o C.FrRKPQ (05

7< D.FSAZH (bo

,06
\2\ Question ID : 54062619447

Q.7 PR s  qu g 7 F $\$

IGE, HFD, GEC, ___, ECA
Ans &' A FAD

o B.FDB
75 C.FDA
/5 D.FBD

Question ID : 54062619434
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Q.8 f=faf@d & aifdhea a A aaf@a &3

1. greft

2. ggr
3. faeett
4. 3R

5 .98

Ans X" A 1,3,2,54
75 B.534,1,2
/X C.2,34,51
o 023541

Question ID : 54062619452

Q.9 af e el &, ATt AR &, AR AT &, BT Tihe @, Gohe A @, Jaret e &, e
fem g, 9t fR=faf@a 9 @ o= ar a1 A& 1 gt gerar &2

Ans X A e
/X B.&TR
W c
Z5 D. @

X QY
&& Question ID : 54062619446

Q.10 Pr=faf@a sjeen & e ug w19 & 3§
HKN, FIL, DGJ, BDH, ZCF @Q
Ans X A ZCF 6
/< B.FIL \2\(0
75 c.pGJ \$$ )
o D.BDH N

Question ID : 54062619435

Q.11 39 farehe &1 99+ R St AR ug & 3+t v @ Hafda & 9 uhR @ gerr ue uget we &
Tefda g1

MSG:RNL:: UGO:?
Ans X A YAS

/< B.XCS
of CzBT
/< D.wyq

Question ID : 54062619444
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Q.12 7& & urE A u=ht it I Y et & & A2 1 Aar ITd FA Gdfda @2

Ans X A grer/ATT

o B o
/X c.o
25 D. frar

Question ID :

54062619450

Q.13 39 farehe &1 99 R St AR ug & 3+t v @ Hafda & 9 uhR @ gERT ue uge e @
Tefda g1

fordhe : g o dsfieT: ?
K A R
/X B.f
of C e
75 D.wE

Ans

Question ID :

54062619442

Q.14 feu 7y faereat & &, A7 ves AfYa a8 @ gu= &1 grifen, wﬁmam;ﬂmﬁrmgqﬁ%l
39 faereq &1 99 R St 3T I 3T 21

KA ZWT
of B wTP
/X C.sPM
/< D.oLl

Ans

QO
6{0

2{0
&

Question ID :

54062619441

Q.15 Qer udten &, 3rfefar 2 ur @ 31fdes w@hik foran 2ft @ 7 @Ak fomar aneft A ur=ht @
31fAer TR fohaT AfehT Srfefar @ & whik fham) Aot A At @ oifdes @ik fraT s ga &
& A Wi fohae foman?

25 A s
/X B.@ef
25 C. aifar

o Do

Ans

Question ID :

54062619451

Q.16 f2u 7Y faereal & &, A7 wer FAfYa a8 @ Tu &1 griifeh, Ter fereu 3= 9 & a=g =& 21
39 faereq &1 99 R St 3T I 3T 21

/X A TK:OP
o B.Wi:RM
/5 C.PJ:KO
75 D.FM:AR

Ans

Question ID :

54062619439
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Q.17 feu g faeredl & &, A7 ves AfYa a8 @ gur &1 griifer, Tar fAerea o=y s & avg =& 21

Ans

39 farehe &1 Tg9 &R St g @ 31T 81

of A

#< B. azare : R
75 C.ust SR

X D. oz

Question ID : 54062619440

Q.18 ABC HhueecH A ATh{eT Welereh o ug & forg sufigart fit @ler o @ &1 swfiear ol

Ans

1. 75 ufasra siepl & gry faredt oft fawa & @iraes g =nfgwn
2. Arehfén & MBA g1 T1fgul

3. S ok archien | 4 adf &1 srgva g Tyl

4.01/01/2020 & 30 @ 40 af & = A amg g =nfRql

fFr=fafea siuare argga &

A. af Inflear IuRi~h 3 i BizER =g Gt AFEET T GR1 wear &, dfchT Swfiear ot uifie
31IHd & 6 I &, At SWfiear I vsivw wI Hafa frar srgrm

B. af I=figar 4 &) Sigar o= Tt ATEET ol U1 e 8, |t I/ AgrIeh Uit ol Hafla
fora sgTm

ot 75 ufaRrd siehl & 1 Teh 1A T 81 39 XYZ 9419 @ Archfén & MBA farar 81
ITHT S 07/01/1988 @t g1 UTI ag TRS &t 7 fsat 12 auf & fasht swrdureres & wu &
HRRA &1

59 IFfigar & aR | i Aoty S srar afge?
25 A Infiear &t gerae Heye @t Fefiia T s Aty
/< B. Suficar & srefirel e s =R
o C. Siicar &1 w R s A
% D. 3uficar & udiereh &t defefd far s =Ryl

Question ID : 54062619453

Q.19 39 St &1 99 2 wit U | & 71 S § IHE vhR 9 6fdd @1

Ans

Z0G:BQl::?
5 A NFX:PIZ
o B.MFW: OHY
5 C.RKB:QJA
< D.LEV:KDU

Question ID : 54062619443

Q.20 afX BRAND =} 5-21-4-17-7 & & & shifad fvar mar 8, @t EMPTY & Qg shle o= @2

Ans

5 A 513-16-20-25
o B.816-19-2328
5 C.6-14-17-21-26

< D.9-17-20-24-29

Question ID : 54062619448
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Section : General Ability2

Q.1 F=fafaa # 9 & 1 39 e siffaa, Awdden ofik geul & g & ddul ot a9 srst
Zarfar 82

Ans x A
X B
v &
X D.

Question ID : 54062619462

Q.2 39 ey o1 9o e St fieR Ue & I uhR @ Sl g Sa reR A g@u s ugd g @
Heifdd g1

9:162::11:?
Ans  off A 242

/< B.220
K co21
75 D.143

Question ID : 54062619459

<
Q.3 mﬁammhmm,mﬁmmﬁmﬁuﬁéﬁam
0

garfar g?
Ans “ A QO
X6 ,06(0
Xc QN

Q
< D
$$

Question ID : 54062619465

Q.4 Ty 7y faerent & &/, = ves fAfYa a6 @ gumE &)1 greifes, ek faeren o= fi it arg Al 21
39 fehe &1 Tg9 &R St 3 @ 3T &1

Ans x A

Question ID : 54062619468
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Q.5 Prefafee de siaen # g1
242, 254, 236, 248, 230,
Ans X" A 218
< B.212
75 C.248
o D.242

Question ID : 54062619460

Q.6 I faehed o1 9T+ R il T B @ ST v @ Tl § 99 vpR @ @i sl ugehi sfa @
Geifad g1
Ans  of A
< B.
p.
<D

Question ID : 54062619467

Q.7 ust gl oy Ry 1y &, e are g1 fAsewdd | 3ii? 11 Ry g &1 smuent 37 =it it 2
U & U8 I T a2 @ 9= udid g1 enuen! ag fAofa aar @ f g g AR o
w1, afg FiE g, at Ry g Fuet A | srgeror wRar g1 60
,bb

HUF 1: Gft e T &1
YU 2: S Acleh AeTeh g (0(\

e |: e e et 1 6
Foreame 1I: e Rvars e &1 \2{0

Ans  off A dac P |1 SrgeRo R & {Q
#% B. e forsa | SR awar & $$
25 CoAlaiRAE || P srgeRorawa &
5 D. | 3R 11 @ Freed argaRon e &

Question ID : 54062619455

Q.8 e # Yah sy faar man g, [Siwes a1g gt fAsepdf | 3R 11 Rg 71 &1 3muest 399 Syl ol I /AT
g, vt &) U gmT=ad: 9 a2 @ O udla g ermuent ag Aofa d=r @ ok e o fRreret a @
&I a1, afe &g g, at Ry g FHU= 1 SIgERT T &1

HY: Bedl Y Aad Ra-ufafea ag @ &

e |: Wt Qe gefor g @ ofik ety ol &t e g 3@ 21
s 11: et Y w1 7 et o @ ek sRuTasr wel oY hra 7 g g€ 81

Ans O A et IR || STTERUT dRT 8
£ B. 1 3R 11 @t Freamd appeRon & @
2K C. Faet Freemd | SIgERoT & &
o D71 iR Freand srgeror awa &

Question ID : 54062619454
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Q.9 F=fafae srpfa 7, Ryst ararsit o1 ufaffd wear g, ot el 1yl w=ar &, 9=
gl o1 ufafRAfda @var g1 9 a1 &= Ararsit o1 ufafAfda wvar g sit g4 & @ RAeres adf
&

Ans X" A B
25 B.G
Wco
/< DA

Question ID : 54062619463

Q.10 F=faf@a 7 @ i o IwR siepfar wer srrepfar Y sjzae &l grT @wvelt 82

Ans x A

Question ID : 54062619466

Q.11 ﬁqwﬁwﬁﬂﬂ,zﬂﬂwﬁ@aaﬁﬂmélaaﬁ,wﬁmamehﬂﬁ@qﬁél

39 farehed o1 99 &R ST 31T | ST 81 S
Ans X" A 6-132 360
W B.17-287 Qo)
>
/X C.9117 *
/< D.14-238 \2\(&

§ Question ID : 54062619458

ra

Q.12 & 7 IR NPl |, IT TR 1 7= H O ust arpfa Bhy/afaRa 21

Ans x A
X B
F
o

Question ID : 54062619472
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Q.13 Ul & Ueh YA 2 man g, [Rads a1 & &vuF, | SR 11 g 71g &1 simue! 39 =l vl 9o A==
g, U &1 Ug I=a: wa a2 @ 99 udia gt enuen! ag Rvfa ar P Ry g sy g d =
o1, af2 i g, af u%r U= &1 IR 3 & e yafa 21

T%T HYU: Gk il A 30 BT & | hefl A BTl i ATY T FeT ANT T 8?2

HY |: e & Tt Sl HY s g 20 af g1
HY |I: T Bk BT F g 18 avf g iR Tad 72 B hi 9y 22 af &1

Ans X A T | SR AE I TfE R
o B. e Fu | Tafe §
25 C.Fad e || wafa &
25 D. @A | iR 1| 1 ot wafed & w0 & e @ form T @

Question ID : 54062619456

Q.14 f=fafaa usr 7, g g o i ar R/ & 1€ &1 6 312R aret e & fAuda aret weds W Hib
T 38R gm?

Ans X A.O
W BV
/5 CR
D.S .
~< ,-,§\
4
60 Question ID : 54062619470
Q.15 Q& G & &t el Terehl () TR 1A, 39 &Y Hel Terehl () ‘zfaﬁ?armﬂﬁqa:q'

et () R R @ e e oI &1 59 O Y 16 SR w § 21 5 @ Rt SR o
ﬂqmm(ﬂm)ﬁm,wm(ﬁm)gﬂoﬁ?aﬁhmaﬁ%g)naﬁéiﬂaﬁm

Ans ' A g \.2\

o Bo6 $$

5 Co $

5 D4

Question ID : 54062619471

Q.16 Fr=faif@a # & wi= a1 faeeu si@er | e siefa 82

Ans X" A sfaC
/S B.BRA
o Cc.sRD
S D.sfiB

Question ID : 54062619469
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Q.17 b=t & Geh e R wan €, [ ore kars & g1 o | 8iR 11 g 71 €1 eimueRt 391 sl ol @
AT &, ¥t & I8 I=ad: I1d a2 9 {39 udida g1 enmuent ag Rofa = & 6 g o srkard
& i B Q 4 T1, aft i g, @t Ry 1Y sy 1 SrgERor et gl

HY: st uRaga d Staeradt Re-a-fR aedt s @t 21

RILETS <Al ShU:

I: IUTTeS SISt & STJUR gl §9T gl agi 9ifdes CCTV Sk =aifte fhg = =nfagl

II: grfsifAes ufRag=T & areaw @ g @A aret safhal &) e fifdar & gregg @ fR{gmar s
IR foh SiaehdaRt @ W it F& T3 Sg|

Ans  off A 1ok 11 BT orgEROT A 2
#5 B.&ae || SrER0T el B
5 C. Fae | SrgERoT el &
25 D. 71 SRAE 1| SgERor el @

Question ID : 54062619457

Q.18 f3Q 7Y a1 IR H Yah hicil=l & Nl i TeaT g2rfdft 7 @ it FR, 99 3R I15h | T hed &
T8 & fohas @1 R & I1Y-T1Y o9 F oft g he Tohd 82

Ans 3" A3
/5 B.5
/< C.16 %\Q
o D10 60

(b:. Question ID : 54062619464
N

Q.19 ﬁﬂﬁ@aﬁﬂﬂqﬁmmﬁﬁ,uﬂaﬁhaﬁwaﬁhﬂmmm#

Ans XA $‘

v 4 $$
5 c

S D.

Question ID : 54062619473

Q.20 Il (x+5) > (y-9) + 26, al F=R@ad d s araa &2
Ans XA x-y>22

S Bx-y<22

W cx-y>12

S Dx-y<12

Question ID : 54062619461

Section : General Awareness1
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Q.1 Fgen Fr=fafla 7 @ fra wu @ wafda &2
Ans JA.@ﬁgT

75 B.wfRuE

X C. R

/5 D. digwr

Question ID : 54062619487

Q.2 Fr=afafla 7 9 fFd "arr arR" & a8 & +ft I ST 82
Ans  off A gaTmR

/X B. &z gnr

/< C.He gnR

/X D.&fret AR

Question ID : 54062619488

Q.3 U UhR & 7 e foredt avg & @t vt g A woa & gan & R d aed §, 39
nfe wga 81

Ans IAW
X B. e \Q
X c o P
Z< D. et (03

6 Question ID : 54062619484

2

N
Q.4 mﬁ@mmmmmm@am
Ans X' A gl $$
X B =&

o C e
F

Question ID : 54062619483

Q.5 YHH UFR U RIS PR e uffad "R § A gd # giar e thern
§oT & 3R RI9 Y SrhleRt & 31l el 81

Ans  off A sreaifes
X 5=
/X C.wr
X D.Iwegfa

Question ID : 54062619489
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Q.6 Which among the following is not a component of fiscal policies adopted by the
Government?

Ans X' A Taxes
“ B. Cash reserve ratio
x C. Government spending
X D. Subsidies

Question ID : 54062619482

Q.7 uRd & Rafaf@a asul/de anfaa wdari & 9 forg @ 8 @R g=man siar 82
Ans XA.gﬁqun'

/X B. @feen

75 C. sifean

o D. g ok Feik

Question ID : 54062619476

Q.8 fA=fafEa Al § @ frd gerRT & AW @ ugst ST Siar a1?
Ans X" A Sqar

X B.dww <&

o c. s 60
75 D@ (05

@

Question ID : 54062619491

2

Q.9 fFr=fafda grea aurel & @ fra @ swifder sEifik gR foar mar ar?

Ans XA_W $
/X B. e $
&< cgd

o D. s

Question ID : 54062619493

Q.10 #er w2 & fA=faf@a wites difia d @ @i a1 sifes 2regl & 9y ges R e 1fia @2
Ans X A Ud

75 B.aw

o c o

75 D. dearht

Question ID : 54062619474
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Q.11 Fr=afafE@a d @ s @t de 3 guar a9 & 99 @ vRa | ugen sl gt de ot arifea
femam?

Ans I A RiftSe 3
/X B. rda @e da
25 C. & sitw gfear
ZX D. deTre Axe de

Question ID : 54062619479

Q.12 Which among the following defects is also known as far-sightedness?

Ans “ A. Hypermetropia
x B. Myopia
X C. Presbyopia
x D. Cataract

Question ID : 54062619486

Q.13 SiergmTeT A JaF Fefafaa 7 9 e aso d fR@a 82
Ans XA mem R

X 8.a <

o C o aTa 6’@
X D. dffet A1g (bs
6(0 Question ID : 54062619485
o)
A3
Q.14 Which among the following is not a method adoptecg\ﬁﬁl to maintain the liquidity of
economy? $

Ans x A. Maintaining cash reserve ratio $

X B. Decreasing repo rate
f C. Buying of shares

X D. Buying of government bonds

Question ID : 54062619480

Q.15 Which among the following is defined as the minimum interest rate of a bank below which it
cannot lend, except in some cases allowed by the RBI?

Ans X" A Reverse repo rate

X B. Call money rate

x C. Repo rate

J D. Base rate

Question ID : 54062619478
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Q.16 fA=faf@a 3 @ frg ueR & udd &l "g " & 73 @ off ST SiTar @2
Ans X A aferd uda

of B @s oda
/X C. saremgE uda
/X D. 3rafe udd

Question ID : 54062619490

Q.17 Fafafea & @ w4 ot o Ff & e & oI s7o1 uem we & fog sifdega &2
Ans X A SBI

75 B.RBI

o C. 7€ (NABARD)
#< D. fresh (SIDBI)

Question ID : 54062619481

Q.18 f=fafaa # @ frd "gwifer arfge” & am @ off s Sirar 82
Ans XA.@'—rqri%a,\im

J B. uf d@fez, detrer . Q
/X C. STy |, sffEam 6\
AS)
< D. diem wfe, Reht 50
e
(b Question ID : 54062619475
£

Q.19 Wtﬁnﬁ@aqwsﬁaaﬁqmmtm@i@ﬁm#mwmam
SITdT UT? $o
Ans fA.f%‘éTwa §

/< B. feurt
75 C. =itz

/X D.ugR

Question ID : 54062619477

Q.20 1916 ¥, FT&@=s TH=A W) o off gwaner fohg g <&
Ans  off A R e wi ok e o

/X B.fafex ik R

X C. R ok el gt it

Z5 D. wRdta g st ok fofesr

Question ID : 54062619492

Section : General Awareness2
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Q.1 =g -1 YR <l U ©g M AT AT SHRT &Y sregerar d uagur fRar T AT
Ans XA & UTGwE
75 B. pomar @i

/X €. gE. o gar
o D. st meraT AR

Question ID : 54062619497

Q.2 AT gghoTs ol bl g # 2nifa & forg e qrer e
Ans XA 19

25 B.20

K c.22

W D17

Question ID : 54062619499

Q.3 f=fafae d @ fora o & |l g 6t sifds S smaitfSa Y 1 of?
Ans  of A 1050

B. 1940
” N
75 C.1959 ‘06‘
75 D.1947 50
e
(b Question ID : 54062619508
§{

Q.4 e 3 PRt e TEaf ZRT A g o &2 \2{0'

Ans A.15 $
X B8 $$

Wci2
/X D18

Question ID : 54062619507

Q.5 AT THAER FHi & & d I AhTe o fAg 1983 # e qrEhR fAaei
Ans X A srifa

of Bt

X c.aka

75 . zare e

Question ID : 54062619500
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Q.6 forca A WRA & e ET?
Ans X" A 1935

/<5 B.1928
/< C.1912
of D.1942

Question ID : 54062619494

Q.7 R wRuE @ srgeds 23 oik 24 @ wafda 21
Ans X" A T o SR

/X B. gura & AR

25 C. gipfien o fdren iR

of . o 3 e R

Question ID : 54062619506

Q.8 SRy WRIkIe= 7™ (IWF) 3 TR HJRATATHE Ufaier TA1Q & 3R g 2 aht
et sitefirer 2020 & WRIkTe ufaaifarsd & v o @ ufasaa &= Rar g

Ans o A ardds ok mafmT
/X B. uréaiug 3k R 6\Q
X C. wafrar ok W

O
75 D. ST ofR @
D Q®

6(0 Question ID : 54062619501

s

Q.9 fa=fafaq d @ &9 s« 2020 de =@ 1fder iis Sfiat op1 Repts w@ar &2

Ans  off A v e $
X B.UEm $
75 C. ThTget eret
¥ D, e S

Question ID : 54062619513

Q.10 i ferd gferss a1 (CRPF) 7
Ans X' A 20 @

o B 9w

75 c.12ad

#5 D. 2 st

2020 =t 554t CRPF di=ar feagw (2fe Rawr) w=mam

Question ID : 54062619503
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Q.11 Fafaf@a 7 9 fFa Tg TRPR A 9 3l 2020 ot "sifoR2rA 2fies” @ R forar &2
Ans XAW

/X B. R

/X C. ufgm sme

o D Rt

Question ID : 54062619502

Q.12 fafaf@a ddufes el @ frd "araea- R s & W @ ST siar 82
Ans X A 69a

o B. 52

/< C. 40ai
/X D.6tai

Question ID : 54062619505

Q.13 F=faf@a ool & @ fheA affe oieg 9=ie= (7eilae ulkel srfareia) 2020 6 Astarit 62
Ans X A TeTeIE

/X B.@ERIE \Q
X C.amm 23
A\S)
J D. ToRId BO
&
Question ID : 54062619504
2

A~
Q.14 The first three Cricket World Cups were also called ;éo World Cups.

Ans X" A Primary $ :
J B. Prudential $$

X C. Ecstatic

x D. Historical

Question ID : 54062619511

Q.15 fA=faf@a & @ &9 e 2020 e 3< e d 10,000 @ 31fdeh A IAM aTAT FTAUS T THATA
ToetarST g?

Ans X' A UggElg
/X B. s @aé
/X C. e diezem
W D Rm g

Question ID : 54062619512
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Q.16 ¥R = RemmRATART A & arfcresr fRien & g ugen Remea = R
Ans 5" A 1898

/X B.1875

/X C.1862

o D.1849

Question ID : 54062619496

Q.17 f=fafaa # @ fra= 31 A" 2020 de SR &4 & A afgen fagy u dsffeq dg=fag &
a2 31fdes Shia &1 Rl Tamar 82

Ans JA.;ﬁ:[
/X B. gy ey
#5 C.wmE
75 D.geRRm

Question ID : 54062619510

Q.18 fA=faf@a & @ i I d2r 1 TRATY UT?
Ans X A sichear

X B. e <&
o C s 6()%
/X D. gwmad (03
>
6 Question ID : 54062619495

s

Q.19 ﬁﬁ%@ﬂﬁﬂaﬁqmaﬂ#a{ﬁazozomﬁmaﬁg&m19ﬁﬁzﬁgaﬁrﬁﬂ?ﬁaﬂ

Reptd s 82
Ans X p erdvs $\$
o B oA
X C. siffer
75 D. uifrm

Question ID : 54062619509

Q.20 frafafEa & @ foret 7 serdt 2020 @t 7€ Reeht F ‘FiatgT tu' e qeaw FY vefAa
Ans X A aRfefe dhordret

/< B. gt et

75 C.aE g

o D. i ams

Question ID : 54062619498

Section : Arithmetic Ability1
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Q.1 (3.8%12.7 +3.8x 13.5 - 3.8 x 6.2) &1 AT T &?
Ans &' A 200

/< B.380
/5 c.o8
o D.76

Question ID : 54062619514

Q.2 & Hwad A 3k B Qi & foh, A & 1 ufdera eiik B & 1 ufarera &1 g, A & 5 afasa ik B & 2
ufdierd & SiaR o1 &1-utgal fGe1 8 1 A 3iiR B &1 Sigurd @ &2

Ans XA 409
o Bo:s5
/< C.5:4
K D45

Question ID : 54062619523

Q.3 T ge vt @teet @ 3R 39 2200 $9Q & et €1 afd ag 12 ufder @1 gena Sordt g &t
U Y AR T T g7

Ans &' A 2600 ¥UY Q&
75 B.2350 %0y ‘Q% .
o C. 2500 7wy 30
#< D. 2440 %1y @Q(b
\2\(0&% Question ID : 54062619525

Q4 ma@mwaam,maﬁuzeaaawﬁig&}'mmmﬁaamam
S R
Ans XA 4
5 B6
Wwes

< D3

Question ID : 54062619515

Q.5 U ZHMER Qe Ul ATart ¥ 48 G & Rifga g0 wr 60 9« @dear 81 afy ag 0.5
ufdrera Y ge I &7 Ul ol S=ar & at @7 ufaa Far g?

Ans X" A 20.82 ufasia
/< B.22.485 wfaerd
X C. 24 vfa
o D.24375 ufsra

Question ID : 54062619520
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Q.6 o= &Y g St A, o P, 91 Q @t <t 1 @ ok &Y R ot ot 3/49 &1 fR= P &A=
FTE?

Ans XA 2/7
X B.1/7
o C.3/7
/X D.4/7

Question ID : 54062619517

Q.7 QIYRUT TS R 5 st & gep AfA F 50 ufdera $i gfg gt &1 2 af are 36 57 ' 15000 Fu¢ 1
Tk, ST &RT §HTT ?

Ans X" A 8150 3ug
/5 B. 4150 30y
75 C. 6050 %Y
o D.3150 70y

Question ID : 54062619533

Q.8 A 3R B i} 3fiua #1fdes 317 10200 FUT & | B 3R C i 3itwa #1fder 31 9800 Fuw & ik A
3R C i sftaa 71fder 31 12250 Suq & | B Y 71fdes 3ma = &2

Ans X' A 11850 FUY %\<\
/5 B. 12650 Y 360
75 C. 10550 g Qo)
(\
o D. 7750 7y 6{0
o4
Question ID : 54062619519
R\W

Q.9 fAsmg P & 70 ufarra aian ik 30 ufazra s&r ‘;\ﬁmoﬂ‘m;rhmaim, 25 ufara
St 3k 35 ufaea gegAfaas giar 81 fsng P 3k Q &t 1 : 3 & siqura & AfSa favar war &1
g 99 fArsig & die SR ST 1 SIUTd &1 82

Ans XA 101
75 B.41:30
75 C.21:41
of D.38:21

Question ID : 54062619531

Q.10 T AT 220 "fARrd T g fSiaent 180 ufarera 135 &2
Ans 2" A 180

of B.165
75 c.200
/< D.175

Question ID : 54062619524
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Q.11 What is the compounded ratio of (1: 3), (5: 11) and (22 : 25)?
Ans X" A 11:25

B 2:15
K c3:5
2 D.1:25

Question ID : 54062619528

Q.12 o9 shATTa 99 e SR i shamTa fws denai & gt 333 @1 9w 9t 99 T ek
ol T v T # oiar 21 g1 99 S a9 T iR e B faww dwe o g o &2

Ans X" A 105
X B 111
o C. 107
/X D115

Question ID : 54062619516

Q.13 6014 FUQ I X, Y 3R Z & = 56 avg @ frwifSa &= 6 2 7371 X a1 fwm, 3 = Y o R
3R 5 T[T Z 1 fawmm 9ot sr1eR g1 shHen: X, Y SR Z o fgwan s €7

Ans X" A 3020 ¥Ug, 1580 ¥UY, 1414 307 \(\
/< B. 2890 3Ug, 1860 3UY, 1264 FUY
o C. 29103, 1940 3T, 1164 FUT N
75 D. 2410 3y, 2048 FUY, 1556 IY @Q

\2{’0 Question ID : 54062619530

Ans  off A 1925 ufsra
/X B.14.25 vl
75 C.19 ufera
/< D. 20 ufasra

Q.14 suﬁramaﬁﬂsnﬁramaﬁﬁaiﬁa@za?man@%ww%?

Question ID : 54062619518

Q.15 5:7:8: 11 & 3rgura & IW, 2am™, gR 3R Aig1 & oftar u= 0fA o1 fRre=or fran s=m @1 afy el
ol A @ 240 TUQ 31fdeh A & ot g o1 R e g2

Ans X" A 550 %ug
/< B. 440 3ug
o C 8803y
75 D. 660 3ug

Question ID : 54062619529
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Q.16 A& & Ut 40000 FUT & e T W & | Ig 59 10 UfAra & ATH WR HIoTdl &l A=a1 81 B
qUY T1E, hiotd 39 5 ufasra g1 uR araw A= ol S <t @1 g o &y ar g1fx ufasra o 82

Ans " A 5 yfderd gy
o B 5.5 uRrE
< C.5.5ufea g
#5 D. 5 ufdvera @

Question ID : 54062619527

Q.17 Gk ufaaifiar viien d, sifia, sielien SR faehr & shAen: UgHT, EERT 3R FieRT QReR &=

UET YREAR 5000 FUY T AT, TERT YRERR 3000 FUT T AT 3R F¥RT qREHR 2000 FUG 7 71
farerra ot Fer REPR AfA a1 fha=m ufdzra Aer?

Ans X" A 30 ufdsr
/< B.25ufea
o C. 20 vfea
75 D.24ufa

Question ID : 54062619522

Q.18 mdmﬁwmﬁmqwﬁmnﬁamaﬂmawﬁm%mﬁaﬂéu&:m
WA & fg 9200 FUG ST YA ST & Af AiaTse Wi Sl ANTd Jod T g7 N\

Ans  off A 8000 g ‘Q%‘
O
X B.8800 zuy (03
75 . 7800 Ty %Q
< D.7900 zug \2\{0\*
$ : Question ID : 54062619526
Q.19 Qe ZHhIFER & U1 T fohard, sileges, dfae g 2| ag el geh1Edl o1 55 ufaerd e @

3tz aroft +ff IS uTe 180 FoRTEAT &1 S UTH J ¥4 & foRa= gepTgar o4?
Ans  of A 200
< B.450
25 C.500
#5 D.520

Question ID : 54062619521

Q.20 SrgRTeT 7 Sifthe &t 2 awf & g 4000 Fug iz R it 3 af & fAg 6000 FUT saTeT & THA
TR GIYRUT TS R YR fam 3R 141 @ 1560 FUq & &q d =gret urd fovam ufay af sursr &R

FE?

Ans B A 4ufiea
/< B. 10 ufdsra
JC@uﬁm
£ D.5ufa

Question ID : 54062619532
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Section : Arithmetic Ability2

Q.1 urd T1é &R R9 39 gua & A & gufar @ St swfoe fAfvs nfafafaat o e @1 os-ad &
&1 & g ohior o/ @ i ag shwen: S ofiR Tifia R faamar 82

Ans  off A 126° 36°
/< B.168° 36°
/< C.135°45°

75 D.116° 64°

Question ID : 54062619549

Q.2 ufaad 20 ufdera R 1 af & fAg 10000 FUT R ATURYT 1T 3R Ashgfeg saTsT & off T SieR
& o srefaritfer = & =erqf fovar mar &2

Ans X' A 12530g
o B. 1003w
/X C.135%ug
75 D. 15039y

Question ID : 54062619534

LN

Q.3 X24ﬁﬁﬁwmmmélvmm20ﬁﬁmm§|xﬁmm@}\ﬁmn
ﬁmﬁﬁﬁ#mvaﬁmmur@ma@qaﬁnﬁﬁﬁmmaa@

Ans  of A 2f= >
/X B.5fA r(}(\
K c7fA (OKA
75 D.10R= $$ .
@ Question D : 54062619539

Q.4 f=fafle ar atw v fRensa & 500 sl & uwdler @« ol gafdar 81 & oEl 7 9 fha
ufderd o usdler @ & wu § JfeT o1 go forar &2
Ans  of A 7ufiem
/X B.gufasa
/X C.5ufe@
75 D. 10 vz

Question ID : 54062619550

Q.5 25Uy Uk f # 6 6 A &ech 35 AT & Gop e e Fehel &, R fohast goreil ol 5 & @vreT
ek 21 R | e ORT R ghm?

Ans X' A 187w
o B. 50 gow
75 C.60 73y
/5 D.10 gy

Question ID : 54062619542
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Q.6 Qe TS 3k Iuh! @rg faig X @ shAar: 9 Km/hr 3k 6 Km/hr &Y i & 3= &t 1 A% w1 sro=it
g1 & 30 e @ I T & SR 3rut 9 @ 30 e uget Uk fig Y R ugman &, A X ok Y
AT g aag?

Ans 3" A 48Km
o B.18Km
#5 C.28Km
#5 D.54Km

Question ID : 54062619538

Q.7 mgaf 1000 FAastd fAeH & 50 & G99y & aor &t g2far @1 A fRAgei wrasH6 b @
R §, I6 O th THI hH TSI dTeT AT ST g SR fS= fRA[si a1 a1 9 Ib a1 399 sifda
g1 8, S8 ST & 5y ek got arar A it &1 fohast ufaera fRgpeit & o= & wwa &
o1 7 dt FH R 7 & 3ifdres ur?

Ans X A 62 ufazid

/< B.37 vl
/X C. 40 vl

of 0. 51 ofe

Question ID : 54062619551
\‘Q

Q.8 Qe 2Ae T AT 462 cu cm & 37X SHeHT SR & 154 sq. cm%l&i@aﬁaé?“’mﬁm%?

Ans X A v102cm >
o B.vi30cm {0‘(\
25 c.v118cm ,OKA
#5 D.v107 cm $ |
§ Question ID : 54062619545

Q.9 1990 & 2010 ek & Ui a9 # Yeh AR hl STAGEAT gof Y 715 2ft1 1990 & 2010 ek S=EET Hi
sfrera § Rrereft 9f g4 22
Ans X" A 280 ufasia
75 B. 400 wfe=ra
o C.300 ufem
75 D. 480 wfara

Question ID : 54062619552
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Q.10 fAw=rfeif@d a1 2000-2001 & 2005-2006 ek WR & Hafd 3R smara (Fuq &) i g2rfar g1 ad
2002-2003 # g¢ frafa & af 2004-2005 # gQ SraTe ST U T 82

Ans X" A 19:30

of B.14:25
75 C.41:47
K D8:7

Question ID : 54062619553

Q.11 Qe fRerra it sitea nfa @@ & afy ag p Km/hr i wfa @ ges fagte g8 @a wear § 9k q Km/hr
Y 1fA | gk iR T gl T4 FRar 8?7

Ans « A. 2pg/(p+q) Km/hr
X B. 2pg/(p-q) Km/hr
X C. 2q/(p-q) Km/hr
75 D.2p/(p+q) Km/hr

Question ID : 54062619537

Q.12 3merter 2 Km/hr &Y 71 @ am &neds 30 fme 38 @ swmafera ugwran 81 afe ag 4 Km/hr & afa @
mm%,agwﬁﬂzugﬁugam%,ahmﬂaﬁmugaﬁa;mﬁm:ﬁﬁum

enfi? ©
Ans  off A 3Km 360
/5 B.10Km (\(b
>

75 C.5Km %

\
/X D.8Km \2\(0

\$$ ‘ Question ID : 54062619536

Q.13 3 aulf &, 75000 Fug fi o= AfA ufq af Tepqfeg sarer & fhd a2 UR 84364.80 FUg &t wTgii?
Ans X" A 8 ufas

o B 4vfea
#< C.10vfer
/X D. 12 ufdsra

Question ID : 54062619535

Q.14 ¢ MaThR S Ft uref qeia éohe T 8, af SR o1 ufk¥rg 22 cm @ SR gwehl Fard
FHhl s &1 R T 8?

Ans  of A 3085q cm
X B. 210 Sq. cm
75 C.296Sq.cm

75 D.176 Sq.cm

Question ID : 54062619544
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Q.15 3 g4l & 3feh R 1w &1 9aft 3iek 100 7 @ Ry g &1 A=Y & sidsh 3k srpkey & sitwd siehl
o e SfaR 87

Ans x A 22
X B.7

o Cs
K D12

Question ID : 54062619547

Q.16 12 f&AT & 14 ameft foha gaer Y wers R Tahd &, afe 8 ameHt 21 AT & 90 gaer i et
Hahd 8?7

Ans XA.84%?R'R
o B.90 3=
/< C.1088ax
/X D.78 8%z

Question ID : 54062619540

Q.17 25 et geh R & 6 62 oh1H ek 35 AT A geh il ahe Gehat &, at 21 R A Aw1 5 ©e vy

e o o qRT e | et sme Rl Y smasaeRar ghfi? \(\
Ans  off A 50 st ‘Q%‘
#< B. 45 s SO
' &
/X C. 48 srreH (bQ
75 D. 35 areH \2\(&*
‘ Question ID : 54062619541
&

Q.18 Uek faenmera & 1000 o= &1 F=faf@a uE-aré TeT & 32 Tt TR aret fed STl T
yfaerd g2rfar @1 fora=t o= &l wdien A ¢ = fAear g?

Ans X" A 264

75 B.142
/X C.402
o D.192

Question ID : 54062619546

Q.19 THTHR i &1 3maa= 113040 cu mm g1 A 6 Brsar aam 82
Ans X" A 15mm

o B.30mm

/5 C.40mm
X D. 60 mm

Question ID : 54062619543
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Q.20 aTforepT, e 2011 & 2015 aeh 2MNH ZRT A2 1T AC ) T ) g2far &1 2012 & /=7 Q ZRT
a9 g AC T ufaRrd 2014 F M0 S ZRT &= 1Y 6l g1 A fohe= e u1?
Ans X" A 11 ofe
< B.9ufE
o C. 8 vl
< D.10ufa

Question ID : 54062619548

Section : General English1

Q.1 Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the
option that gives the correct sequence in which these parts can be rearranged to form a
meaningful and grammatically correct sentence.

Since the 1960s,

P: in the US and whisky for aged grain

Q: American writers have increasingly

R: used whiskey as the accepted spelling

S: for aged grain spirits made

spirits made outside the US. \(\

Ans X A SPRQ ‘Q% ’

o B.QrsP 30
< C.SPQr *’<§\
/5 D.QRPS 6

$ . Question ID : 54062619567

Q.2 Find the part of the given sentence that has an$l'or in it. If there is no error, choose ‘No
error’.

Every time a specie dies out, (1)/ we lose forever a part (2)/ of our natural world. (3)/ No
Error (4)

Ans “ A. Every time a specie dies out,

X B. we lose forever a part

x C. No Error

X D. of our natural world.

Question ID : 54062619554
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Q.3 Select the word segment that substitutes (replaces) the bracketed word segment correctly
and completes the sentence meaningfully. Select the option 'no correction required' if the
sentence is correct as given.

Formal politics refers to the operation of a constitutional system of government and
(publicly defining institutions or procedures).

Ans x A. publicly defining institutions, procedures.
X B. publicly being defined as institutions and procedures.
K C. No Correction Required

« D. publicly defined institutions and procedures.

Question ID : 54062619559

Q.4 Fill in the blank with the appropriate word.

As a result of British colonisation, India has developed its own unique of English

known as Indian English.

Ans X" A exemplification

x B. delineation
X C. contour

J D. dialect

\(\ Question ID : 54062619563

Q.5 Find the part of the given sentence that has an error in it. If there is noﬁr, choose ‘No

error’. (\(b

During this period, the championship rules were (1)/ changed fi @ently by the FIA with the
intention (2)/ of improvement the on-track action and cuttin& ts. (3) No Error (4)

Ans X" A changed frequently by the FIA with the intenti 4

J B. of improvement the on-track action and@‘costs.
< C.No Error $

x D. During this period, the championship rules were

Question ID : 54062619557
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Q.6 Some parts of a passage have been jumbled up, and labelled P, Q, R and S. Select the option
that gives the correct sequence in which these parts can be rearranged to form a
meaningful passage.

Chauvinism is a form of extreme patriotism and nationalism and a belief in national
superiority and glory.

P. it can also be defined as "an irrational belief in the superiority or dominance of one's own
group or people”

Q. male chauvinism is the belief that men are superior to women

R. it refers to the maintenance of fixed beliefs and attitudes of male superiority

S. moreover, the chauvinist's own people are seen as unique and special while the rest of
the people are considered weak or inferior

It is associated with overt or covert depreciation of women.

Ans X" A SPQR
< B.PQRS
o C.Psar
5 D.SQRP

Question ID : 54062619570

Q.7 Fill in the blank with the appropriate word.

The Maurya Empire most of the Indian subcontinent into one state, and was the
largest empire ever to exist on the Indian subcontinent.

Ans X" A tormented

« B. unified

X C. ransacked

X D. harrowed

Question ID : 54062619566

Q.8 Fill in the blank with the appropriate word.

India's only Nobel in literature was the Bengali writer Rabindranath Tagore, who
wrote some of his work originally in English.

Ans " A displaced
X B. celebrated

« C. laureate

X D. commended

Question ID : 54062619564

Q.9 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.

The show is about two couples (1)/ and the adventures of (2)/ their rebellious offsprings.
(3)/ No Error (4)

Ans « A. their rebellious offsprings.

X B. The show is about two couples

X C. No Error

X D. and the adventures of

Question ID : 54062619555
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Q.10 Select the word that is closest in meaning (SYNONYM) to the word given below.

DELETERIOUS
Ans X" A DEXTEROUS

#% B.RETELLING
/< C.AIDING
o D.DAMAGING

Question ID : 54062619572

Q.11 Select the word that is the opposite meaning (ANTONYM) to the word given below.

ANACHRONISTIC
Ans X" A OBSOLETE

< B. ANTIQUATED
o C. CONTEMPORARY

< D. ASTOUNDING

Question ID : 54062619573

Q.12 Fill in the blank with the appropriate word. . Q
The predecessors of Wellesley _________ alliances with Indian Princes Ii%ﬁyawab of
Oudh and the Nizam of Hyderabad as now they had started receiving su s for the
maintenance of their troops.
Ans " A subjugated (\(b
J B. concluded 6®~
X C. compassed {b
x D. convoluted $$ :
$ Question ID : 54062619565

Q.13 Select the word segment that substitutes (replaces) the bracketed word segment correctly
and completes the sentence meaningfully. Select the option 'no correction required' if the
sentence is correct as given.

The details of Buddha's life are mentioned in many Early Buddhist Texts (but is

inconsistency), and his social background and life details are difficult to prove, the precise
dates uncertain.

Ans X" A No Correction Required
K B. but are inconsistently
« C. but are inconsistent

K D. but is inconsistent

Question ID : 54062619561
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Q.14 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.

It met all our criterias; a stable (1)/ employment, reasonably priced homes, (2)/ a state
college and a regional hospital. (3)/ No Error(4)

Ans X A. employment, reasonably priced homes,
X B. a state college and a regional hospital.
X C. No Error

Q_f D. It met all our criterias; a stable

Question ID : 54062619556

Q.15 Select the word segment that substitutes (replaces) the bracketed word segment correctly
and completes the sentence meaningfully. Select the option 'no correction required' if the
sentence is correct as given.

When used by academics, an arbitrage is a transaction that (involve no negative cash flow

with probability) or temporal state and a positive cash flow in at least one state; in simple
terms, it is the possibility of a risk-free profit after transaction costs.

Ans X" A No Correction Required
X B. involving no negative cash flow at any probability
\_’ C. involves no negative cash flow at any probabilistic

X D. involved no negative cash flow at any probability

Question ID : 54062619562

Q.16 Some parts of a passage have been jumbled up, and labelled P, Q,-R'and S. Select the option
that gives the correct sequence in which these parts can be rearranged to form a
meaningful passage.

While we tend to use the terms "sociopath" and "psychopath” interchangeably, they mean
different things.

P. every antisocial person does not have psychopathy

Q. psychopathy is the extreme end of the antisocial spectrum

R. while a psychopath is cold and calculating, sometimes even charming

S. when comparing sociopaths vs. psychopaths, most sociopaths are prone to impulsive
behaviour and often seen as disturbed or unhinged

But virtually all psychopaths are antisocial.
Ans X" A PQSR

/< B.QRSP

o C.srapP
< D.RQPS

Question ID : 54062619569
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Q.17 Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the
option that gives the correct sequence in which these parts can be rearranged to form a
meaningful and grammatically correct sentence.

Tourism brings large amounts

P: of payment for goods and services needed by tourists, accounting
Q: as of 2011 for 30 percent of the world's trade

R: of income into a local economy in the form

S: in services, and, as an invisible export

of goods and services.
Ans (" A PQRS

/< B.QRSP
o c.rPaS
/< D.RQSP

Question ID : 54062619568

Q.18 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.

The Constitution Act, 1867, affirmed governance based (1)/ parliament precedent and
divided powers (2)/ between the federal and provincial governments. (3) No Error (4)

Ans X" A No Error
X B. between the federal and provincial governments.
( C. parliament precedent and divided powers

X D. The Constitution Act, 1867, affirmed governance based

Question ID : 54062619558

Q.19 Select the word that is closest in meaning (SYNONYM) to the word given below.

SCARCITY
Ans X A. Haphazard

X B. Commonness
X C. Caducity

«. D. Dearth

Question ID : 54062619571

Q.20 Select the word segment that substitutes (replaces) the bracketed word segment correctly
and completes the sentence meaningfully. Select the option 'no correction required' if the
sentence is correct as given.

More moderate forms of scepticism claim only that (nothing can be know with certainly), or
that we can know little or nothing about the big questions in life.

Ans X A. nothing could be know with certainly
« B. nothing can be known with certainty
X C. No Correction Required

X D. nothing can be knew with certainty

Question ID : 54062619560
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Section : General English2

Q.1 Select the most appropriate ‘one word' for the expressions given below.

Pertaining to a code of beliefs accepted as authoritative

Ans X" A Prophetic
X B. Ventriloquist
x C. Amenable

J D. Dogmatic

[ Question ID : 54062619588

Q.2 Select the most appropriate 'one word' for the expressions given below.

To goad or urge someone to do something.
Ans X" A Repress

X B. Inane
J C. Instigate

X D. Dissuade

Question ID : 54062619585

D\

S

Q.3 Four words are given, out of which only one word is spelt correctly. Choo@éorrectly
spelt word.

O
Ans X" A ACOMMODATE (05
#< B.ACCOMODATE ﬁfbo
o C. ACCOMMODATE \2\"0&

/5 D. ACOMODATE $ .

&

$ Question ID : 54062619578

Q.4 Select the most appropriate ‘one word' for the expressions given below.

To give a sketchy outline of
Ans X' A Extricate

J B. Adumbrate
X C. Exacerbate

x D. Capitulate

Question ID : 54062619587
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Q.5 Select the word that is closest in meaning (SYNONYM) to the word given below.

AMORPHOUS
Ans X" A LONELY

o B.NEBULOUS
75 C.LIVELY
Z< D.DISTINCTIVE

Question ID : 54062619575

Q.6 Four words are given, out of which only one word is spelt correctly. Choose the correctly
spelt word.

Ans X" A IMPERTERBABLE
o B.IMPERTURBABLE
75 C.IMPERTURPABLE

75 D. IMPERTERPABLE

Question ID : 54062619580

Q.7 Select the word that is the opposite meaning (ANTONYM) to the word given below.

OMINOUS \Q
Ans X" A APOCALYPTIC ‘Q%
O
o B.PROPITIOUS (03
/5 C.PORTENTOUS @Q

#< D. AUGURAL 6

N Question ID : 54062619574

Q.8 Select the most appropriate ‘one word' for the e§pressions given below.

Any foodstuff made by combining different ingredient

Ans X" A Commotion

X B. Gourmand

x C. Dour

“ D. Concoction

Question ID : 54062619586

Q.9 Four words are given, out of which only one word is spelt correctly. Choose the correctly
spelt word.

Ans X A. Shampain

X B. Champain
x C. Champaine

“ D. Champagne

Question ID : 54062619576
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Q.10 Select the most appropriate meaning of the given phrase.

“Between the devil and the deep blue sea”

Ans X A. Not having enough space to walk.
J B. In difficulty, faced with two dangerous alternatives.
x C. Invariably taking the difficult path every time.

X D. Choosing between lying or facing the consequences of speaking the truth.

Question ID : 54062619583

Q.11 Four words are given, out of which only one word is spelt correctly. Choose the correctly
spelt word.

Ans  off A KNICKKNACK
75 B. KNIKKNACK
75 C. KNIKNACK

75 D.KNICKNACK

Question ID : 54062619579

Q.12 Select the most appropriate meaning of the given phrase.

"As busy as a bee" 'Q
Ans x A. Focusing only on task you want to do. \Q% ‘
X B. Making work the most important part of life. (bso
x C. Running around doing things of less importance. (OQ

“ D. Very busy. 6

$ N Question ID : 54062619581

Q.13 Select the most appropriate meaning of the giv§ phrase.

“A watched pot never boils”

Ans X A. A child cannot be spoilt under proper guidance.
x B. Doing something slowly and steadily while taking proper safety measures.
“ C. Time seems to go slower when you are anxiously waiting for something to happen.

x D. Being angry with something but not letting it out

Question ID : 54062619584

Q.14 Select the most appropriate meaning of the given phrase.

"A leopard cannot change its spots”

Ans x A. Cat family is known for keeping themselves clean.
“ B. Things cannot change their innate nature.
x C. You cannot change your destiny.
x D. Nothing is perfect.

Question ID : 54062619582
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Q.15 Four words are given, out of which only one word is spelt correctly. Choose the correctly

Ans

spelt word.
< A. CAFIENE

/% B. CAFFIENE
o C. CAFFEINE

#% D. CAFEINE

Question ID : 54062619577

Comprehension:
Read the following information carefully and answer the given questions.

Sacrifice, a religious rite in which an object is offered to a divinity in order to establish,
maintain, or restore a right relationship of a human being to the sacred order. It is possible to
analyse the rite of sacrifice in terms of six different elements: the sacrificer, the material of
the offering, the time and place of the rite, the method of sacrificing, the recipient of the
sacrifice, and the motive or intention of the rite. In a sense, what is always offered in sacrifice
is, in one form or another, life itself. Sacrifice is a celebration of life, a recognition of its divine
and imperishable nature.

Often the act of sacrifice involves the destruction of the offering, but this destruction—
whether by burning, slaughter, or whatever means—is not in itself the sacrifice. The killing of
an animal is the means by which its consecrated life is “liberated” and thus made available to
the deity, and the destruction of a food offering in an altar’s fire is the means by which the
deity receives the offering.

The basic forms of sacrifice, however, seem to be some type of either sacrificial gift or
sacramental meal. Sacrifice as a gift may refer either to a gift that should be followed by a
return gift or to a gift that is offered in homage to a god without expectation of a return.
Sacrifice as a sacramental communal meal may involve the idea of a ritual. mealat which
either some primordial event such as creation is repeated or the sanctification of the world is
symbolically renewed.

SubQuestion No : 16

Q.16 What is the meaning of primordial as used in the passage?

Ans

\_f A. Existing at or from the beginning of time.
x B. The event of bringing back peace to the world}
X C. The event of rebirth as talked about in mythologies.

25 D. An act of talking to the god.

Question ID : 54062619592




Join Telegram Group "HaryanadJobs.in"

Q.17
Ans

Comprehension:
Read the following information carefully and answer the given questions.

Sacrifice, a religious rite in which an object is offered to a divinity in order to establish,
maintain, or restore a right relationship of a human being to the sacred order. It is possible to
analyse the rite of sacrifice in terms of six different elements: the sacrificer, the material of
the offering, the time and place of the rite, the method of sacrificing, the recipient of the
sacrifice, and the motive or intention of the rite. In a sense, what is always offered in sacrifice
is, in one form or another, life itself. Sacrifice is a celebration of life, a recognition of its divine
and imperishable nature.

Often the act of sacrifice involves the destruction of the offering, but this destruction—
whether by burning, slaughter, or whatever means—is not in itself the sacrifice. The killing of
an animal is the means by which its consecrated life is “liberated” and thus made available to
the deity, and the destruction of a food offering in an altar’s fire is the means by which the
deity receives the offering.

The basic forms of sacrifice, however, seem to be some type of either sacrificial gift or
sacramental meal. Sacrifice as a gift may refer either to a gift that should be followed by a
return gift or to a gift that is offered in homage to a god without expectation of a return.
Sacrifice as a sacramental communal meal may involve the idea of a ritual meal at which
either some primordial event such as creation is repeated or the sanctification of the world is
symbolically renewed.

SubQuestion No : 17
What is sacrifice meant to establish?

X A. Right relationship of human beings with beings on other heavenly bodies.
x B. Right relationship of the human beings with the fellow beings.
X C. Right relationship of human beings with other species on the planet.

( D. Right relationship of a human being to the sacred order.

Question ID

: 54062619590

Q.18

Ans

Comprehension:
Read the following information carefully and answer the given questions.

Sacrifice, a religious rite in which an object is offered to adivinity in order to establish,
maintain, or restore a right relationship of a human being-to the sacred order. It is possible to
analyse the rite of sacrifice in terms of six different elements: the sacrificer, the material of
the offering, the time and place of the rite, the method of sacrificing, the recipient of the
sacrifice, and the motive or intention of the rite:In a sense, what is always offered in sacrifice
is, in one form or another, life itself. Sacrifice is a celebration of life, a recognition of its divine
and imperishable nature.

Often the act of sacrifice involves the destruction of the offering, but this destruction—
whether by burning, slaughter, or whatever means—is not in itself the sacrifice. The killing of
an animal is the means by which its consecrated life is “liberated” and thus made available to
the deity, and the destruction of a food offering in an altar’s fire is the means by which the
deity receives the offering.

The basic forms of sacrifice, however, seem to be some type of either sacrificial gift or
sacramental meal. Sacrifice as a gift may refer either to a gift that should be followed by a
return gift or to a gift that is offered in homage to a god without expectation of a return.
Sacrifice as a sacramental communal meal may involve the idea of a ritual meal at which
either some primordial event such as creation is repeated or the sanctification of the world is
symbolically renewed.

SubQuestion No : 18

From the passage which of the following is incorrect with respect to a sacrifice that is
made?

x A. It is made as a gift that is offered in homage to a god without expectation of a
return.

X B. It is made as celebration of life, a recognition of its divine and imperishable nature.
( C. It is made to take something from god at present and as a promise to return a
greater sacrifice in the future.

x D. It is made as some type of either sacrificial gift or sacramental meal or both.

Question ID

: 54062619594
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Comprehension:
Read the following information carefully and answer the given questions.

Sacrifice, a religious rite in which an object is offered to a divinity in order to establish,
maintain, or restore a right relationship of a human being to the sacred order. It is possible to
analyse the rite of sacrifice in terms of six different elements: the sacrificer, the material of
the offering, the time and place of the rite, the method of sacrificing, the recipient of the
sacrifice, and the motive or intention of the rite. In a sense, what is always offered in sacrifice
is, in one form or another, life itself. Sacrifice is a celebration of life, a recognition of its divine
and imperishable nature.

Often the act of sacrifice involves the destruction of the offering, but this destruction—
whether by burning, slaughter, or whatever means—is not in itself the sacrifice. The killing of
an animal is the means by which its consecrated life is “liberated” and thus made available to
the deity, and the destruction of a food offering in an altar’s fire is the means by which the
deity receives the offering.

The basic forms of sacrifice, however, seem to be some type of either sacrificial gift or
sacramental meal. Sacrifice as a gift may refer either to a gift that should be followed by a
return gift or to a gift that is offered in homage to a god without expectation of a return.
Sacrifice as a sacramental communal meal may involve the idea of a ritual meal at which
either some primordial event such as creation is repeated or the sanctification of the world is
symbolically renewed.

SubQuestion No : 19
Q.19 What is the 'destruction of the offering' symbolic of?

Ans X A. By destroying the offering, the offering is gone from the world.
X B. By destroying the offering, the sacrificer wants to show his strength to the deity.
X C. By destroying the offering, the sacrificer destroys what was made by the god.

{ D. By destroying the offering, the offering is made available to the deity.

Question ID : 54062619593

Comprehension:
Read the following information carefully and answer the given questions.

Sacrifice, a religious rite in which an object is offered to‘adivinity in order to establish,
maintain, or restore a right relationship of a human being-to the sacred order. It is possible to
analyse the rite of sacrifice in terms of six different elements: the sacrificer, the material of
the offering, the time and place of the rite, the method of sacrificing, the recipient of the
sacrifice, and the motive or intention of the rite:In a sense, what is always offered in sacrifice
is, in one form or another, life itself. Sacrifice is a celebration of life, a recognition of its divine
and imperishable nature.

Often the act of sacrifice involves the destruction of the offering, but this destruction—
whether by burning, slaughter, or whatever means—is not in itself the sacrifice. The killing of
an animal is the means by which its consecrated life is “liberated” and thus made available to
the deity, and the destruction of a food offering in an altar’s fire is the means by which the
deity receives the offering.

The basic forms of sacrifice, however, seem to be some type of either sacrificial gift or
sacramental meal. Sacrifice as a gift may refer either to a gift that should be followed by a
return gift or to a gift that is offered in homage to a god without expectation of a return.
Sacrifice as a sacramental communal meal may involve the idea of a ritual meal at which
either some primordial event such as creation is repeated or the sanctification of the world is
symbolically renewed.

SubQuestion No : 20
Q.20 Which of the following is not an element of the rite of sacrifice?

Ans X A. The recipient of the sacrifice.
X B. The material of the offering in the sacrifice.
X C. The method of making the sacrifice.

( D. The amount of effort put for sacrifice.

Question ID : 54062619591
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GHTS GURE AT AEH dhid F] I oA o i< §H=99 ol URT HaTfed s a1 &l o fiderar
S 6|

SubQuestion No : 17
Q.17 @R A foFe yeprR Frfor art @ var frar?

Ans B A ek goT T @e e
25 B. o TRt T Ry AR
o C. wfeis ok affgeT & fokty g1
25 D. e gr1

Question ID : 54062619633
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Comprehension:
TETIRT bt &1 © UG SR fou Q0 Ui & SwR &

TR = THTS H Igh THTST I THY I FReror fohaT| ToTe § thel STEMEER, e, ATGTIchd 311G
T I T SHTOT SR QT g farter faam s ot Y fwra 7 g€ St 3 sropten dat bt chre W
R T Afched AT HT AT foh I T e Tepat i fgwaa fondft A =18 oft| 39 uenR 3517 9aTST aan
Heren! femama SR EH-aferdl tht SHUR I+ T IUGLT AR, U HAfched ehl URHAR Telch HH Yeh AgH
el U o Rigial a1 faeor foman| &, Tra, sifgan e ffor At a1 v foman| sefentus & gfcgen
o1 TRty feran| srot T, T@fAat qur reel @t Stermer i 9T H IR ach Y+ Teh faRITel FHHEET
GIeTT| $9 TR el A TH-ATE! GIEhI0T ST 3R Sh1-heT TehdT WR e | F 7™ goeeT,
AT R AT HEH i F| I Fg-fem & g Tx=aa &l a1 yarfgd o= a1 ot gt <fiderar
U |

SubQuestion No : 18
Q.18 THIST YRk h &Y | helIX ohl T TG UT?

Ans  off A SR gEIfSie Yeura g amrETRisd @ gear & Rty R
5 B. I SITeRYT &t g W ot R
25 C. 38R wf & ufay s @ Y
75 D. 3R &-aforal i weg &

Question ID : 54062619632

Comprehension:

T oht & 9 U ofiR fow u ueif & SR &

PR F gATST § g ATST 1 Iy & fAReror foham| TomsT & thet sTgqTeeR, Seia, arreriisdr sife
o1 61+ TE THIT ek U1 g6 farie fohar foh foheft <ht fomra 78T g¢ it 31eh @jepiie dehi chi chie ek
TR 1 afched a1 S o7 foh I G feep Tapm ot femra fonelt & 98 2| 59 uahR 3= ot e
oot e 8k SH-afordl Y FUR Ia+ T IURLT AR, AU A hedh S URB Telch ATHA Yeh HgH
el U o Rigial a1 fAeuor o] &, T, sifear e fafor /et a1 v foan| sentus & gfcgen
o1 faRter foman| ot arfRara, TR qer <1l vt Sterret i ITST & Ik Yadh I Yeh [A0Ted ATTATT
GIeT| $9 TR el A TH-IATE! GIEhIUT UATT 3R HYUI-heAT TehdT UR T | 3 7™ gieeT,
GHTST YRS AT HEH i F| I8 Rg-Afeem & iz wr-aa & a1 yarfgd o a1 ot €t <fiaerar
g 6|

SubQuestion No : 19
Q.19 399 4 & - I1 faRtY &1 yafaer=h T8 872

Ans XA_M
o B TEad
25 C. ey
< D. ety

Question ID : 54062619634
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Comprehension:
TN bt T © U SR fou mu usii & SwR &

PR F gATST H g ATST 1 Ty T fAReror foham| TomsT & thet STEITEeR, AeTd, QrSreTfiehd i
T I T SHTOT S QT g farter faa s et Y fRwre 7 g€ St 3 sropten qant bt chre W
R T Afched AT HT AT foh 39 T4 e Tepat i fgwaa fonedft A =18 oft| 39 uenR 3817 9aTeT qan
et feaman iR EF-2fordt Y SUR 35+ a1 JUST S, ST Sfhed ohl YRR Gelch A Goh A8
et va o Rgial et FAeuor fokan| e, T, sifgan aer ffor At 1 oo fohan| e e T gfdgsn
a1 faRter foman| ot T, TAfAaY qur 1l ot dteraret it uToT & IR Fadh I+ T fAemer FrEnt
TIeTT| §9 TR TR A TH-ATE! GIEhIUT ST 3R ShI-heeT TehdT WR a1 fean| 3§ 7™ goeeT,
THTS GRS AT HEH hid J| I fFg-fem & g Tr=aa &l a1 yarfgd o= g1 ot gt fiderar
UG &l

SubQuestion No : 20

Q.20 HefiR & 31ehTeT dehl ohl hte=t Y arar forht & et =1 off?

Ans

X A 3 aefiae § 93 g3 o

of B. S Tl ittt o et @ fReror fmar an
25 C. TR o g & A RigH 2
XD.G@ﬁQﬂ@ﬁaﬁlﬁﬂﬁ?a{Wﬁvmm

Question ID : 54062619631
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Participant Name

Test Center Name

Test Date 25/08/2021
Test Time 8:30 AM -10:30 AM
Subject Junior Assistant

Section : General Ability1

Q.1 Ry 7y faereut & @ i ek fAfRa ais @ gur= €1 greifen, Ueh faerea org i & ag i 81
39 faered &1 T 1 St ST @ 3T 81

Ans X A.3712-60

o B.2134-40
5 C.6932-150
 D.7851-180
’\0
% | Question ID : 54062619654
\O)
& )}
)
Q.2 e fAiffa sz s A, "
i) 'John and Jill play football' &t 'sas rir fas tin kar' & &q & aﬁ‘%‘éﬁn T™TE
i) 'John try his best to win the game' @t 'lam kar pin zar at jon\jin mir' & ¥u & sifad frar

g
iiii) 'Football is the best game to play' &t 'ke mir ion fas jin at rir' & =u & shifed forar man
iv) 'Jill and Jack don't win' & 'sas tut mon tin zar@ # sifzq frar mar @

'John is the best player ' &t & wq Bharifaa famar srem?
Ans X' A. Karririon jin sas
«" B. Kar yui ke jin mir
< C. pin lam tut mon ke

Z5< D. min pin mon ke zar

Question ID : 54062619650

Q.3 Ry 7y faerent & @ i ves fAffa a6 @ gum= &1 greiifen, Tah e o= 9 it R i 81
39 fehe &1 T09 &R St 3 @ 31T &1

Ans X AT
X B.S
o C.5[¢
X D.Hhg

Question ID : 54062619640
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Q.4 6=k A, B, C, D, E 3R F I%R il O Hg &wdh Uk Uf~h A @2 &1 C, At ard sik @181 B, E
& ard AR @ST 21 F, A Y 21 3k @1 @ 3R E R aré ik @s1 81 D, C Y aré ok @sT 81 ufvs
& 213 BR A 3u i @S 82

Ans X A A
X B.C
& C.F
X D.E

Question ID : 54062619652

Q.5 f=fafae siaer &t g

A16C, B36D, C64E, D100F,
Ans A E1446G

< B.E169H
< C.E35G
X D.F169G

Question ID : 54062619637

Q.6 39 fored 1 Ta= R St R ug & IH UhR § R g Ru veR A T ug ugdt ug &

< 21 -
EKRP : HHUM :: IRDP : ? \Q% )
Ans X A LGMN SO
« B.LOGM Q(b
 C.KESQ 6(0
X D.KSEQ \2\(0
\$$ Question ID : 54062619646

AN

Q.7 39 SISl &1 99 3 S U & & 1 SE @ 9uE R @ 96§iAd g1
fRfhees : aRsmaes :: ?
Ans X A fems =
X B. SR &Y
« C. 0l : Juaur
< D.gfem: IR

Question ID : 54062619645

Q.8 fF=fafde siar siae & gu &<
CAE, FEJ, IO, LMT, _____
Ans X A.UIO
« B.0QY
X C.You
X D.OUY

Question ID : 54062619636
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Q.9 Ry g faerent & @ i ges FAfYa adids @ gu= &1 greiifen, Teh e o= i it a=rg & 81
39 farehe &1 w09 &R St T @ 31 81

Ans X A.DEAT-AEDU
2 B. KREN - ERKO
2< C. BINE -NIBF
& D. COIL- OICP

Question ID : 54062619643

Q.10 uek AT ste wron &, afy S et g1 gt 1T &, §=7 Y AT hgl AT &, AT R U3 hel AT g,
T ol AR hgT T §, ARt Rt e et g, fiet ot e wet man g ok i w i wer
T g, dt 39 UTHT J HTd I T 91 T 87

Ans X A g
< B. e
X C.ama

o D3

Question ID : 54062619649

Q.11 Ry 7y et & @ &= ver AfYa a6 @ gu= &1 geifen, e ey o=y 9 it avg i 21

I fArerea o1 99+ R S 31T | e 1
Ans X A.MOQS §Q
& B. GHUL 606
2 C.RTVX (03
X D. ACEG {0’(\
N
\2\(0 Question ID : 54062619641

Q.12 F=fafE sjaen # 7ea ug 714 &R
CWHK, FULL, ISPM, LQTN, 00YO
Ans X A LQTN
X B.FULL
& C.00YO0
< D.ISPM

Question ID : 54062619638

Q.13 Tia B A, B, C, D 3R E T udtern # Iufeya ggI B &t C & 31fe sik utea gu, A E @ &
3 UTed gQ1 A 3R C it D & a1fdras ofers et gq1 Feaafaf@a & @ st @t it ot srmver: Wt
3ifder 3ick UTt gl eahd & 31 TI@ FH 3ich UT &t Gehd A?

Ans X A EC
X B.C,D
X C.AC
& D.B,D

Question ID : 54062619653
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Q.14 fRu 7y faeredl & @ i v AfYa a8 @ g &1 g«iifeh, Uar Rerea srg i fr avg a1 &1
39 frehe &1 T &R St T @ 31T &1

Ans X A Hah-OFH : Ras
o B. 3vagufas= : e
2 C. uefifasm : ueft
Z< D. Saratfasm= : rara

Question ID : 54062619642

Q.15 I SIS 1 I 2 St U & & 7S SiEt F g UhR 9 Safaa 21
KQE:PLJ::?
Ans X A TFN:XAS
< B.SGN: YAT
«" C.SFM: XAR
2< D.QDP:YAS

Question ID : 54062619647

Q.16 s RfRa wtz § COMMA Y 19225 & & & if2a farar wam &, iR YELLOW &t 764493 & =4
o pifaa forar mar &, 9t WELCOME & fora uerRR apifea fora smaem:

Ans X A. 3641956 \(\
X B.3621925 6()%
o C.3641926 (03
< D. 3645926 O
{b
S
\2\(0 Question ID : 54062619648

Q.17 ue RAfga s F, DUPLEXaﬁCWOKGW#wﬁ@m%I 3I9 @s § KNOWLEDGE &} &
foraT srem?
Ans X A. JMQVKGCGF

% B. JMQVKFCGF
« C. JMQVKGCFG
2 D. JMQVKGCFC

Question ID : 54062619651

Q.18 39 ey o1 ag &R Wit IR ug @ I UahR @ Wi & 99 UhR 9 @R ug uga ue §
Hafda g1
TR ; ST :: Srre o : ?
Ans X A SRSt
o B. WA
X C. AUt

X 0. 3er

Question ID : 54062619644
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Q.19 & 7T ST} oAl fa=Awor 3 3R Ul 1 IR & St AT wepR 21

forew o1 €)1 a9 & forg FRafa@e 2rat &t o1 fvan srem onfdg:

(a) =af<h & UTH Ueh 3r=aT i fAwred Repfd g afidy, aiv R @Rl ud g afr &
YherdT Y &R A F A 70 ufazra gt Tifgel

(b) =afh =Y &8 @ & 5 g6l & forg seiT A g =l

(c) =af<k =t ufar fohewr 10,00,000 FUT @ | k1 UTRSIAS AFTET 912

(d) =af<F &l A @ HH Teh TATg deh AR IR 4 & Terd g1 anfge

afE SR & 7€ ord Y gt 7 gl 2, @ Pt 3w e ey &t s TR

(e) afe 2ref (a) a1 IeviuA fFar SiTan €, 3R @1RY & U fhewt & Iherdn i &R 50 ufaera @ sifdew
2, ifer fthen o ag T 2315 & 91y & A 11 36T @, S9h 1Y ek 3t GtheldT & &,
ERisA w1 gFa &; ar

T 21t (a) o1 Iewia frar STraT &, ifth fAafar 59 gerR fi fhewd 91 381 & 39 &R awa g,
<t fAmfar i gerg A1

(f) af ard (d) =1 Sewia= foran s1raT g, Sfoh @ikt a8 7 0 @ 69 15 AT Fm R Tohat 8,
faRaR 11 oft @) gerar &, Ot &R\ a1 === foRar s geRar &1

fRaer ves k1 €, fo 9 sfkar | 65 ufaeE fge few &, ok ufa fhew 8,00,000 Fug Aar g1 @8
foewt 7 autf @ forew Ie A & oiik Rafar 59 uaR 6 fied 791 @ & S99 90 ufaea fge Ry &1
ag 2 (d) T UTed @ & fOg QU g1 39 aafwh & ar & g Ry o s anfge?

Ans X A cafth & @Rt & w9 F g1 g1 S A1fe
o B. Aol & ey & Rafar & wrmef fosar sim gyl
X C. afh &l g1 & & H 1 S ey
< D. fAvfa & dey A gRkis g wrmmef forar s =nfgul

Question ID : 54062619655

Q.20 T 7Y 2reel ol 39 A & Hafdd & [T s d d ereeepir A g &1

1. Luxemburg
2. Luxury

3. Luxurious
4. Luxuries
5. Lucks

Ans X A.51,4,23
o B.51,4,32
2 C.51,3,4,2

Question ID : 54062619639
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Q.1 sEus#, @9 wua Ry g g, wss ame, 3t e sifea | sik Il Ry g 81 ag A= gu i
HYF & goft ST G &2 ARt a1 Ten a1y fasdwor 1 ok RuffRa o fo aar 3= @ &6
+ff arfhas =9 & ok RAfga 0 @ wy=T d § 7€ TEFHRY 1 SIgHERT et gl

HYA |: gt 3 srurR g1
YA |I: FB SRR diferd &1
wYA |I1: goft difeg s &1

frsd: | o AR da &)
e 1l. g o sruraR €1

Ans o A had || STIEROT T &
#< B. hde | STER0T T &
X C. ot off SrgERoT gl o &
Z< D. 1 3R || T STERUT ed §

Question ID : 54062619658

Q.2 i3 & 7€ us enpfa d ReEq SIgER FITST & Uk gone ol |13 1T & SR ahrer T @1 Q) 1 SR
3rrepfa & @, 2T = 6 @i o R g8 Shar e &

-
»
F
- '
> .
= -
a
?\4 P "‘—""‘
. ~
i . =
* - L3 ‘i -
” il- “ o

Ans L.

B |O O ©O

X D. s}

Question ID : 54062619674
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Q.3 sHUH F, gy far ma g, s are, &t s srwifena | ek 1l Ry g @1 ag o gu fas
HYF & Goft ST 9 &, & fAsehul &1 e a1y fRAssver R ok RuiRa &R fr sr s @

Ans

g +ff aifcher & & ok AfYa u & wua d & 7€ ST &1 SIgERUT FRAT B

HUT:
T SATETR S A & A€ haRI ! =T & 81

frepe:
1) = 7Tf & SexAie FAaRM agd 9% &l

1) ¥ 3ra= 39 Ot & it 8 & fAg oet 95a deh SaeTR 18 e argd &)

X A1 SR 1 AT STgERoT hRd &
o B. &had || STTR0T el §
X C. oS oft rgeRor gl a1 &
#< D. Fa | STIERUT el &

Question ID : 54062619657

Q.4

Ans

Frafafaa d @ o a1 e sjaen d 7era sipfa 87

(A) (B) (C)
X AA
X B.B
Xcc
& D.D

Question ID : 54062619670

Q.5 & S aepfar #, Sl AT 18R Feet Mok AR Fedld e ardt f&enfeat @ ufaffde s=arg?

Ans

ferdpe A

X AB
X B.D
& C.G
X D.F

Question ID : 54062619667
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Q.6 Tf geh gdur ol R@T MN OR @1 71T 8, @t i1 It IwR srepfa &1 7 errepfar o1 wig ador ufafda

&?

Ans

< B.

o D.

el

Question ID : 54062619675
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Q.7 A i IR Sirepfa et srepfar A Gt @) grT vfi?

o 0o slle} O
. e .0 ° e e

L I [ B ] e @ L M ] ® @
O o O o)

Ans

« B. ®e

& D. ®

Question ID : 54062619668

Q.8 U ® Yah oy far man &, forwds e &) a<h | ok 11 Ry g &1 sruent g fAufa d-r & faw
frafaf@a d @ o= a1 ak gaa &1

HU: T GEY HAR] ) Afgen siffenl @ oifer yrar= forar srar mfe?

ah:

1. g1 agt aer foh eriiRfoRan Rmrh oft 39 ama 6 gfe o= & o6 gew afgarsit f gomn d iRk
U & 31fde Aorgd gl &1

1.7 o & arasyg, 99 &Rt & fog aw rar forar s anfgul

Ans X A dhad doh | 9ead @
 B. et 7 || weet &
X C.13R Il gt ach a1 &
X D.713RTE N T Tl &

Question ID : 54062619656
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Q.9 fA=fafEa us #, 39 T o1 9g9 o [5d Ry g At & @ (?) & Rg wR ¥@r 1 9aar 21

T2 | 63 | 54

80 | 72 | &3

52 | 45 ?

Ans X A.39
& B.37
X C.35
& D.36

Question ID : 54062619662

Q.10 & 7$ srpfar A, giewer iR Aeftore a1 sk a1y & 9+t i+ ST wewnd 3= are f Fe
T [T 27

s

EICLER

L
O|R
M

Jefireey

Ans X A R+M+L
K B.L+M
& C.O+R
< D.R+Q

Question ID : 54062619665

Q.11 F=fafEa dwear siaer &t g &
7,13, 25, 49, 97,
Ans o A 193

< B.195
& C.197

< D.191

Question ID : 54062619660
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Q.12 & 7€ IR SFfa /, IH SMrepfal 1 I8 X A ust siepfa Rdi/afafza &1

Ans
o A
x| R
o
o
I-( e D
X0 ({b
>
Q
\2{0
$ : Question ID : 54062619673

o)
Q.13 uﬁA:B>CaD=E<FsG,a?ﬁﬂﬁ@aﬁﬁ\¥=lmmﬁf%awﬂm%?
Ans X A E>A

" B.B>E

K CF>C

X D.C>E

Question ID : 54062619663
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Q.14 U ¥ Ueh YA e man g, Rads a1g wars & &Y s | SR 11 g 71g &1 siueh! 39 =l ot O

Ans

AT &, Ut & O I=ad: I1d a2 9 {39 udida g1 smuent ag Rofa an & 6 g o a’dard
& i B Q A T1, gl i g, @t Re T U= 1 SrgERor e gl

HYA: G fhR AT aret Wi &t @ 9 7= fiur uza 1

HIRATS Bl shH:

1. ATaT-fdT Y orua <Al i TEeh fFAR AeR aret Wi & @™ Y srgafa =8l & wfgy,
Ifeeh B} WR I UehR <kl WIST= a1 R ShifAer =t =@l

II. ==t aht ag REran sar TifRv 6 @y wisT an @ ok 98 R a9/ T WisH R R
&Y fHATY T HROT I B

25 A hael | STIERUT AT &
< B. el || SR[EROT il §
o C. | 3R || ST SrFERvr et &
< D. 71 SR TE I STITR01 el §

Question ID : 54062619659

Q.15 39 St ol g9 3 wit U & & 7 S F IHE vahR @ 6fda @1

Ans

X +|+ X
o A
- #* | % Q
M (alle] 5
& A - O
i} oo -
* ¥ * ¥
5 B. + 4
¥ oo +
i @ e O
2~ C. + X
O x|+ A
S *| % 8
« D. O @
+ AlA O

Question ID : 54062619671
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Q.16 fA=faf@a & @ o a1 39 3@ A4, gdhe iR REares & i & daed o ga@ sresT g21far
14

"
?@@ O
QDO

Question ID : 54062619664

Q.17 fA=faf@a Fafa urar & d@ear 2 & fauda wiF o S smefi?

5 4 &
2 2 60%
1 6 >
RS
() (i .
Ans A3 \g\(o

X B.5
e &

X D.6

Question ID : 54062619672

Q.18 fF=fafEa e sjiaen d Tea e 79 &
42, 48, 60, 66, 78, 91
Ans X A 48
X B.42
X C.60
& D.91

Question ID : 54062619661
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Q.19 i i IR SiTepfa uet STl & Ge ol gR1 HHA?

xo C@

ans Q
o %O

?

Ans

o A

X B.

xcC.

O
2
X D. 50
0
Q
A’(}
\2\@\ Question ID : 54062619669

Q.20 f=faf@a & @ Sl 91 39 RE W, WY, head ‘%dﬁﬁaﬁmmzeﬁmé?

Question ID : 54062619666

Section : General Awareness1
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Q.1
Ans

3« 2019 #, fasman de ik
o AT ES
X B. BraReM deh
X C. ¥t J oifes 3fzam
X D. &R

ol deh STtk TEier & Sfeli= o= R mar ami

Question ID : 54062619681

Q.2
Ans

3RHT el udd fAreR A=faf@a 7 4 forg gdaarem w R 22
< A. RTach

" B.gdigre
X C.ufgpfrae
Z< D.Hagst

Question ID : 54062619691

Q.3
Ans

Hehel OR¢] 3TS (GDP) <hl ot shedd T FRAwfaifaa & & i1 1 gees geran siman §?
X A fFafa

< B. U
X C. g
" D. 3mard

N

Question ID : 54062619683

N

Q.4
Ans

Ry B # & R et & wafde 87 N
7< A. STaYthTSeT (b
«" B. dimrsa $
2 C. argadrst $$

2< D. SHgastst

Question ID : 54062619687

Q.5
Ans

den SiTth Ef3an o1 HregTer Pefaf@a 4 9 fFg sgr A A &2
K A e
X B. SicAahram
o C. 5%
X D. 38

Question ID : 54062619682

Q.6
Ans

ST T WA TwEaT e Y= far mar ar?
X A. 1825
o B.1793
X C.1782
X D.1814

Question ID : 54062619695
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Q.7 =H%d dte Tifia Fefof@a 4 9 fra asa S e 82
Ans X A #fOgR

< B. fafara

o C.IRTEs

2 D.iar

Question ID : 54062619677

Q.8 "UITIg F§" TIER HIUT UAA & HIHISIch Hivepleieh ST T Geh 31T 37 &, S g ad
& "gi_ | g S g1

Ans X A A
X B
X C. s
o D. 3

Question ID : 54062619679

Q.9 =i AT e = g ur?
Ans X A 1925

< B.1920

2 C.1919 .
&
o D.1930 60

&

(OQ Question ID : 54062619694

)\

Q.10 sroTe 2020 # SV & SITHR, USATUT (FEATR) U= HIAT )alaﬁ ah seT far
Tl J?\

Ans o A 350faed &&
X B. 28 ufas@ $
X C.32ufRea
< D. 30 ufasra

Question ID : 54062619684

Q.11 f=fafEa & @ o a1 wsg =7 & a1y o=t Warert ) arsm 7 ewar a2
Ans X A fafesa

X< B. fguraat ugar
o C.3q
75 D. mem TR

Question ID : 54062619693
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Q.12 f=fafEa 9 @ frd Aifde awa & = R 3o At siferawn grRT Ianfea awgai ok darsit

& el TR G & w9 | R fovar s deper 87
Ans X A g I 34
< B. e 32w s
o C. Tl TR IS
< D. Tohet TERT ITE

Question ID : 54062619680

Q.13 Frafafea & @ fRram garf &1 Aerert a=maT ar?
Ans X A. 2Tg STgf

o B. M HH

X C. iR

X D. st

Question ID : 54062619676

Q.14 F=fafEa 7 9 «i g Soft & <t & ez g?
Ans X A =g

< B. &=
v’CWq%HT%T'ﬂ 6.
X D. @R fr o 60
o
\’00

Question ID : 54062619686

Ans X A HgE
 B.3wm Q)
X . et N
25 D. Merad

Q.15 sfister iy Prafarfea & & R 76 v qam 82 \23}%’

Question ID : 54062619692

Q.16 fA=faf@a & @ i a1 g At 2020 T YR & AT &l a9 TST IATEH 87
Ans X A ITRUS

< B. U
25 C. oI meer
« D. ufgw e

Question ID : 54062619690
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Q.17 iR a=ushia srRvy fA=faf@a 3 3 fra asa A f[R@a &2
Ans X A Tar

o B. SRId

X C.MerRIE

25 D. arigr meer

Question ID : 54062619685

Q.18 dH 9 FY R At &Y u2iar A & forg v smar 21
Ans X A I

< B. e
o C. Freft
25 D. et

Question ID : 54062619678

Q.19 Hur &l A & g GryRer e J fA=faf@a @fast 3 @ fra ster sman g2
Ans X A dm

25 B. |18
o S
. . O
(\(OJ Question ID : 54062619689

Q.20 wgreT mieft hY aﬁ?ﬁmuuﬁﬁsﬁmwmwmmml

Ans X A. 1204 \2\

X B. 160 N

% C. 1008k $\$

o D. 1508

Question ID : 54062619688

Section : General Awareness2

Q.1 3149, 2020 i, wies Haarera A RAZ2ft wieent i gwd= 33 & fog Frafaf@a § @ wF aruiéa
wiea famar ur?

Ans X A. geusasfear
X B. @ s g
o C.¥2s g sfeam
75 D. ifgs 3134 & &f$an

Question ID : 54062619704
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Q.2 Rcoft & rmes w9 A, Tar 1221 STt § =it @ A Ry 7 & a¢ R s el v e ura
& oft?

Ans X A HgH< TE
X B.gd
o C. Segafas

< D. 9TeR

Question ID : 54062619697

Q.3 ¥Rd THR ZRI Y Y 7T goaeii=e geahl ik Sfichegaedl & faffafor dagda i gt
(SPECS), sRagi=erT wie, Suehvor, Aft=, theifihr i wmumn wr @< i 7 gsit
 TWATEA Ve Rat gl

Ans X A 10ufasra
«# B. 25 ufasa
X C. 15 ufas@
< D. 20 ufara

Question ID : 54062619705

Q.4 dTr &1 urf=T GHTST e TG foRaT T ur?

Ans X A.1875 'Q
< B.1879 S
« C.1867 5

2 D. 1862 @Q

(ﬁ Question ID : 54062619698

Q.5 fr=fafaq d @ fora 9dufAes 2= 3 srm =9 3 T ST & TS Rl ATaer=
foram?

Ans o A 22d $
X B. 243
X C.263
% D. 203

Question ID : 54062619709

Q.6 sifRfErIIcCaRaT20 Ay #2020 =@ ftem
Ans X A 52

X B.38

« C.85

X D.76

Question ID : 54062619715
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Ans

& ot st 2020 # st 81 & 3= ths ey SR &- g sem gelt wat grr
=g forar Tt am

X A Feuaifas
X B. A sifdag

X C.zfd wifds
" D. TRA Hifdg

Question ID : 54062619706

Q.8
Ans

Frafafea d @ sl a1 geram 321 8 e 60, 50 3R 20-3teR o1 fohdhe fagy & Sfia &2
X A gvg
o B.9Rd
X C.gsids
# D. sifeferar

Question ID : 54062619714

Q.9
Ans

URA oh1 Gfde fau=aar gRT e ailRea 3R sra=mar war ur?
7< A. 26 St 1950

o B. 26 7dsR 1949

< C.16 s 1949 .
&
2 D. 24 SFEd 1950 60

&

(50 Question ID : 54062619710

)\

Q.10

Ans

aﬁ1915ﬁwﬂwﬁaﬁmmmu?@3aﬁuﬁmmm#
Rty & = & 59 e far?

X A, SR @iy &&
« B. ey &k $

X C. &z srgHe @

< D. QTR qEstt

Question ID : 54062619701

Q.11
Ans

WA, ASAF____ oht 3T Iy Rag w=mar 81
< A5 e

< B.1 318
o C.30 A
< D. 3 3

Question ID : 54062619703




Join Telegram Group "HaryanaJobs.in"

Q.12 553 GaurRes G2mee 7 Tsuurd ot Ay ifder fRw Sad aRumesy Rafaf@a g @ e
ISyl a1 TS T T

Ans X A 3rEH
«” B. SO U1
X C. Rafemn
X D. fawire

Question ID : 54062619707

Q.13 FfafEa d @ F d@fur g A i a=n afafa & sreer 97
Ans X A gt gEsi

« B. ST A&

X C.Io= 9

#< D. TR JeeTHTE U

Question ID : 54062619708

Q.14 Pr=fafRa # 3 fra R gr1 "o ¢ fe o s 22

Ans X A. ST Agard
< B. ISR thew
< C. THIY eI S
 D. T s 60

&

‘Q Question ID : 54062619700

)\

Q.15 et R ok aeftor Rieerer dem (AraTs) e v R E A

Ans X A 1978 $ .

X B.1975 \$
2< C.1985 $

o D.1982

Question ID : 54062619699

Q.16 FmfafEa 7 @ fraa A 2020 # T gt uiw Rawhia @« fzan ffer Y Asrarit 62
Ans X A. gfamon

X B.gREs

2 C. feurae wewr

o D. 557 3R ek

Question ID : 54062619713
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Q.17 FafafEa sr=ieEt & @ fFd wrdra gfem st & wu & ot st strar ar?
Ans X A. ¥Rd BIE! STle

o B. RIThd s=alerd
25 C. Tfem sras swter
75 D. 3TaiTe; @ sraier

Question ID : 54062619696

Q.18 fAmfaf@a d & w9 FFdis REFR Sfia= arer uger aafws a1?
Ans X A TidETY Higdt

2 B. sy &
X C. 3anRieR? it

o D. S iR oy

Question ID : 54062619702

Q.19 Twiaw Quaiea™ aidiat (IAAF) guaifea R gfae Zrr 2018 # ufaaifar & agr F2m (i)
Tiigror 7 fawe g1 & fog siRdta eife ger dfie Rarr sl aef 2020 7 _ ol & forg fefaa

R o rar am
Ans X A Ui

X B.a

o C.3IR \06

X D SO

&
Q
*(b Question ID : 54062619711
&

Q.20 PR & & Rt &t 31975 8 frdve R v o gt et ot
Ans X A =gficis $$

X B.WRd $

o C. 3w ddw

K D. sireferar

Question ID : 54062619712

Section : Arithmetic Ability1

Q.1 9 0.919191... & Ueh fAr & uRRafefa forar sirar @ at uRomg = @2
Ans X A.13/17

X B.17/19
X C.21/23
o D.91/99

Question ID : 54062619717
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Q.2 Turet iR gHf hit adaT STg T SIgUTE 3 : 5 &1 I SR MuTe Y Y AT TN 319 T Aehw 3 g
# 40 aef ghr ofiR I 3itk gaf Y 3y w1 T o/ A AR 8 T | 60 TH ENIMI e | Aehe 2 af H
I, Muret 3R gaf i sy 1 i o ghm?

Ans X A 60Ty
X B.44ad
X C.54ay
o D. 657

Question ID : 54062619733

Q.3 Two numbers are 25 percent and 40 percent more than a third number. What is the first
number as a percentage of the second number?

Ans  # A 89(2/7) percent
#< B. 88(1/7) percent
25 C. 80 percent
2 D. 112 percent

Question ID : 54062619723

Q.4 #HigT 7 u-t axgeil it IS T g § 20 ufdra R RAfga Fear g ofk 39 w15 ufaa
Y Ze a1 &1 I=T 19 U A & fAY, ag 1kg & SISTRT 950 AT TSI 1 IUTNT hech 0

TTgeh! Y STTET &1 IHeT ATATFAG [ /T wfarera aam @2 \Q

Ans X A. 5.2 Uiy e (%)
< B. 9.2 ufaera &1 a1e 360
o C. 7.4 Ufard &1 e (\(b‘
X D. 17.5 Ufqsrd a1 &y 6{0
Vol -
Question ID : 54062619728

§.

Q.5 50 percent of 20 percent of a number is what *ent of 50 percent of 5 percent of the same
number?

Ans X A. 0.4 percent
75 B. 4 percent
" C. 400 percent
< D. 40 percent

Question ID : 54062619724

Q.6 =g T AT & SR 12, 18, 36 3R 48 § e 3ieT fAwfSia ot R vdas A H 5
theT SBiadT &1

Ans o A 149
< B.241
/< C.481

2< D. 181

Question ID : 54062619719
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Q.7 TIQ T T AT & St 44, 80 3R 134 ) fawrfSia awdk udes fRAMA d gu Qwwher stgar
gl

Ans X A.180

25 B.36

25 C.540

& D.18

Question ID : 54062619718

Q.8 Qe HwEAT H FHA2: 16.66 Afzrd, 14.28 ufard, 9.09 afara 3k 11.11 ufdea H gfs g€ & ok
9 aTE 39 sHAeN: 12.5 ufasrd, 8.33 ufasrd, 14.28 ufawra oiik 10 ufasra $ w+Ht gs ufara
# et (e17T) URae= 71a |

Ans  # A 0ufaea
#< B. 10 ufasrd
< C. 30 ufa=a
< D. 20 ufasa

Question ID : 54062619725

Q.9 Aman distributed 250 chocolates among four kids such that the share of the first kid, twice
the share of the second kid, thrice the share of the third kid and four times the share of the
fourth kid are all equal. Find the number of chocolates received by the first kid:\

Ans o A 120 ()
X B.60 Séo
X C. 40 ,0(\(0
% D.30 6
o
< Question ID : 54062619730

Q.10 1200 ¥UY & P, Q 3R R & o 39 =g aier P o1 f@T0T R & 3@ o1 wap-atus i @
3R Q & R &1 vop-faes R F R 21 Q R& fReatd JUY T 3R &l

Ans o A 150
2 B.600
75 C.450
#< D. 300

Question ID : 54062619731

Q.11 afy onfaw 3 Rfga gea u= 40 ufara H ge a1 8, 9t a8 16.66 ufara 1 T FHear 81 Fe
o a1 10 ufdera 4 ured @A & forg (o freft wmme) i sixpfat @t foram ufarera e

=ifeg?
Ans o A 32 ufaR@

7 B. 27 ufasa
< C. 43.25 ufasa
25 D. 24.24 ufasa

Question ID : 54062619722




Join Telegram Group "HaryanaJobs.in"

Q.12 w213 150 Uy ufa gt wR 200 afzai @€l 397 ulkas= & g 10000 Fug 1 yrar= forar
3R Ul ul St 250 FUT & =71 ATH AfA2AT R=am 82

Ans X A 24yfasd
« B. 25 ufaera
X C.30ufRea
72< D. 20 ufasra

Question ID : 54062619727

Q.13 5 shATITE faws Teearsit o1 g, 5 STl & gahTs 3ich @ 48 31fdeh g1 ugelt ok gudt dwn
T 3 T 82

Ans X A 12
X B.15
& C.10
X D.20

Question ID : 54062619720

Q.14 Find the value of: 100 +25x8+2.5x16+4-20of 5

Ans o A 32
X B.36 \{\
X C.40 &,
o
X D.30 5
&
A{O [ Question ID : 54062619716

Q.15 % 80 sfvera crsert ofie 85 wfdverar ersfarat ¥ e 1 Arerdtam sfiof Y, it ez 1 4
HeTfeTera & et 216 S fawa ggl afk 30 afara 3R 20 ufaera wefrai Sawez 2 6t
wéten & et g, ot Sitees 2 1 wde 3 g1 313 BT e gt Q) wETRETer & e o
foraar ufaera sreferat &2 (ser) $

Ans X A. 45yfasE
< B. 63 ufaz@
75 C. 30 ufaza
« D. 37 ufasa

Question ID : 54062619726

Q.16 ufa axf 8 ufazra = 2 a¥f & fAg Tehgfy sarst ok ATuRUT saTet & i o1 3iaR 160 FUg &1
AU A4 A3

Ans X A 30000 &qY
2< B. 20000 &qy
2 C. 35000 ¥qg
«” D. 25000 F0Q

Question ID : 54062619735
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Q.17 Qe o1 i o= aefiad fore=m argar a1 3iik o1+ ahie ol gemam| S99 U el 234 &1@
Fug i Tufa of 58 Ik AT A<t arom, wg ofR dg ot & o= ofY | o Tmger ot ok IRt g
35T, W SR Gg dh T 1/2: 1/3 : 1/4 3 iguTa | &€ AQ| gehie 3, et § srgura 2: 3 : 4
fora ) foreft off g1 & forg s1fderas afRomsdt em-wfey = &2

Ans X A. 45dRg ¥UQ
25 B. 40 &g Uy
75 C. 56 &I 3uq
«* D. 50 g TUY

Question ID : 54062619732

Q.18 Uk fashar WA & RIfga gea u= 20 ufdera H ge & @1 11 A5 7 v thide w1 o1 Iughr forar
3R 300 Fug FY 31 Fe v il af faghar & 5000 Fug & Wi @er ok fasht ur 10 wfazE
o1 T SifSta fova, &t @rTe gea A gee A Rifga g e oifde ur?

Ans X A. 40 ufasa
#< B. 20 ufasrd
«# C. 45 gfasrd
X D. 55 ufasea

Question ID : 54062619729

Q.19 =Thqfg saTsT & aga Qeb Af 1 FRder forar war i, 5 sarer anftfes =u & =srgfy fran strar
g1 af gg 2R af & suret & T A 2880 FUQ U AT g 3R AR af A surst HiFu A 3456
JUY AT kT &, ol ATt <hY arftfeh 2 T Bl

Ans X A. 15ufasa
#< B. 25 ufasrd
«# C. 20 ufasrd
< D. 30 ufasa

Question ID : 54062619734

Q.20 Uk Tl & gohH ATk A Yeh Uleh =it @ RIfga 9o & (2/3)rd wR 50 afyal o @den ag
af$al @t =grraw 30 ufaRra A1 WR S i G 991 38T 81 grad |1 SifSfa ot & g ag
TTEh i ifehas Fe fhait & Terar 82

Ans X A. 20 ufasa
«” B. 13.33 ufara
#< C.33.33 ufaza
< D. 50 ufasa

Question ID : 54062619721

Section : Arithmetic Ability2
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Q.1 F=fafad urd aré Rder, 2019 & fafvra s smenf¥a A=l & g2ferl &t dz=ar ol serfar &1
Al & g2fenl Y e A &S arfdreara= 7 €1 € 1 eref & ERM, foha™ A=t & g2fearl ht
AT, e axfenl ol e & 25 ufaera & oifdes 87

Rfarm 1 amefecr St a8 qn
T

Ans o AT
X B.4
X c.2 \(\
X D3 ‘Q%
O
(\fb‘ Question ID : 54062619750
Q.2 A, 7 =i A gz faomear & sk B, 8 &1 # g« s 81 T T 3 &, dt IThT
Ze1d1 & gt STl g ok e 3¢ e wfgg an daufaRa1/2cm s 9s&
ﬁaﬁémﬁm4ﬁﬁﬁﬁ@ﬁaﬁh&aﬁﬁmﬁn@aﬁrm(kmﬁ)mm
Ans o A 28km
2 B.21km $
& C.35km
& D.42km

Question ID : 54062619743
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Q.3 f=fafaa arferesr og srert-sreT aut & geh dhu=t & g faum & srdfanRal 6 dear Hir
SR 34T g1 hiuRe fvnT & sweanRat Y gt T, € i srafd & o fymr & wfnfal

& Fper TeAT a1 fhaar ufaere §?
o fayrT (Sl 91 wem)
IS R FIUNT @ R&D
2014 150 25 50 45 75
2015 225 40 45 62 70
2016 450 65 30 90 73
2017 470 73 32 105 70
2018 500 80 35 132 FL.!
2019 505 75 40 130 15
Ans X A.65.6 ufasa
< B. 66.5 ufasa
" C.64.8 ufasd
X D. 68.4 ufasa

Question ID : 54062619749

Q.4 TS Uk gy & A g " & SR gt AR X 3R Y # gefenrail Y T il garfar g1 @t
TEdl & g onTa & A & geenTail o SieR, 2ER Y & 6 AEI & et geleArail ot foha

ufaera &2

57

——XEIX =+REIY

i}

HqaE om0 fEEm egwy o WEEw e

Ans X A. 13 ufase
< B. 15 ufasrd
7 C.15.5 ufa=a
«” D. 14.5 ufasra

Question ID : 54062619754
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Q.5 = Rar mar AR urw AN T seaeiFe IuhRol Y T @ garfar & sit Iarfa g o &
3R ek wdteror 7 uiRa g &1 Frafaf@a sdeagifes Susson d @ fara Suemeor &1 Iare ek
TR §Q Suheur & st rfdepan sfar 8?

= JargA = iy
B 3000 -
g 2500 4
E:m-
% 10 ]
glm.
£ Il
E R T e T S e
LI E L e
Ans X A. gars A=
o B. fifasm
25 C. arargged
X D. &eie

Question ID : 54062619753

® "
Q.6 fgrer A ufead 10 ufazra & GremRor saTst R 10 T & fAQ 1000 Fug FHaer frg).ude srgast
a9 &, gAH =1e1 @R 3R uRuaaar iR fsd aif H ge=r J 100 Fug & (90 800 IUT,. .

) Sit=ar &1 a8 10 aut & sid & fra=m s wm? SO
Ans X A. 8850 %UT (\fb
 B. 7850 3UY A(b
X C. 8350 &0y \
& D. 9350 3UY $ .
$ Question ID : 54062619736

Q.7 wifga 5 yalg &t Rl @ siamen & forg grsfa s @war & sik A 6 gafg ot siamen @ fRiesht
¥ forg grsfiiT 3R awan 31 AfRa wifRa @ 50 ufdwa a1 21 af #ifka ik AfRa v @ @ 300
km %R & 3R #fga Y 7y 60 kmph g 7t & o fAT1?

Ans X A 7:454afg
X< B.7:48 qafg
« C.7:36 q@ig
X D.7:30q@g

Question ID : 54062619738
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Q.8 =3 feam T IR UTH 2011-2014 o i+ 1S & gy Fi fash @) g2far g1 ra sz |, fAshr A
Frafa = o ofi?

53T SERE ©HGR Sudl

4 9 fre

SERRREEE

2011 012 aﬁ 2013 2014

Ans o A ST
< B. 31 3R TRA a1
X C.wy
X D. AR

Question ID : 54062619752

O\
SN
.

Q.9 U TR fAA it o 12 om & 3R 39 smeR Y fArear 5 cm 21 28 . cm A
@ T1gR @ & &) T i ARt 71 R 3R FHaTEr AR & SR 6t 3 g1 (n=22/7
T TART &Y ) >

Ans X A.5750%0g (OQ
 B. 5740 3uQ 6
 C. 5730 ¥y o

o D. 5720 3UY $
&

Q

Question ID : 54062619746

Q.10 Qe qHag st &1 almra 84 cm &1 Rt a1 gree Fam 87
Ans X A 410.6sq.cm

" B.339.5sq.cm
2 C.140sqg.cm
< D. 144 sg. cm

Question ID : 54062619745

Q.11 7 3mreHt 36 At A & & ges fagrd R ol @v1 e & g ufay R 8 & v o €1 ol 9w
o1 Y 6 € ufal T T ek 24 nefAal R fha Srar 8, 9t AW o fora= Rt F gxr ghm?

Ans X A 25fA
X B.30f=
X c.20f=
o D. 281

Question ID : 54062619742
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Q.12 &} aafwnal 3 6 adf Y erafd & fag 8 ufdera TrenRor soTeT Wk uds 25000 FuT RAder fFgi 6 adf
& 3id #, geh aafwh 3 urea AfA 6t 10 ufdea aiffes aergfy A &= @ 2 adf 6 safd & g P

Ans

o, stafes gEr safwh 3 ure wfA ot ufdead 12 ufazea @R sast 0 2 af 6 eafa & g
e fram <Y aafonal gR1 SifSta TehgfE sarst siik ATURUT <arst & &= &1 siar 719 H?

o A 1110 30g
X B. 2645 3uy
2 C. 1560 3uy
2< D. 1280 3ug

Question ID :

54062619737

Q.13 ek g & &the & ferg TeaTg Brst & &iIthel &l SIgaTd 19 e, fSeaeh | a#m = 81 (=

Ans

22/7 T UG )
X A.20:21v3

o B.22:21v3
X C.25:21v3
X D.16:21V3

Question ID :

54062619747

Q.14 7 Yt grer R 2 A A @ 40 km 8, TR R AT A A 43k B,

Ans

aa 1 € g 46 km & 3R 10 wel & g sh SR g @1
& 10 gl d Yot gRT a9 Y 7 et gf = ghfi?

& A 535km
* B.458 km
25 C. 550 km
25 D. 520 km

%\$

3
>
o

>

Question ID :

54062619739

Q.15 A 3R B3 fig X & fig Y @@ 200 m Fl 30 M1 A 3 B &t 20 m & g=ram S+ e & nfaayf

Ans

&= ot FRofa forar uig 59 ar SgiA aa frar fF A, X @ 5 m i i@ ok B, X & 15 m amt
2m 3 fAfa 4 g & shiam?

2 A.B, 1 m 3 sfiam

< B. T8 Tk SRI& T g
& C. A 0.5masfam
< D.A 1 m3sfam

Question ID :

54062619740
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Q.16 fRr=faf@a aifere v uden d og sre-sre fawal & v Iefieart gR1 U siekl ot gafar 21
g | €1 71 T U vy | aifdehan sick Tardt g1 WfleaR C ZRT T el 3ich T 82

faug (guf o) A B c D E
TfOTd (150) 123 101 135 147 a5
3RSl (150) 140 133 126 95 125

ifa®T (120 9% 82 114 9%6 87
Eﬁ?ﬂ! {120) 110 105 98 114 108
YT (100) 77 92 64 100 61
i (s0) 46 36 a0 24 a2

Ans X A 575
% B.585
« C.577
75 D.587

Question ID : 54062619748

Q.17 fA=afaf@a @z s gwarg & ursH @39 wR =il 6 T &t g2ufar g1 Rafafea d @ fra
R o= z=fent Y T e ofi?

—=—5p +?}ﬂ’ __._-‘:ﬁ:.ﬁ

UTSH TTSH IR guie! 3t Temn

R ¥R WWeR  §W@R TFAR g@dR OEn
g ¥ &=

Ans X A GHaR

" B. gUaR
X C.feErR

< D. g[ehaR

Question ID : 54062619755

Q.18 af fiw =afws arg Rl & & @1 4/5 ai fgwar qr1 o= Tana €, At 71a o< ok 2w &rd &t 3 R
o gr1 et & forg foha ok cafonal Y srasgeran ghft

Ans X A 24
& B.20
x C.25
2 D.30

Question ID : 54062619741
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Q.19 10 Y& &1 Geh T3fg 15 R & Goh h1H R Hehell &1 THE I T Y hat g SR ge ot Rt
& 1% &) 3R g9 I7eh T1Y =4 &1 FFe e oo oR1 g simgem?

Ans X A 139
< B.10d
o C.12d
X D.11d

Question ID : 54062619744

Q.20 3 far AT 3MRW Tk IANT & 2880 FIRT FUY & dwie #, ufaerd & Afa sfoi daga @l &
! t g2rfar g1 il sug A, fohasit afy gt 8, aft Rfay sndes @ sugin =8 fovar st @
3R & & Foie &1 10 ufard 1fdes @@=t favar sirar &2

oY & g

Ans X A 432 6
o B.187.2 \2\(0

X C.432
X D.230.4 $\$

Question ID : 54062619751

Section : General English1

Q.1 Select the word segment that substitutes (replaces) the bracketed word segment correctly
and completes the sentence meaningfully. Select the option 'no correction required' if the
sentence is correct as given.

Security is (freed from, or resiliencing against, potential harm) or other unwanted coercive
change caused by others.

Ans  # A freedom from, or resilience against, potential harm
75 B. freedom from, or resiliencing against, potent harm
75 C. No Correction Required

5 D. freeing from, or resilience against, potential harm

Question ID : 54062619761
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Q.2 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.

Large scale clearing of primary forest and (1)/ expansion of the agriculture acreage is (2)/
most to blame for this. (3)/ No Error (4)

Ans  # A expansion of the agriculture acreage is
75 B. Large scale clearing of primary forest and
25 C. most to blame for this.

25 D. No Error

Question ID : 54062619758

Q.3 Select the word segment that substitutes (replaces) the bracketed word segment correctly
and completes the sentence meaningfully. Select the option 'no correction required' if the
sentence is correct as given.

The better-known combat units in (where abroad nationals served in another country's army
force) are the Gurkha regiments of the British Army and the Indian Army, and the French
Foreign Legion.

Ans  # A which foreign nationals serve in another country's armed forces
#< B. No Correction Required
25 C. which foreign nationales serving in another country's armed forces

5 D. where abroad nationales serve in any other country's army forces

Question ID : 54062619762

Q.4 Select the word that is closest in meaning (SYNONYM) to the word given below.

Waft
Ans X A.Scratch

25 B.Hold
X C.Cry
o D. Drift

Question ID : 54062619774

Q.5 Some parts of a few sentences have been jumbled up, and labelled P, Q, R and S. Select the
option that gives the correct sequence in which these parts can be rearranged to form a
meaningful and grammatically correct sentences.

Hybridization between

P: parent. However, hybrids are not, as might be expected, always intermediate between
their

Q: parental lineage or variety. This is most common

R: parents but are sometimes stronger or perform better than either

S: reproductively isolated species often results in hybrid offspring with lower fitness than
either

with plant hybrids.
Ans X A RQPS

< B.PQRS
< C.QRPS
& D.SPRQ

Question ID : 54062619769
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Q.6 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.

Alongside the monsoon season between June and (1)/ September, the unbroken Western
Ghats chain (2)/ acts as a barrier to the moisture-laden clouds. (3)/ No Error (4)

Ans X A.No Error
25 B. acts as a barrier to the moisture-laden clouds.
5 C. September, the unbroken Western Ghats chain

+" D. Alongside the monsoon season between June and

Question ID : 54062619757

Q.7 Fill in the blank with the appropriate word.

The Kaufmanns planned to large groups of people, so the house needed to be
larger than the original plot allowed.

Ans & A entertain
< B.dissuade
75 C. surfeit
75 D. portent

Question ID : 54062619768

Q.8 Some parts of a few sentences have been jumbled up, and labelled P, Q, R and-S: Select the
option that gives the correct sequence in which these parts can be rearranged to form a
meaningful and grammatically correct sentences.

The company name

P: four car companies that banded together to create Audi's predecessor

Q: is based on the Latin translation of the surname of the founder, August Horch. "Horch",
R: four rings of the Audi logo each represent one of

S: meaning "listen" in German, becomes "audi” in Latin, The

company, Auto Union.
Ans X A.PQSR
&" B. QSRP
2 C.RQSP
#< D.SQPR

Question ID : 54062619770
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Q.9 Some parts of a passage have been jumbled up, and labelled P, Q, R and S. Select the option
that gives the correct sequence in which these parts can be rearranged to form a
meaningful passage.

By 55,000 years ago, the first modern humans, or Homo sapiens, had arrived on the Indian
subcontinent from Africa, where they had earlier evolved.

P: These sites gradually developed into the Indus Valley Civilisation, the first urban culture
in South Asia, which flourished during 2500-1900 BCE in what is now Pakistan and western
India.

Q: After 6500 BCE, evidence for domestication of food crops and animals, construction of
permanent structures, and storage of agricultural surplus appeared in Mehrgarh and other
sites in what is now Balochistan.

R: During the period 2000—-500 BCE, many regions of the subcontinent transitioned from the
Chalcolithic cultures to the Iron Age ones.

S: The earliest known modern human remains in South Asia date to about 30,000 years ago.

The Iron Age is the final epoch of the three-age division of the prehistory and protohistory
of humanity.

Ans X A RPQS
« B. SQPR
25 C.PQRS
< D.QRSP

Question ID : 54062619772

Q.10 Select the word segment that substitutes (replaces) the bracketed word segment correctly
and completes the sentence meaningfully. Select the option 'no correction required' if the
sentence is correct as given.

In Nine men's Morris board game players try to form 'mills'—(three of there’'own men lining
straightly or erectly)—allowing a player to remove an opponent's manfrom the game.

Ans X A.No Correction Required
#< B. three of there own men lined horizontally or straightly,
4 C. three of their own men lined horizontally or verti8ally

25 D. three of their own men lining straightly or er&ctly

Question ID : 54062619764

Q.11 Fill in the blank with the appropriate word.

After the loss at the Third Battle of Panipat, the Maratha Empire into several
confederate states, and the resulting political instability and armed conflict severely
affected economic life in several parts of the country.

Ans X A impenetrated
" B. disintegrated
25 C.violated
< D. torpedoed

Question ID : 54062619767
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Q.12 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.

In some regions, most notably in Awadh, the (1)/ rebellion take upon the attributes of a
patriotic (2)/ revolt against European oppression. (3)/ No Error (4)

Ans X A.In some regions, most notably in Awadh, the
#< B. No Error
#< C. revolt against European oppression.

« D. rebellion take upon the attributes of a patriotic

Question ID : 54062619756

Q.13 Select the word that is opposite in meaning (ANTONYM) to the word given below.

Disband
Ans X A. Loquacious
< B. Demobalize
< C. Gelatinous
# D. Assemble

Question ID : 54062619773

Q.14 Select the word that is the opposite meaning (ANTONYM) to the word given be]\Q

Sanguine \06
Ans X A. Spirited (030
#< B. Undoubtful
,0(\

#< C. Taurine (06
«" D. Depressed \2\

$ Question ID : 54062619775

N

Q.15 Select the word segment that substitutes (replaces) the bracketed word segment correctly
and completes the sentence meaningfully. Select the option 'no correction required' if the
sentence is correct as given.

In a general (business sense, logistics is the managing flow) of things between the point of
origin and the point of consumption to meet requirements of customers or corporations.

Ans X A business sense, logistics is managing of flowing
< B. business sense, logistics are managing the flow
" C. business sense, logistics is the management of the flow

#< D. No Correction Required

Question ID : 54062619763
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Q.16 Fill in the blank with the appropriate word.

Ans

Caffeine can a mild form of drug dependence - associated with withdrawal

symptoms such as sleepiness, headache, and irritability — when an individual stops using

caffeine after repeated daily intake.
25 A.reckon

< B. delay
4" C. produce
25 D. destroy

Question ID : 54062619765

Q.17 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No

Ans

error’.

The harmful results of fragmentation are worsened by increased (1)/ acidity, over-
fertilization and drought, as these cause a further (2)/ deteriorate in the quality of the

habitat remain. (3) No Error (4)

< A. acidity, over-fertilization and drought, as these cause a further

«# B. deteriorate in the quality of the habitat remain.

25 C. No Error

25 D. The harmful results of fragmentation are worsened by increased

Question ID : 54062619759

v

\J
Q.18 Find the part of the given sentence that has an error in it. If there is noS@r, choose ‘No

Ans

error’.

&

In 1914 Enfield supplied enlarged numbers of (1)/ motorcycle; e British War

Department and also won a (2)/ motorcycle contract for the

(3)/ No Error (4)
25 A.No Error

\2{0

< B. motorcycle contract for the Imperial Russ@vernment.

#5 C. motorcycles to the British War Departm$t and also won a

«" D.In 1914 Enfield supplied enlarged numbers of

rial Russian Government.

Question ID : 54062619760

Q.19 Fill in the blank with the appropriate word.

Ans

The aviation travel industry is affected by the
25 A.enactment

#< B. aristocracy
25 C. urbanity
« D. severity

of fog conditions.

Question ID : 54062619766
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Q.20 Some parts of a passage have been jumbled up, and labelled P, Q, R and S. Select the option
that gives the correct sequence in which these parts can be rearranged to form a
meaningful passage.

Butterflies are insects in the macrolepidopteran clade Rhopalocera from the order
Lepidoptera, which also includes moths.

P: Winged adults lay eggs on the food plant on which their larvae, known as caterpillars, will
feed. This is called metamorphosis.

Q: We are talking about butterflies, they have the typical four-stage insect life cycle.

R: When metamorphosis is complete, the pupal skin splits, the adult insect climbs out, and
after its wings have expanded and dried, it flies off.

S: The caterpillars grow, sometimes very rapidly, and when fully developed, pupate in a
chrysalis.

Some butterflies, especially in the tropics, have several generations in a year, while others
have a single generation, and a few in cold locations may take several years to pass through
their entire life cycle.

Ans X A.RQPS
#2< B.SPQR
5 C.PRSQ
& D. QPSR

Question ID : 54062619771

Section : General English2

Q.1 Four words are given, out of which only one word is spelt correctly. Choose the correctly
spelt word.

Ans X' A.CONCENTIOUS
#< B. CONSCIENTOUS
#< C. CONSIENTIOUS
«” D. CONSCIENTIOUS

Question ID : 54062619781

Q.2 Select the most appropriate meaning of the given idiom.

Scrape the barrel.
Ans X A. Putting too much effort to do something.

#< B. Putting effort on something/someone which won't reap any fruit.
" C. Using something you do not want to but you've no option.

< D. A stupid act.

Question ID : 54062619785

Q.3 Four words are given, out of which only one word is spelt correctly. Choose the correctly
spelt word.

Ans X A. TOMMOROW
#< B. TOMMORROW
" C. TOMORROW
< D. TOMOROW

Question ID : 54062619778
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Q.4 Four words are given, out of which only one word is spelt correctly. Choose the correctly
spelt word.

Ans X A BELWETHER
« B. BELLWETHER
#< C.BELWHETHER
2 D. BELLWHETHER

Question ID : 54062619779

Q.5 Select the most appropriate meaning of the given idiom.

Under a cloud.
Ans X A. Being very religious.

«# B. Being under suspicion or in trouble.
Z5 C.Being at a place which is at a very high altitude.
25 D. Being very down to earth.

Question ID : 54062619786

Q.6 Four words are given, out of which only one word is spelt correctly. Choose the correctly
spelt word.

Ans X A.MENUSCULE .
<
«# B. MINUSCULE
#5 C. MINESCULE 3

&
#< D. MINSCULE (bo

(ﬁ Question ID : 54062619780

Q.7 Select the most appropriate ‘one word' for the expr n given below.

Someone who can detect truth when it is beinq&\ld, with the ability itself being referred to
as truthsense.

Ans X A. Trueness
< B. Trueman
25 C. Trueborn
«" D. Truthsayer

Question ID : 54062619788

Q.8 Select the most appropriate ‘one word' for the expression given below.

Relics or monuments (such as coins, statues, or buildings) of ancient times.
Ans X A. Classics

75 B. Vintage
X C.Gems
+" D. Antiquities

Question ID : 54062619787
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Q.9 Select the word that is closest in meaning (SYNONYM) to the word given below.
Enfranchise
Ans X A. Substitute
75 B. Incarcerate
< C. Restrain
«# D. Emancipate

Question ID : 54062619776

Q.10 Select the most appropriate meaning of the given idiom.

Blow your own trumpet.
Ans  # A Tell people how good or successful you are.

#< B. Being angry with yourself for not being able to achieve something.
< C. Being happy/satisfied/content with yourself.
25 D. Making one's own fool.

Question ID : 54062619784

Q.11 Select the most appropriate ‘one word' for the expression given below.

To increase the scope, power, or importance of something/ someone. 'Q
Ans & A Aggrandize \Q% :
2% B. Invocation SO

< C. Captivate (0.0
#< D. Enchante 6

\2\ Question ID : 54062619790

N\
Q.12 Four words are given, out of which only one w@is spelt correctly. Choose the correctly
spelt word.

Ans X' A.ONOMOTOPOEIA
#< B. ONOMATOPEIA
75 C. ONOMATOOPEIA
" D. ONOMATOPOEIA

Question ID : 54062619782

Q.13 Select the most appropriate ‘one word' for the expression given below.
The act of formally requiring or calling upon someone to perform an action.
Ans X A. Conundrum
«" B. Requisition
75 C. Persuation
75 D. Dramatics

Question ID : 54062619789
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Q.14 Select the word that is closest in meaning (SYNONYM) to the word given below.

Diffident
Ans X A.Boastful

< B. Confident
< C.Ignorant
" D. Bashful

Question ID : 54062619777

Q.15 Select the most appropriate meaning of the given idiom.

Barking up the wrong tree.
Ans X A. To support someone with bad intentions.

+" B. To ask the wrong person or follow the wrong course.
75 C. To get angry with a person who hasn't done any wrong.

< D. To speak loudly wanting everyone's attention.

Question ID : 54062619783

Comprehension:
Read the following information carefully and answer the given questions.

An endgame table base is a computerized database that contains pre-calculated exhaustive
analysis of chess postions for the last few pieces of the game. It is typically, used by a
computer chess engine during play, or by a human or computer that is retrospectively
analysing the end of a game that has already been played. Tablebases/are generated by
retrograde analysis, working backwards from a checkmated position. By 2005, all chess
positions for last six pieces had been solved. By August 2012, tablebases had solved chess
for every position with up to seven pieces

The solutions have profoundly advanced the chess community's understanding of endgame
theory. Some positions which humans had analysed as draws were proven to be winnable.
Endgame analysis has also been used to create solutions for Tic Tac Toe, crosses and
checkers . Chess from the starting position has not-been solved because of its complexity.
There has been some controversy whether to allow endgame studies composed with
tablebase assistance into composing tournaments. In 2003, the endgame composer and
expert John Roycroft summarised the debate: Not only do opinions diverge widely, but they
are frequently adhered to strongly, even vehemently: at one extreme is the view that since we
can never be certain that a computer has been used it is pointless to attempt a distinction, so
we should simply evaluate a 'study’ on its content, without reference to its origins; at the other
extreme is the view that using a 'mouse' to lift an interesting position from a ready-made
computer-generated list is in no sense composing, so we should outlaw every such position

SubQuestion No : 16
Q.16 Choose the correct option.
Ans X A. The solutions have had barely any effect on the chess community's understanding.

2% B. The databases could not find all the solutions for ending a game.
4" C. Some positions which humans had analysed as draws were proven to be winnable.

5 D. Human mind has come out with newer solutions to end the game.

Question ID : 54062619793
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Comprehension:
Read the following information carefully and answer the given questions.

An endgame table base is a computerized database that contains pre-calculated exhaustive
analysis of chess postions for the last few pieces of the game. It is typically used by a
computer chess engine during play, or by a human or computer that is retrospectively
analysing the end of a game that has already been played. Tablebases are generated by
retrograde analysis, working backwards from a checkmated position. By 2005, all chess
positions for last six pieces had been solved. By August 2012, tablebases had solved chess
for every position with up to seven pieces

The solutions have profoundly advanced the chess community's understanding of endgame
theory. Some positions which humans had analysed as draws were proven to be winnable.
Endgame analysis has also been used to create solutions for Tic Tac Toe, crosses and
checkers . Chess from the starting position has not been solved because of its complexity.
There has been some controversy whether to allow endgame studies composed with
tablebase assistance into composing tournaments. In 2003, the endgame composer and
expert John Roycroft summarised the debate: Not only do opinions diverge widely, but they
are frequently adhered to strongly, even vehemently: at one extreme is the view that since we
can never be certain that a computer has been used it is pointless to attempt a distinction, so
we should simply evaluate a 'study’ on its content, without reference to its origins; at the other
extreme is the view that using a 'mouse' to lift an interesting position from a ready-made
computer-generated list is in no sense composing, so we should outlaw every such position

SubQuestion No : 17
Q.17 Why has endgame theory not been used for composing tournaments?
Ans X A. Because the procedures used for developing endgame database was incorrect.
4" B. Because it involves using a 'mouse’ to lift an interesting position from a ready-made
computer-generated list.

/5 C. Because it was proved that humans could come out with more methods to-end the
game.

2% D. Because there is always a competition between man and machine:

Question ID : 54062619796

Comprehension:
Read the following information carefully and answer the'd@iven questions.

An endgame table base is a computerized database that contains pre-calculated exhaustive
analysis of chess postions for the last few pieces of the game. It is typically used by a
computer chess engine during play, or by a human or computer that is retrospectively
analysing the end of a game that has already been played. Tablebases are generated by
retrograde analysis, working backwards from a checkmated position. By 2005, all chess
positions for last six pieces had been solved. By August 2012, tablebases had solved chess
for every position with up to seven pieces

The solutions have profoundly advanced the chess community's understanding of endgame
theory. Some positions which humans had analysed as draws were proven to be winnable.
Endgame analysis has also been used to create solutions for Tic Tac Toe, crosses and
checkers . Chess from the starting position has not been solved because of its complexity.
There has been some controversy whether to allow endgame studies composed with
tablebase assistance into composing tournaments. In 2003, the endgame composer and
expert John Roycroft summarised the debate: Not only do opinions diverge widely, but they
are frequently adhered to strongly, even vehemently: at one extreme is the view that since we
can never be certain that a computer has been used it is pointless to attempt a distinction, so
we should simply evaluate a 'study’ on its content, without reference to its origins; at the other
extreme is the view that using a ‘'mouse’ to lift an interesting position from a ready-made
computer-generated list is in no sense composing, so we should outlaw every such position

SubQuestion No : 18
Q.18 The endgame tablebase is used for:
Ans  # A.All of the given above

75 B. Tic Tac Toe
75 C. Checkers
25 D.Chess

Question ID : 54062619792
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Q.19
Ans

Comprehension:
Read the following information carefully and answer the given questions.

An endgame table base is a computerized database that contains pre-calculated exhaustive
analysis of chess postions for the last few pieces of the game. It is typically used by a
computer chess engine during play, or by a human or computer that is retrospectively
analysing the end of a game that has already been played. Tablebases are generated by
retrograde analysis, working backwards from a checkmated position. By 2005, all chess
positions for last six pieces had been solved. By August 2012, tablebases had solved chess
for every position with up to seven pieces

The solutions have profoundly advanced the chess community's understanding of endgame
theory. Some positions which humans had analysed as draws were proven to be winnable.
Endgame analysis has also been used to create solutions for Tic Tac Toe, crosses and
checkers . Chess from the starting position has not been solved because of its complexity.
There has been some controversy whether to allow endgame studies composed with
tablebase assistance into composing tournaments. In 2003, the endgame composer and
expert John Roycroft summarised the debate: Not only do opinions diverge widely, but they
are frequently adhered to strongly, even vehemently: at one extreme is the view that since we
can never be certain that a computer has been used it is pointless to attempt a distinction, so
we should simply evaluate a 'study’ on its content, without reference to its origins; at the other
extreme is the view that using a 'mouse’ to lift an interesting position from a ready-made
computer-generated list is in no sense composing, so we should outlaw every such position

SubQuestion No : 19
What is done in retrograde analysis?
" A. Tablebases are generated by working backwards from a checkmated position.
75 B. Tablebases are generated by calculating each move from last few pieces to a
checkmated position.
75 C. Tablebases are generated with the help of a code breakers.

< D. Tablebases are generated by finding permutations and combinations f6reach step
during the game.

Question ID

: 54062619794
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Comprehension:
Read the following information carefully and answer the given questions.

An endgame table base is a computerized database that contains pre-calculated exhaustive
analysis of chess postions for the last few pieces of the game. It is typically used by a
computer chess engine during play, or by a human or computer that is retrospectively
analysing the end of a game that has already been played. Tablebases are generated by
retrograde analysis, working backwards from a checkmated position. By 2005, all chess
positions for last six pieces had been solved. By August 2012, tablebases had solved chess
for every position with up to seven pieces

The solutions have profoundly advanced the chess community's understanding of endgame
theory. Some positions which humans had analysed as draws were proven to be winnable.
Endgame analysis has also been used to create solutions for Tic Tac Toe, crosses and
checkers . Chess from the starting position has not been solved because of its complexity.
There has been some controversy whether to allow endgame studies composed with
tablebase assistance into composing tournaments. In 2003, the endgame composer and
expert John Roycroft summarised the debate: Not only do opinions diverge widely, but they
are frequently adhered to strongly, even vehemently: at one extreme is the view that since we
can never be certain that a computer has been used it is pointless to attempt a distinction, so
we should simply evaluate a 'study’ on its content, without reference to its origins; at the other
extreme is the view that using a 'mouse' to lift an interesting position from a ready-made
computer-generated list is in no sense composing, so we should outlaw every such position

SubQuestion No : 20

Q.20 What does the endgame database contains?

Ans X A.Only moves in each possible position that would take to finish the game with limited
deaths of own team.

75 B. Each possible move in each possible position, and how many moves it would take to
achieve finish the game calculated from the beginning for the entire game.

< C. Only moves in each possible position that would take to finish the game’i\the
shortest time possible.

4" D. Each possible move in each possible position, and how many mog@g*it would take to
finish the game calculated for last few pieces of the game.

[ Question ID : 54062619795

Section : General Hindi1

Q.1 fFA=fafae us d, ar et 9 |, 39 T8 Rerea o1 999 & 51t fed == & forg Sugs 2res @1
gl fasmea 21

R e & g ETar a1 81
Ans X A Hd
/< B.&
5 Cc.am

o D.7sa
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Q.2 f=fafae us d, ar el d |, 39 frereu o1 999 &R 51t Fise d Ry 1Y 2 & sgar
T & A h1 Tt fahea ghl

feiR AR T T, (@) wite SmaT 1
Ans o A R aras
X B. T dTdeh
< C. usaras
< D. Fearas

Question ID : 54062619800

Q.3 fA=fafae vs d, ar feeat J |, 39 Rseu &1 aa9 R Sit Five J R 1Y 2reg & FgaR qeaaw
UEY dTaeh G- T Had 33T faehed 81

Ans o A (%) TRl &t oft qRI-o7eT 78T ahgT anfey ol
2 B. (ug) & fozht off g1er & o gl =nfgwl
X C. (89) o<t g1 Rt & forg zam g
2< D. (73t foreht &t off s Y Sieea 8T &1

Question ID : 54062619816

Q.4 F=fafad us d, arR el d @, 39 fAereq o1 9= &I St Ry 1Y 21eg &1 dcqw &9 gl
goohl 6.
Ans X A gk 60
X C.sw *@Q
o g

$ ’ Question ID : 54062619804
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Question ID : 54062619803
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Question ID : 54062619801

Q.12 fFAfaf@a uy d oR fRereul # @, 39 fereu &1 o= R St 22T 2 1 Tl faehea gl
Ans X A W

o B. gerhT
X C.aR
X D.559

Question ID : 54062619802

Q.13 afafaa us 7, aR faereal § |, 39 gl faeea o aa &R 5t Ry 71 2ree & Tgt oref a1 3|
farerea gt

) %.
Ans X A f&Rr 60
X B.Ay @3
X cd=
v 0. O

$ : Question ID : 54062619808
§

Q.14 ﬁwﬁf@au&rﬁ,aﬂﬁmﬁﬂ,mﬁmm\a\uqaﬁwﬂﬁahamaﬂmﬂmﬁm%l
gefaredf
Ans o A TREdT
X B. w0
& C.wqR
25 D.uid

Question ID : 54062619806

Q.15 fA=fafad uy &, aR fAereul & @, 39 fRAereq o1 =g+ &R S WTaaTaeh 971 &1 98! faehea T8l &1
Ans X A Q2@

" B. TR
X C.amar

X D. @™

Question ID : 54062619799
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Q.16 FR=fafad us & wR faereal & @, 39 frehed o1 wrg= &3 it fora & A arer Tl faerea 8l

# @ @TeRR |
o A. GhdhIore foRa
< B. Ozt fomam
2< C. amarg forar
< D. tromefes o

Ans

Question ID : 54062619797

Q.17 F=faf@a us 8, oR Rl 7 @, 39 Ao o1 997 R Sl G A o1 Tt R g1
o A. 3iduiT
2 B. siqafa
X C. =
725 D. 3i=1:4

Ans

Question ID : 54062619811

Q.18 f=faf@d ust &, oR Rereul 7 @, 39 9 Reved o1 g+ o 51t Ry g 2ree-gma & aref o It

fareeu gt
e 3R "o

o A Tt ofR g
#< B. arg ok Tigr 3
2 C.ricaft sfir o
75 D. dTehd 3R TigT

Ans

Question ID : 54062619813

“
Q.19 fR=fafad usn d ¥R fereul 4 @, 39 e 3 SIt 31 & We AT T e gt

&ar agi @« @ 81
X A dauetye sy
7< B. Gg=agdtyes &g
X C. fawmafeatys s
o D. forafa”twoT srery

Ans

Question ID : 54062619798

Q.20 f=fafaa usr &, aR faereul @ @, 39 fAered 1 =g= & St Y 710 2reg & yafaar e o1 a8t

faerea At 21

g

XA gHA
X B
X c.gm
o D. 3

Ans

Question ID : 54062619805
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Section : General Hindi2

Q.1 Fr=fafld uy 4, ar Rl |, 39 fRereu &1 wa= &2 it € 1S wtenifes a1 @ sref arerr
famea g1

g AR o7 U o1TTE
Ans X A dAd ey
< B.qga ey
#< C. 37U+l gTerd R §gE W&
o# D. Toh o 1Y GER a9 T gl

Question ID : 54062619830

Q.2 fA=fafae us d, ar feedt d |, 39 freeu &1 aa9 & Sit Ry 70 gerer o1 agl oref aren
faerea 81

R STHE @ IR
Ans X A S gd A TS g
X B. eIt g
& C. &g
 D. ATHF R g

\(\ Question ID : 54062619827

P

Q.3 f=fafad us &, arR el d @, 39 fAerea o1 aa+ &1 St g} area Gl

&

Tg gl T ¢ fSrent et 7 e o um QO
Ans X A TR eI (b
| Q
75 B. Igh arera >
2 C. Gigarass arery $

" D. s am $$

Question ID : 54062619821

Q.4 fF=fafae vs d, ar el J |, 39 fsea @1 wa+ w st favm Rig g araa o1 a8 Ree
Gl
Ans X A. @ TR ST T E, 3 & 92 TR &' Ag 3 gl

#< B. & HIh! ST 3BT §, 31 & I8 SRR H, g A Fgll
o C."H Aen! ST @1 §, 3 & 98 aWeR H1" A 7 gl
25 D. ‘& i%eh ST @1 §, 3 o 98 SR 52" A 7 gl

Question ID : 54062619825

Q.5 Fr=afafle o §, ar Rl § |, 39 fered &1 9a= R St S IR &1 T 31<aT fade g1
Ans X A 3@ & S1E GE HI ST e B

o B.3:@ & 15 @ &1 1 Afgd g1

X C.3:@ ¥ 91 g@ &1 o [ gl

#< D. 3@ & 91¢ @ &I ST (9 81

Question ID : 54062619820
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Q.6 ffafae us A, ar feedl d |, 39 Rseu & aa9 &R Sit Ry 70 gerer o1 ag oref aren
farerea 81

HTOT ST T
Ans X A Ggad gl
< B. g &
o C. Tofla-a1 e &
X D. st g

Question ID : 54062619828

Q.7 F=fafad ust &, ar Rweul § Q, 39 Revey o1 9u9 & o1t Ry 19 arer & fag gy & S o
a9 =31 e g1

g argdt & forg =« usT g
Ans X A gufarerias
75 B. Tcharef
X C. faemdf
o D. g

Question ID : 54062619818

2N
Q.8 Preafafm s , T R 8, 7o R o et 5% it € it o v sed
e 21 60
hehgl &h TR i B T & SITeht (03
Ans X A = R g @ AfeR glar g (bo
X B. 99 R4 o g9 e g (OK*
o C. STORTY & IFTER g1 s e w71 =nfgg \2\
75 D. BIE-T8 & &M 7 @ $$

N

Question ID : 54062619831

Q.9 f=fafad us &, arR faereal d @, 39 fArerea o1 T8+ &3 Sit Ry 71Q arera & 1et &1 98 faerea
Gl

g gerraT At & e
Ans X A 9WRT JidseTet

< B. 9T YcIehTel
2% C. dfery gdwr=ena

o D. 50T T

Question ID : 54062619817
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Q.10 F=fafEd ust |, 9R fRereal 7 9, 39 ey o1 99+ = ol v Rg g area &1 98 s
gl
Ans X A 2i@- 3t g, I & RQaeh &t 39 Pt

X B. 2@ ot 2! A & R{yaah &t 1" 39 gl
o C. '@ a7t 2@ I+ & fadh a1 39 et
25 D. ', 3it g O & fRadh &Y' 399 el

Question ID : 54062619823

Q.11 fA=fafad s &, arR Rl 7 @, 39 ey o1 9u9 o @it g 71 area & fag uar & A &
TS 31T faerea g1

T= frermera sma &1
Ans X A gofareias
«" B. Rameias

X C. wifienas

< D. 3R¥eias

Question ID : 54062619819

Q.12 fR=fafad usn d wR fereal & @, 39 farereq o1 == &R Sit €1 718 Alerl=h 1 @t aref arer
faremea 21 D\
SIRT WG &Y SR I 6Q
Ans X A o sRor g ot e ghar
X B. 3@ RAT A TG @Q
o C. R I &l T =1 & g @ 6
25 D. gf&a g $\2\(0

§ Question ID : 54062619829

Q.13 Fr=fafEa ust 7, 9R fereal 7 9, 39 Qe o1 g9 & w1t form Rg g area &1 98t fase
gl

Ans o A TRl 3 ITE gt '3 had JBIRT G5 &1 S8 3O el gon o1 fgwa w@t”
25 B. "forelt & 3T T, '3 Shae SIS &1 ¢ IO el gonl &1 erAa @t
2 C. "Rt 7 3T g, "I had SBIN S &1 36 T© el gon 87 fowa w@r?
25 D. "fonft A 3TY g, '3 hae JEIN g3 &1 6 o el gonl | fowa @t

Question ID : 54062619824

Q.14 f=faf@d us &, oR Rl 7 @, 39 Reve o1 977 &R it R 7¢ gerar & adh e arer
faerea 21
Sft 9R ST
Ans o A gegfaa g
X B g
X C.ffga g
X D. I\ S

Question ID : 54062619826
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Q.15 fA=faf@d uy g o R Al d @, 39 fAerea o1 =g R Y 9 arera 9 &1 fRAeea gl
STl AR gt sieit, g at 99 =l st
Ans X A. TR Il
X B. Ay g

X C. fRyraraes g

" D. Ggh areRy

Question ID : 54062619822

Comprehension:

e merier et eagdes ufeq ik 3T Ty usif & S S|

Tieft Terc-fehRelt et oft eI v &1 STU= B BIE TSeh! i TR Ug o forg ieht Twy 78T fAahrer ura
<, 5afey SRR ST T9 I=3 3197 919 & 91 8t oid 9| & ufd &7 ofg fie Iee Ted-aed g & &
H Tori wnfee, wfdar ofk o fawal ot 71 v foRar v 9| st Rl TRt Wi & AT WR FieTe
I @ST g1 UT| SIS oh The! H MR <l el QTR ol fHetar ATl Tieht el fALw e e Femdt off|
fehg STt I7eh Ta TR ST @l 7 firet, Sgi= Qi i =t <ft ) il o= srea ot sivrsit wqet!
AT ATGHTST & FoTr St ok SffSrra el fararn arga o1 fhfery & mieh 3 smsmanfaat & st
& forT Uah urssrTeT @left| mieht T 39k uer e & ok oy areft ggferes | il St v w@d g
R UTd & I GERT BT A T JUSKT @] & F | I7chT A= off R St fRverer @2t offs ofik sifafaa ghm
Tg el &t grga ofk Faw urem 7t forar urarm | fveres ot srum frenffat & wwey smesf =g g
=eYI I 51 Hft TH fAerd, 98 9gd $© US STed 3R ahis 8] a1d dka ofd &1

SubQuestion No : 16
Q.16 TH =< I IS Iugh fdah:
Ans X A. 3OSt e

X B. ISR Sewma
o C. 7Tl St ofR Ient figid
75 D. grfSehdr

Question ID : 54062619837

Comprehension:

ffaifea merier @ eargde ufey ofk fig g gt & s dfsig)

Tieft Terct-fohRelt et oft v v 1 U= B BIE TSeh! i TR U & forg it Twy 7Y fAahrer Ut
<, SfOIY SRR S11d UFY 93 370+ 1Y & 91 &1 &d & & ufd fae ofe Hier det gefd-aerd shert & &4
¥ ToRId! AT, SidT SR 3= fawal a1 719 U1 foharT e & | S<dl ahl Tped HST+ o TaTel WR Si31e
I @ST g1 7| SIS oh Tl H MR S<al el IR ol fHetar ATl Tieht al fALw e e dandt off|
fehg STt I7eh Ta TR ST ot 7 firet, Sai= Ol i =t <f ) el o= sreai ot sivrsit wqet!
FSTRT AIJHTNT & ol ST SR SifSrad g1 a1 a1ed o | fOhfea & il 3 ssmantaay & s=ai
& forT ueh urssrTeT @lett| mieht T 39 e fAge & ok oy areft ggferes | il STt v w@d g
R UTd & I GERT BT A T JUSKT @1 & F | I7ehT A= off ok it fRveres @2t offe ofik sifafaa ghm
Tg faenfdal ot areg ik R ure 81 fa=ar urge| a1 ot 3ra= faenffat & gwst smesfl = gr
=TeYI 3¢ o1 Hft T fAerd, 98 9gd $© US SIed 3R is A8 a1d dka od &1

SubQuestion No : 17
Q.17 wifeft Sft F sru=t st ot SRS & Tper A SIfRre ol g ehearar?
Ans X A I agd meit ot
& B. St gfaen oft vt ot 7 et ag 3% oft 78t =nfeq off
< C. 9t # foreft ant off agt e oo #+1 o
75 D. ifeh I7ch =l ol QIR =181 el

Question ID : 54062619833
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Comprehension:

fferfEa erier et eargdes ufeq ok 3T Ty usif & S S|

Tieft Terc-ehRelt et oft I R &1 ST BYE BIC TSeh! i TR Ug o forg ieft Twy 78T fAehrer urak
o, SHTOIY SRR S1Td UFY 93 370+ 1Y & 91 81 od &1 3 ufd fee ufe Hiet dact gefd-aerd dhert & &4
¥ ot Tfee, Sfdar ok o fawat a1 7 T foRam v & | Sl Rl TRt Wi & aTd WR Fete
IS GST 3T UT| ST oh Wl H HRAI sT<ail el TR ol fHetar AT| Tieft sl fALw e e dendt off|
fehg STt I7eh Ta 9IRSt @At 7 firet, Sgi= Qi gfdem =gt <ff | el o= srea et sivrsit wqpett &
ASTeRg AIHTNT o Tl St SR Siiforaa =18t e argd & fafaem & mieht 7 smsmanfat & a<at
& foIT Tep ursTelT Wlett| el Td I9ch wuTH fAerer & 3R o= Treft ggferen | mith STt o T gt
R AT & I GO ol el T TR a1 &t & | e AT oft foh St fRveren @t oftw ofk sifafaa g
Tg faenfial & grga ik Maw urem 71 forar urarm | vt @t sra= frenffat & ey smesf =0 g
Y1 32 o1 Hft GHY fAerd, 98 9gd $© U SIeld 3R ahis 8] a1 dRa ofd &1

SubQuestion No : 18
Q.18 with Sft & SIgER ek fAeres o1 frenfal & Sfia & o= wg=a 87
Ans X A Fo oft Tl
2 B. fiereh S =18 49 3§ Tohd &
< C. 3, e & fl-aefl o draar g
o D. Riereh fenfefal o srmesf giar &

Question ID : 54062619835

Comprehension:

e merier et eagdes ufeq ok 5T Ty usif & S S|

Tieft Terct-fohRelt et oft v v &1 1= B BIE TSeh! i TR Ue™ & forg mieh-ww g T8t fAahrer urd
2, 3Ty SRR STd T9F §=3 S19= 919 & 91 8t o 9 @ ufd R ot Hier Ot getd-aeid et & &
H ToRi anfee, wfdar ofk o fawal ot 71 T foRar v 9| st Rl Thet ST & AT WR FieTe
IS T G UT| ST & Tl A WRA 1T S<all ol STl g1 e o471 et et faLiw ge e Fendt ot
fehg STt I7eh Ta TR TSt ol 7 firet, g1 Qi i =t <ff ) migh-Srom areai ot sivrsit wqet!
AT ATHTST & FoTr St ok SfifSrra 8l fararn arga 2, fhfAesy & mieh 3 smsmanfaat & st
& forT Ueh ursarTeT @ieft| mieht T 39 e e & ok or=g aveft TgfAeres | il St v w@d g
R U & I GO ol e o IR el & & | et A2t o St fRveres Tt oftw ofk sifafaa gk
Tg foenfial &t grgg ofk Faw urem 7t forar urarm | fAarn @t sram fRrenffat & Twey smesf =g g
=eYI 32 51 Hft THY fAerd, 98 9gd $© US SIed.3{R his 8] a1d dka ofd &1

SubQuestion No : 19
Q.19 wicht Sft fohe uehR & o foRelt TR &t et & g 78T hga A2

Ans X A ST oTE € g STY
#< B. St SeAT 31 8l
X C. o siga arretiam 8t
o D. Sl & d W9 g1 o Tohd o

Question ID : 54062619834
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Q.20

Ans

Comprehension:

fferea Terier et e gdes ufeq iR [T T usif & SR S|

Tieft TeAc-fohelt et oft eI v &1 ST B BIC TSeh! i TR UgH o forg ieft Twy 78T fAahrer ura
<, Fafey SRR ST T99 S= 3197 919 91 8 oid 9| & 1 &7 ot fie Ieet Ted-aed g & &
H ToRe Afe, wfadr ofR o fawat a1 1 U fohaT R | Sl Bl el Wi & FaTd IR FiEe
IS @ST 3T UT| ST oh Whel H HRA sT<ail el QTR ol fHerar A7) Tieft el fARw e e demdt off|
fohq St 31k T WRdT Wisal &t A A, I-gie Ot gferem =1t ot | et 3o =il anl st Wl &
ASTeRg AN o T St SR Siiforaa =8t g amgd & fafem & mieht 7 smsmanat & <t
& foTT Tep ursuTelT @lett| el Td I9ch wuTH fAerer & 3R o= Treft ggferen | mith ST o T gt
R AT & I GO ol el T TR ol &t & | I7eh! AT oft foh St fveren @t ofte ofk sifafaa g
Tg faenfial & ggg ok Maw urem 7t forar urarm | freres @t sru= frenffat & wet smesf =0 g
=eYI 32 51 Hft THY fAerd, 98 9gd $© U Sleld 3R ahis g a1 dRa ofd &1

SubQuestion No : 20

I8 @ A - IT AE ATIAT 1 gafgarh Mg 781 82
X A Rgid
< B.dx=

o C. Srae

X D. =i

Question ID : 54062619836
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DSSSB Junior Assistant Question Paper 2021

|Participant ID Join Telegram Group "HaryanaJobs.in"

Participant Name

Test Center Name MRS Global Insititue Of Technology
Test Date 25/08/2021

Test Time 4:30 PM - 6:30 PM

Subject Junior Assistant

Section : General Ability1

Q.1

Ans

IY St T T e oIt U | &) 7 S § IEE UahR 9 SEidd @1
YR : d9dr :: ?
< A =gfids  usE
X B. sifeferar: g2
25 C. urfehed™ : €MR
o D. SIS : dThT \Q

r~4
\g@ Question ID : 54062619243

Q.2

Ans

Fr=ff@d s &t o @ o ok iR 39 sIgER SR &: %"

ara e 1A, farrsy, =i, diues, Tard, weres 3R fiar g ﬂ‘amﬁﬁawmaﬁ?l
1. Fereh e & T uget ugdt g Afeh §ueh & gid Tt 81
2. =ig frerrera ug=a aren enf@&d & 31
3. QohdT 31w & G a1 SiTelt @ SR aeagyre fiar \'ﬂ'l?ﬁ%l
39 Bl A, T uget faenera @i ugear §? $
o A dusm
< B. Qehdl
X C.afa
X D. forrst

Question ID : 54062619249

Q.3

Ans

few g faeret & &, i gas Afga a8a @ gum &) greifer, Tas ey s i fr avg gl 21
I fAeheq &1 904 & Sl 3= @ ST 81

o A Al
2 B.FK
X c.LQ
% D.BG

Question ID : 54062619238
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Q.4 39 e 1 9o o St fi R Ue & I uhR @ Sl g Ra reR A g@u s ugd g &
Hefd g1

CX:BY:GT:?
Ans o A FU

X B.FS

X C.HU

X D.HS

Question ID : 54062619242

Q.5 f=fafda srar siwen & qu ue 71 &2
ACFJ,___,U
Ans X AN
& B.O
X CcM
X D.P

Question ID : 54062619232

Q.6 mﬁﬁaaﬂzmﬁamaﬁn&#mﬁm’tﬁaﬁmmaGETaﬁlER#mﬁ@@aﬁm
T, @ SIX & e s T @2 §
&
Ans X A UVI 60
X B.VIU (05
X covul @Q

o D.UIV 6

\2\’0

$ N Question ID : 54062619246

Q.7 2rsal &t srefyuf oo & eafea 1 s

1. TR
2. 7fa
3.9
4. fSrer
5. 321

Ans X A 53421
X B.21354
X C.42153
& D. 21435

Question ID : 54062619235




Join Telegram Group "HaryanaJobs.in"

Q.8 1y 7y faereat & &/, i1 ver fAfYa a6 @ gum= &)1 greiifeh, ek faerea 3= ofi i arg i 21
39 farehe &1 w09 &2 St 3T @ 31l 81

Ans X A TT:gY
< B. M Fic: ’H
X Cdg:3A
o D. i s1ge

Question ID : 54062619237

Q9 L MN,OP3RQRuMFIATFIawRAIZE: LR M Iz A &1 0 sflkrPaHisRwEIN, 0
& 1S AR AST &1 P & <16 R AT &7

Ans o AQ
X B.O
XCcM
X DL

Question ID : 54062619250

Q.10 feu 7Y faeredl & &, A7 wer AfYa a8 @ Tu= &1 greiifeh, Ter faereu 3= 9 & a=g =& 21
39 faereq &1 I8 R S 3T b 3T 21

Ans o ATV Q
& B.EH B
< C. XA 3

X D.LO
,0(\

(OKA Question ID : 54062619239

Q.11 wﬁ@aaﬁzwﬁuﬁLlFEaﬁJGDc%mﬁiﬁa&mmaa’rDEATH & AU s @
2

Ans X A. BCASJ $
< B.CAYUI
< C.CDzZUG
& D. BCYRF

Question ID : 54062619244

Q.12 fF AT, Y 3R Z & 7@ uia thedl A, Fer, =, AT 3R HeR Y Tk sj@e g1

1. Uceh 3T | HH A HA &t G g7 AR
2. QgAMZHAgI
3. thet iR i o & ST AT FTH I
4. M IR IRTHFTX A I
fe Ueh BT &, 3% ¢, dl 59 fora A A <@ s =nfge?
Ans A Z
X BY

X C.x
X Dararxary

Question ID : 54062619251
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Q.13 fRu 7y faeredt & &, A7 ver AfYa a8 @ gu &1 greiifer, Tar ferea 3=y s & a=g =81 21

39 farehe &1 w09 &2 St =T @ 31T 81
Ans X A Bryst
X B. ST
X vy
o D.3d

Question ID : 54062619236

Q.14 FfafEa siaer d qu s1arR 71 &1
ab__b__b_c_a
Ans X A. cabchc
" B. ccaacb
25 C.cacbab
2% D. aabcbc

Question ID : 54062619233

Q.15 39 St &1 99 2 ot U | & 7 S F IHE vahR @ Efda @1

AF:BG:? «Q
Ans X A EF:GQ S
& B.CH:DI 60
D
2< C.XI:DL @
2 D.EH:GF @Q
o QO

Question ID : 54062619241

Q.16 Uk fAfYa e ymor & $§
"Que Lit Sera" @t 31 ¢ love and war
"Rim Tim Sera" <At 312 & Cat love milk
"Que Tim Fir" a1 31ef & Dog and cat
milk &1 1S T 82

Ans o A RIm

X B.Tim
75 C.Sera

25 D.Que

Question ID : 54062619245

Q.17 af ger AfYa sis T &, FRIEND ahY 61996145 & wu # sif2d famar mar &, FINGER &Y
610148519 & ¥4 & shifed forar mam g, @t ROCKET & foig ehis aam g7

Ans & A 1816312521
< B.1915167296
2 C.1819456321
< D. 1914152697

Question ID : 54062619247
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Q.18 F=fafEs sjen # nea ug 7 a &}

C3, ES, G7, H8, K11, M13,
Ans ¥ A H8

X B.E5
X c.c3
X D.G7

Question ID : 54062619234

Q.19 39 fAehed o1 9a &R Wit AR Uz F It yopR @ Heifda @ AT UhR @ g1 ug uget ug &
wefda g1
T ; IIAfAh ;: PRI : ?
Ans X A gw
o B. Smarmard
< C. vrgerety

X D. igue

Question ID : 54062619240

Q.20 qmawﬁz@roﬂvgammﬁgﬁm#m,auﬂzﬁ@amﬁ%m/m#ga@d%m
SeheIlT deT §1 e 39 A5 & 4 "afda §? &

Ans X' A. =rit/Am 60
25 B. TR/aa0/ /a8 g g8 ,05
o C. 951 @Q

&

25 D. \yar

$ . Question ID : 54062619248

QD

AN

Section : General Ability2

Q.1 3ieh 0, 4, 5, 7 T IUANT ek 4 3ichl Y TET T & e A0, Tl I=7 gARIgw v i &, at
CLAH
Ans X A 345

& B.192
X C.132
X D.216

Question ID : 54062619259
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Q.2

Ans

50 STl & Qe fArermera #, 20 BT Feaia Aeld §, 25 BT gidh Bed & 3R 5 B gl & Berd
&1 fora= o 1 A @ & off @t i @erd &2

X A 15
2 B.20
X cC5
& D.10

Question ID : 54062619260

Q.3

Ans

Fafafae de sjEen d g ug 754 &
4,13,8,17,12,
X A5
X B.25
& C.21
X< D.19

,16

Question ID : 54062619257

Q.4

Ans

Ul JATfa & T 712 g g9 & onuR Wk, FAfaf@a 7 @ i a1 Riereu T 3 & fagdia ghm?

X AT D\
X B.4 O
& C.5 O
X D.6 @Q

(0 Question ID : 54062619269

Q.5

Ans

7 fag g s A, 5t Fum g /D siffwu= (A) ok (R) & =u & fRfga forar mar &1 faereat
# hie & SR U1 IR Rfga w1

3fAehA (A): Raret &at 1 aigr &1

RUT (R): W ¥4 7 fRareft & R rgor o1 aur fawam ami
< A A SRR g & ok R, A it Tl e 7l &1
X B AT g AT RIT &I
< C. A SRR I 9 & 3R R, A Fl Tgt e g1
" D. ATI g AR R SEA 81

Question ID : 54062619254
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Q.6 T U, A7 wua Ry g g, wss ame, 2 e smifra | sk 1| Ry g 81 g A= gu fs
HYF & oft ST G €, &) fAsehul a1 g a1y RAsdver R ofk RufRa &R fr sr s @
HiIE ot arfches ®u @ ok Affa &9 @ Fua d & 7€ STFRR &1 SIERT FHRAT 81

HY |: TS ik el &1
YA |1: Foft Gher Ao §1
&Y |II: o AT fove &1

forsenef I: goft Grer forwent &1
forseref 11: 9oft Gier e &1

Ans o A T SRTE I SITERUT AT @
#< B. hae | STER0T T &
X C.1 3R 11 G SrgERoT et &
2 D. 3aet Il SRJEROT &l &

Question ID : 54062619252

Q.7 39U A, Ueh A fam man g, Rads a1, ars & i spw shwifera |, 1 iR 1l Ru e @1 ag
A gY o6 e A a3t SIeeert e 8, i piars & sh T e ATy fasdor &R ik FrufRa
R foh o I @ i Y arfhes w9 @ ok Rffa 9 @ Fy= | & 7 SRl S SRt TR
gl

HYH: STeT VEHUT Uch TS TN & it WRd 21 St & - o @1 81

HRATE T hA:

1) SRR & Al & 71 A1 & urht & afgafs &t A & o SRa aesie ugfa & fAmfor e
eyl

Il) TRFR Tt STeT UGHUT Rt Aehet o foIg IuTa et Tnfeg ok Setl & srumt @mfAel ot s
fAerrat & 9 thepnt & foIg g =nigul

1ll) TR &t 7Y Iewil & FRwfor F fRder s=ar anfggl

Ans X A hae | 3R || SIEROT e &
25 B. el || SR[EROT T §
o C.haet | 3R || SIEROT e B
#< D. Fa | STIERUT el &

Question ID : 54062619255

Q.8 fm=fafaa d & i ot IR snepfa ust sipfar i sjae Y gz el 82

Ans X A.
o B.
&< C.
2 D

Question ID : 54062619266
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Q.9 sHUH#, dfiv wua Ry 1y g, wes ame, 2t Fremd smifra | sk I Ry g 81 ag A= gu e
HYF & goft ST G &, &) fAsehul a1 g ary fRAsdvr R ok RufRa w2 ff sr s @
ig +ff arfcher &9 & ok AfYa u & Ty d & 7€ ST &1 SR HRAT B

U |: FS F<t TS &
HYA |I: S Gthe A1 @ 2l
FU |II: Gt AT w1t &1

fAreref I goft =t e €1
frene 11: T3t spret &1 E1

Ans o A T SRTE I SIERUT AT 8
25 B. el || 3RO el §
X C. had | TR0 T &
< D. | 3R || ST SrgERvT el &

Question ID : 54062619253

Q.10 fam a3 3R A, B 3R C & fia & ey =l grfar &1
e A # fohas gerasg &7

Ans X A.15
X B.5
Xc.s8 \Q

o D.12 &*
o™

(07 Question ID : 54062619262

&

Q.11 ﬁﬁqmmaﬁﬂﬁmﬁmﬁﬂﬁﬁﬁaﬂﬂﬁ%\%ﬂmmm
18-6+3+5x5-1=0 $\‘2\
Ans X A x3iR- $
o B.xoiR: \)
X Cox3R+
X D.+aR+

Question ID : 54062619256

Q.12 Y 7¢ 39 3ma # Yeh THTST & ANl & ofi= & Teier aht g=ifan man g st i@ ofik sidsht aiera &1
I ST T AfAere 1 e ol Siiet T8l aterd &1
Ans X A 45
X B.50
& C.55
X D.35

Question ID : 54062619263
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Q.13 39 fehed o1 99 &R Sit et ofa & St R @ Hafdq & 9 TR @ @ sl ueefl sl @
efad g1
Ans X A
< B.
« C.
X D.

Question ID : 54062619265

Q.14 & TS IR TR |, IT TPl 1 70 & Foas ust sinepfa Bdy/afafga @i

Ans X A
< B.
< C.
« D.

Question ID : 54062619271

Q.15 T ek EduT Rt I@T PQ UR @1 74T &, @t i It IR sirephar &1 71 srrepfar a1 wig Edor ufafdw
7

Ans X A ()

X B. 3
xC.

Q
#0 6(0

‘2\ Question ID : 54062619268

Q.16 ﬁﬂéﬂ@hﬁﬁaﬁﬁaﬂmwdmmaﬁ&ﬁ

Ans X A.26
X B.24
o C.28
X D.30

Question ID : 54062619270

Q.17 31fAa A Rrerera simar & ok Remea @ amow omar g ofk 39 ¢t &l ag & & g 2 ' & r
Uy Ad1 g1 af St gua 39h 1fa 48 km/hr & 3R a9 dted awa 3T wfar 24 km/hr &, @t
IqH ZRT a4 Fi T et g 71 A2

Ans X A.32Km
X B.36Km
2 C.30Km
o D.64Km

Question ID : 54062619258
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Q.18 F=fafE@a # & &9 a1 3 iRE @, fhdhe ik Geatd & i & Heil ol a9 sresT g21far 8?7
Ans X A

& B

&< C.

< D.

Question ID : 54062619261

Q.19 fF=fafE@a sigen d nea siepfa 7rd R

Ans X A BfaB
X B.3RA
o C.3RD
X D.®fac

Question ID : 54062619267

Q.20 Fr=ifaf@a # @ w91 3IwR, ust siepfar Y sjae Y OR1 et 82

Ans X A .80

«" B.98 .Q

< C.108 ‘Q%.

2 D.89 BO

&
%@ Question ID : 54062619264
O
S

Section : General Awareness1 ‘\$

Q.1 Prefie & & wrorer & R e §, AR S Rig ar diee & ad @ & o &
=g em wmé et @7
Ans X A et
X B
X C. FerRfm
& D70

Question ID : 54062619274

Q.2 1947 ® YR & Td= g1 & dT1E, 201 & uget fa= w=f,
Ans X A AR @

o B. I EH

X C. azda Regr

X D. mtEA ¥

2 uge goie ver faRar

Question ID : 54062619277
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Q.3 wel Rent @ Afaf@a 4 @ fore Agrarr & 9a¢ g @ré 87
Ans X A IRy

75 B. U=t

X C.fe=

" D. sieqifed

Question ID : 54062619286

Q.4 arrfi= Pafaf@da § @ e 9a @ 9&6fda &2
Ans o A EEH

X B. wdefemds

< C. uRitRr

< D. GAferer

Question ID : 54062619283

Q.5 fAfafae d @ oF ot R & Y o ga1 TR § @ sreudifee S 3urR ot ofik Iur & wireh &2
Ans X ARUIE

X B.Radmize
o C. AT T 'Q
N ©
4 Question ID : 54062619280
O

Q.6 PR & @ e e e oy ofe e Y v o o e g o

Ans X A TR &.
X B.gom )
o C. AElg $
X D.gd

Question ID : 54062619275

Q.7 F=fafaa | @ o Reeeht | wret fovet a1 ot fomar um?
Ans X A R

X B.g7

25 C. 3hsr

«# D. 1T STEl

Question ID : 54062619272
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Q.8 fA=fafEa d @ fFae AA9aeRY uonell &l S SR 3R BT & afedyd A & fag der
foram?

Ans X AT
o B. IR
75 C. s
25 D. SR

Question ID : 54062619290

Q.9 1873 # fAm=faifEa & @ fhe weeiteres TaTeT Y RTGT HY?
Ans X A. ST IHAEA I

«* B. Siforma

X C. #greT Mg I

25 D. IHGHT HERH

Question ID : 54062619291

Q.10 1980 # §T <fenl & ALTAHTOT & R =ROT A, fohert anfoifSues et vt ardiareneoT faa wmar ar?
Ans @ A6
X< B.8

X C.10 )
X D.3 60%

&

(50 Question ID : 54062619278

)\

Q.11 mﬂmw@mﬁmﬁaﬁ%maﬁw%mﬁﬁﬁmm
& 9= ST @2

Ans o A TfgHE ST &&
X B. & $
X C. &Afeen

# D. TERIE

Question ID : 54062619273

Q.12 #gafiRR siifsem &t gust gt S 91 g, = Frafof@a 7 @ fore udanmen & w82
Ans o A Td EE

< B.ufgH g

75 C. SRraet ydaaren

X D. fareararer udaHTen

Question ID : 54062619288
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Q.13 An electric generator is a devicethatconverts_____ energy into electrical energy.

Ans X A.chemical
< B.sound
< C. nuclear
«# D. mechanical

Question ID : 54062619282

Q.14 fafaf@a & @ 9 91 R-uRuRes eIl Jid 61 Y IS8T 87
Ans X A dd

X B. &igen
2 C. urepfaes A9
o D. S1a Fuif

Question ID : 54062619281

Q.15 Al YRa&H_________ feamdf@az

Ans o A cfRorofgm
< B. &faorgd
&K C.ufgH \Q
X Dud S

Question ID : 54062619289

Q.16 Prefifem @ R g # w e var f 22 &b
Ans X A T WRY \2\(0

X B. TERIE N

< C.dma g &&

" D. TSRId

Question ID : 54062619284

Q.17 fR=fafaa d @ o= dt et asg h gad ot 78 282
Ans X A =iferr

75 B. sewial
" C.OfTR
< D.gmr

Question ID : 54062619287

Q.18 fA=faf@da & @ &9 91 SrIeael R &1 Teh ISIE 0T &2
Ans X A. SRR

" B. st ax
X C.aga

25 D. SUER &

Question ID : 54062619279
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Q.19 faefa= B6 <1 d=rf_es = o &2
Ans X A FiErenaT

o B. TSR
X C. mrIEHssieE
2 D. ShfRyoTer

Question ID : 54062619285

Q.20 fA=faf@d & @ i 91 TR YRA # "3ifaw Sty & shureTar & U # & &dr 87
Ans X A TER Y ok amfir faemy da

X B. Rt We dop
X C. duee da 3ifh gfogar
o D. sTRee Rt &

Question ID : 54062619276

Section : General Awareness2

Q.1 fF=foafla d | fora @« & a1y wifda wu Se18?

Ans X A. fohde &
X B.3sfien 60
Q
« D. d5a 00}

Question ID : 54062619311

&?
Ans  # A USSR
X B. % T
< C.gamede fdhren

25 D. S

\o
Q.2 wmdﬁmﬁ"ﬂaﬁum'aﬁmmm@aﬁﬂﬁm%m##ﬁmﬁﬂamaﬂnﬁ

Question ID : 54062619306

Q.3 fFA=fafaa d @ e s/ stam s e @1 Rt far ar?
Ans X A. #graAr e

X B. QU I a1

K C. STaTgseret dg&

« D. 1T JgIgE QM

Question ID : 54062619297
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Q.4
Ans

Seamm R TREREY__  grifafind gl
2 A fasiet sitamr
X B.3HE W
o C. iR
25 D. SR1eh SiaTHT

Question ID : 54062619296

Q.5
Ans

U-17 T afgen fasy g 2020 &1 trg=ie Rfaf@d d @ g age d smaifSa frar mar ar?
K A SR

X B. gHaETE

o C.7di ag

X D.g%

Question ID : 54062619307

Ans

#, =g 7 321 & fohedt oft wifarsa & dfdum & oo & SiferRy i e siiR
AT & [ ey g uarta faami

X A.1943
< B.1939
< C.1907

o D.1928 60

&

(50 Question ID : 54062619292

)\

Q.7
Ans

Rer v o orgede 19 @ 22 ﬂa‘a‘ﬁﬁ\?{b\ ’
25 A 2T & fEeT SifdehR $

" B. Td3d1 &1 SIfIHR
X C. gHHar &1 SIfeR $
75 D. Titepfa ofRk e sifdrer

Question ID : 54062619305

Q.8
Ans

FrafafEa d @ o) ar g YR d@fur f s d 98 &2
X A gHEar
o B. TzaT
X Cc.am
X . g

Question ID : 54062619303
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Q9 dmfAuE____ & & # I aFre & g i [RehR & Twe g+ aref ugeft
srfehr afger &1

Ans X A @A g
X B. @R
X C. «ftfachr
o D. ifq

Question ID : 54062619295

Q.10 fA=fafEa 3 @ frd Ay =amuR e grr ufawnfua forar mar ar?
Ans X A FUR-GEfd fder & Iur

" B. o SR ATUR TR A= ST
25 C. sfawrs gaT sy
25 D. AR-UEAd difge duer sifder

Question ID : 54062619298

Q.11 aTfeiehie 1 g Ta 3T 1T A1?
Ans X A. 1578

X B.1620

& C.1565 630

2 D.1603 6()

Q(b Question ID : 54062619294
R
3
Q.12 F=fafEa ddufRes dmeel o @ fres sadi o # , AfAeft offz durelt mumart
@l SitET?

Ans o A 92F && ‘
X B.98d $

2 C.1028
2< D. 883

Question ID : 54062619304

Q.13 fA=faf@da d @ &9 smie 2020 a6 9 7 aifdes ot S f@am siiaa @1 Raid w@ang?
Ans X A. Fiare Siiaied

& B. B TSI
& C.gergE
75 D. ISR thew

Question ID : 54062619309
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Q.14 FfafEa d 9 e @l @ 7 s geieor &al & Rt SUTfY 3R YRERR & 3igaM &
HRUT 2ATET-Q-JEeR hgl UT?

Ans X A 3f&Toe
X B. SR
«” C. TEIR e |
X D. 218 S8t

Question ID : 54062619293

Q.15 F=fafEa 7 9 fFea snie 2020 ae g1 fayuor [REhR 2020 & Sfar?
Ans X A guAT RS

X B. & A

25 C. 31301 et

o D. ST 0TTad

Question ID : 54062619300

Q.16 27 g # gel FHR 7 gfAarE Facft dfm=fa 7 wira &1 ugen fiwl-Aw= w@of uge Sfaqt &
forg fordt g=mam?

Ans X A diger SRy

«* B. ard Tnfafea . \(\
X C. S \Q%‘
X D. sfrra dagerta @50
,00
6 Question ID : 54062619310

Q.17 F=faf@a ool § 9 A e adie (31e) Ridyes a2 h@'%a}maﬁzozoﬂeﬂqam’faﬁr
Irerenfaat & Fwfor s uare e 82 é

Ans X A IS $$
7< B. 3T
X C.Aguesr
o D. 3778 2T

Question ID : 54062619302

Q.18 R &} fiar T¥RaTe wl Tgh WY A STEH 2020 F # o1+t fRareh awaa & =u
% fags forar g1
Ans X A. sftcier
& B. g1ses fohrsn
o C. S
#5 D. Tg<h TG

Question ID : 54062619299
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Q.19 fA=fafa@da & @ &9 3 2020 e e & dsfie AT gRT ga@ 31w uge Sia= &
et T@ar g2

Ans X A.gam
o B. mman foim
25 C. grsT Agardt
< D. A1 Rig

Question ID : 54062619308

Q.20 fF=fafEa d @ fFa WRaR 7 26 S, 2020 &t 'Ria W= g1 == H?
Ans o A HERIE

< B. afifesm

X C. uffm e

< D. TR

Question ID : 54062619301

Section : Arithmetic Ability1

Q.1 cheier 34k GigH A< 3800 mmﬁélaﬁﬁaremﬁaaqmwnﬁsmmé’@%?ﬁm

31 e oh1 5 ufaierd a=rdr g1 IR sr=re 10 : 3 & Srgurd # &1 shefier 3R fehd
A T 82 o
Ans X A. 3000 %7g, 800 307 ,03
< B. 2400 34T, 1400 3UY (0(\
& C. 2000 Y, 1800 FUQ (OK*

#< D. 1700 ¥ug, 2100 3uq

&.

§ Question ID : 54062619321

Q.2 e gieed #, 60 =1 & forg 120 szenl & fag e Suerey &1 11 AT & ofd &, 3o ik d1gh
AT & AR 3T gg g 74T @ foh WS Shae 35 Al aeh @ g« 11 R4 & a1 o= a1t gl
&Y T foRat @2

Ans o A48
X B.120
X C.68
X D.102

Question ID : 54062619328

Q.3 s T A 3R B &1 af A &1 12 ufaera, B & 18 ufazra & srrer §, aY A &1 18 ufasrd, B &1
fora= ufaera gm?

Ans o A 27 Tfaerd
< B. 12 gfasa
X C.24 ufaza
< D. 18 ufasra

Question ID : 54062619322
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Q.4 G IIa # €T HI 4 G O 3 AT HiGT AT AfhT FH A FA FI Sl A9 4 @
RS &= R sifew 3= d ufdea g wn &2

Ans X A.88.50 ufdsrd
< B. 48.25 ufasa
25 C.9.85 ufasra
« D. 93.75 ufasra

Question ID : 54062619320

Q.5 =gaw Tt & & O ud 21, 22, 36 3k 38 # | gerdt soft arfer aRomd dwar g
ST & SY?
Ans X A2
& B.6
X C5

X D.3

Question ID : 54062619329

Q.6 R 3Tk wferaT ZRT e faRg 7Q 3ick 3 : 8 o IrguTa | & SR dferar ofiR Fidhar gRT Ut fhy
G 3ieh 4 : 7 & FJUTd A &1 efiR 3R Ihar ZRT vt fohg 7T 3ieRl vt SIUTe T 87

Ans X A.7:8 ’\Q
& B.3:14 &
X C1:2 360
D.3:7 0
~ Q
*(0
S Question ID : 54062619326

Q.7 zsaﬁaﬁaﬁmwszaﬁaﬁ#ﬁmqm%wimmmﬁwﬁmma
Ans X A.18.124 ufaera e $

#< B. 7 ufasma g1
X C. 14 ufazma ey
o D. 21.875 ufasrd g1

Question ID : 54062619323

Q.8 T Fevtaret A 11ff urdt & 72 37 91 3R 39 kg @ Ik siid 4 A gg Sar 21 11 utlRal &
1€ IYhT 3T T 272

Ans X A. 31
 B.32
X C.48
X D. 43

Question ID : 54062619318
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Q.9 4y 3k 12 av & fog Twm o R W fAffa af Y R sifSfa aruRor saret @1 srgura @@ ghm?
Ans X A.3:1

o B.1:3

X C.2:3

X D.3:2

Question ID : 54062619330

Q.10 afe geh mga:hia &t 15 ufazra Y g = 68 Fuq & d= St &, at 15 ufaerd a1 ey sifsfa
&= & oI gwen faska =g o g anfgg?

Ans X A 803UQ
& B. 9230
X C.853uy
< D. 68 3Uq

Question ID : 54062619325

Q.11 o=t 25 ufaera fi g R TS Al T B S=relt @ 3R TSt 3@ 40 ufaerd & @197 wR Ay At
et &1 A" 1 fRera ga i & drE e 9@ gl

Ans X A 15ufaed &A
«" B. 5 Tfderd sifdes \Q
X C. 15 ufazma sifde 60%’
72< D. 5 ufasra &g 3
O

@

Question ID : 54062619324

N
Q.12 a+[a+(b-a)-(a-b)-{b-a-(a-b)}]mmaﬁqmqﬁg‘
Ans X A.2b $

" B.2a $

& C.atb
X D.ab

Question ID : 54062619313

Q.13 1 85 Ak UTehfareh HEATSHI 1 S T 87
Ans X A 40
X B.44

o C.43
X D.425

Question ID : 54062619316
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Q.14 2Ag X & STTEAT 84000 & Sit ufer af 1000 & 23 @ gecht &1 Ag? Y Fi ST=<iar 48000 &, s
ufa aef 1400 f 2R @ Fodt &1 foha= aut &, 2E X 3R Y & S5Ear SRR g simei?

Ans X A 11ad
o B.15ad
X C. 1499
F L]

Question ID : 54062619314

Q.15 o ZRIAY 5200 kg ¥R A &, digw 3 130 kg 197 7ierd & ug=n fan 36+ o= e # fara=t
ufasra W ugearai?
Ans o A 2.5 Tfded

< B. 5ufar@
< C. 6.5 ufasra
< D. 8 ufasrd

Question ID : 54062619319

Q.16 2340 Fuy Y AfA &t ft=7 vt J T franfSia forar mam & St o uget WwT &t aime, gER ST @
EREAT 3R AR T 1 Teh-TATE SRTeR & 1 SERT WRT 2T &2

Ans X A.7203%UQ . Q

\
X B. 1440 3uy S
2< C. 900 3qg 360
« D. 180 3Ug Q03

(\
{0
(b\ Question ID : 54062619327

Q.17 ek o= AfaA, 2 asf & 18420 U & TRIaR gl St @ af # 20262 FUQ & sRTER g S &
=TST &R aTftfer wU & Tehqfeg favam i ve1 &1 sare 8?7

Ans X A 12ufasd $
< B. g ufas@
o C. 10 ufaera
< D. 5 ufasra

Question ID : 54062619331

Q.18 e wrsfret a1 RIfga gea 8400 Fug oft Afh gepar 7 15 wfazrE ofik 5 ufdeEa 6 aledt ge
&1 39+ onfER # wrsfhet i fohat & d=m?

Ans  # A.Rs. 6783
X B.7012 Uy
% C.6982 34y
2 D. 7140 Uy

Question ID : 54062619317
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Q.19 95 cm, 152 cm, 228 cm 3R 304 cm «aTE ) IR Uzt U «ars & el d e 1A &1 vl
W JUTHHE a1 g1 Anfge | sifderaw foha=t gens 1 oI Wehd &2

Ans X A 13
% B.36
o C. 41
2% D.20

Question ID : 54062619315

Q.20 gHAGH HE&AT T ¢ [ 14, 22, 56 & AW ozt W Auwhe & U A 3 Sisdl &2
Ans o A 619
X B.713

X C.616
X D.784

Question ID : 54062619312

Section : Arithmetic Ability2

Q.1 PR uTé-aré e wrcht & gar d wfewwl it A @ gutr &1 gt o 1000 kg &1 af

AR &Y T 30 FUQ Ui kg &, 3ATeg Y 20 FUQ ufel kg & 3R 7R Y 60 kg &, at
T TR Ikl el AT ohl iU o 872 5O
Ans A 15:8:2 (\(b‘
X B.12:13:5 Q{O
>
X C.9:4:3

X D2:5:8 $
Q

$ Question ID : 54062619347

Q.2 i & 7 arforent d Tl ZRT STET- ST AR Y Ul avg R oy 1 A qxfd g @
el T2 T AT vfaiRrd 397 e wR @ fohar &2
Ans X A 15ufasra
«" B. 13.33 ufasra
25 C.14.11 ufasra
2< D.20.33 gfasra

Question ID : 54062619344
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Q.3 fF=fafla aRarar agys @ar & auf & R Qer shu=it i i amars § AC &t fashl @t
Zrfar 812019 A rRaraif A, B 3ii® C i sitwd fahi et fara=m ufarera, 2020 # er=avaii €, D 3R
E <t it fashr &2
Ans o A 91.66 ufasrd
< B. 100 ufasa
< C.84.16 ufasra
2< D. 110.42 ufasa

Question ID : 54062619350

Q.4 fFA=faf@e smaafas ge du- i goft afgen wflRal f emg (auf J) gafdt @1 40 ad ar 40
e & s1fdes fi sy Fi Afgend Rra-h &2
Ans X A.320
X B.625
« C.325
25 D. 450

Question ID : 54062619348

Q.5 sifta i goft udia i goft & 3/5 71 3ifdah &1 9du 3 3 o a9 arffes Tehgfy Yot it
uﬁraﬁzowﬁr&maﬁaﬁﬁaﬂaﬁmﬁaaﬁmwaﬁmmmuﬁqﬁ PICRIGH
TR R et e iR arfek 3 anf & ane, 4 & ura Gt e afa gz O

Ans X A.50/3 s 50

2 B.100/3 ufdera (0(\(0
& C. 8/3 ufasrd {06
< D.16/3 ufaer

&.

§ Question ID : 54062619333

Q.6 Fr=fafde ar arw af 1993 # gi= dufal $i sma ik =4 i garfar 81 R SR S dufaal &1 e
fAreTeR? oy wfarera an gifs ufaerea o @2 (91 = oy - =)
Ans X A 10.43 ufasrd g1y
«# B. 10.43 ufasa @y
#< C.110.13 gfdsrd &
25 D.110.13 ufdera g1fy

Question ID : 54062619351

Q.7 F=fafaa urd-aré s farre Figet ZRT 5 arenT-3reT 221t & f&TE Whik fhg 17 T Y
garfar 81 3 320 & FRATE e gRT Wk fRg g et T 1800 &1 urfohear ofiR sifedforar &
fE&eT R fohg T et 1 A T siaR 87

Ans X A 386

/< B.648
o C.486
725 D.162

Question ID : 54062619345




Join Telegram Group "HaryanaJobs.in"

Q.8 [uTehe A AN ufaad 13 ufasra sfiz ufaad 6 ufdera & aruRr saTr 1R 32800 FUY &Y AfFA FY
fanfSiar ek €t areT-3remT aisTTail A 3 B & faer &Y afe 2 auf § sifSfa arummor sare i
el WA 6512 FUY g, &t Fisrr A & fAder i < afy gz 402

Ans X A. 12600 3Uq
< B. 14400 3qg
% C. 20200 g
& D. 18400 FUg

Question ID : 54062619332

Q.9 Uk HUSehT i &1 UTFUT P 3R Q ZRT S-S 9 3R 12 Het H HRT ST Hehell &1 ek 3R UIsu R
ok 6 w2 # gft avg @ ¥ g Fivaa ot @relt FR wendt &1 aft A= ursd e w1y @ a §,
at pfogent ot WA | foha=m T wim?

Ans X A 16H
< B.214e
" C. 366
X D.18%2

Question ID : 54062619338

Q.10 ek A1 Y fRAR urft 3R SHeefvrarg i aifer svwer: 12 km/hr 3R 9 km/hr%l?ﬁﬂﬁﬂﬁoﬂﬁm

3rgveTg S | foraeit gt o & saeft? N\
Ans X A 21Km &
o
& B.50 Km 5
«” C.45Km (\(b
% D.28 Km 6{0
2
. Question ID : 54062619336
\$ u |

Q.11 uﬁwdﬁﬁﬁma@%ﬁmﬁﬂw%aﬂz&ﬁaﬂvﬂﬁ#mmm1:sé,a’t
2y &Y Fag o Pwar &1 srguTa a1 82
Ans o A4
X B.1:8
K C1:1
X D.1:16

Question ID : 54062619343

Q.12 Uk 25 T YR ATH 20 cm & 3R 9w Fer gHI &S5het 660 sq cm g1 27 Hi fadt Fard
FE?

Ans o A 11cm
< B.10.5cm
X C.10cm
2 D.21cm

Question ID : 54062619341
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Q.13 Qe e Uah S oh TR A & 5o gas g i & oiik g siefmerer snur g1 81 MR
3MThR & a1 HI BeaT 82 cm & 3R TR W Y FA1E 1 m &1 I 1 Fed arg] 1T S=Ihed
FE?

Ans o A. 93808 sqcm
X B.78452sqcm
< C. 42850 sqcm
75 D. 84850 sq cm

Question ID : 54062619342

Q.14 af} &t @fs 15 km/hr Y fa & wratera sirar 8, ot ag 9:05 gafg ug=mi 9:00 gafg ug= &
ferg 3@ fore wifr & st =nfeg, 9erd o6 srrafera ug=m & forg 3@ it gt @ @it gFft, a8 5 km

8?7
Ans X A.25Km/hr

& B.22Km/hr
& C. 20 Km/hr
2< D.18 Km/hr

Question ID : 54062619334

Q.15 FR=fafaa ar urw g aut & A9 Tsal & U (T g9TR & #) & 3T &t g2far g1 19913

1992 <k Uit # Iaure & ufaerd sl fha-i &2 N
6 *
Ans X A.100 ufasea 360
2< B. 75 ufasrd (\(b
& C. 50 ufaera A{O
X D. 150 wfderd \2\(0\
$ ’ Question ID : 54062619349
QD

Q.16 HSIGI! T Yeh g 5 6 H Yok hrf ORT o TehelT 81 Gfoh Tig A & 3 A9 @ W §, 39fog 32
Rl gRT e | 3 SifaReh ©e w111 I1eh Ty | Heigg] <l I Heewn o 82

Ans o A8
X B.6
X c.5
X D.10

Question ID : 54062619337

Q.17 & ¥ermiEai A 3R B Teh gt fem & amn o 36t €, stfohet It A, 3ot B & 100 km 31t 81
Yermfeat A 3k B Y mifer shwsr: 90 km/hr 3R 110 km/hr @1 foha Toa & a1 ¥l B It
A @ 3 Ryeret sT@Eft?

Ans X A 6dX
X B8
X C.4uR
o D.5HEE

Question ID : 54062619335
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Q.18 36 \vIgR 20 =T & SR aF T &1 THIH YRT TR Fehdl &1 IEI TH U 1 AT R e fT,
Afera 5 feT & e, 18 3R AeTgy 59 NfA gQ | o1a LR S & FIH HI guT A J 7SIl i
3R fohat o eriti?

Ans o A 10RF
X B.15f=
X co12f=
X D.18 =

Question ID : 54062619339

Q.19 ga fremera & werm 106 & s & fAg 9r sigym A, B, C $iik D §1 Fafaf@a arferenr sardt
3R anfifer gdtemrsit o1 afRoms gifdt 81 9 & a1 3t A & gos udten A fFg sIgumT & Sifleraw
Sfiof ufaeEa &2

Ans X A.B

X B.A
Xcc
& D.D

Question ID : 54062619346

Q.20 =1 < A, B iR C T ahrd it x Reft o ave et €1 AR A o B e wrr e it
Ieft ohred aht y Fort & o e weRd €1 C srehet forert Rt & wryot st ot gRT e wehert &7

Ans X A x/(y+x) 5O
X B.y/(yx) (\fb
X C.xy/(y+x) ﬁf(}
f D. XY/(y-X) %%K
$ ‘ Question ID : 54062619340
QO
“‘

Section : General English1

Q.1 Select the word that is closest in meaning (SYNONYM) to the word given below

Loquacious
Ans X A.lrrelevant
75 B. Relevant
#5 C. Coerced
«# D. Talkative

Question ID : 54062619371
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Q.2 The question below consist of a set of labelled sentences. Out of four options given, select
the most logical order of the sentences which form a paragraph.

Former Indian cricket player Sachin Tendulkar is considered one of the greatest batsmen in
the history of this sport.

P. In 2005, he became the first cricketer to score 35 centuries (100 runs in a single inning)

in Test play.

Q. Introduced to cricket at age 11, Tendulkar was just 16 when he became India's youngest
Test cricketer.

R. Sachin Tendulkar was born April 24, 1973, in Bombay, India.

S. In 2008, he reached another major milestone by surpassing Brian Lara's mark of 11,953

Test runs.

Tendulkar took home the World Cup with his team in 2011, and wrapped up his record-
breaking career in 2013.

Ans X A RSQP
« B.RQPS
X C.RQSP
 D.RPQS

Question ID : 54062619365

Q.3 Select the word that is closest in meaning (SYNONYM) to the word given below

Venial
Ans X A. Major

5 B.Intolerable
" C. Pardonable
25 D. Genial

Question ID : 54062619369

Q.4 Fill in the blank with appropriate word.

news! We have raised another round of successful crowd funding.
Ans X A. Detrimental

< B.Bane
#< C. Petrichor
" D. Tremendous

Question ID : 54062619361

Q.5 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error'.

The functions of his coronary (1)/ arteries have been declining gradually (2)/ since the last
3 weeks. (3)/ No Error (4)

Ans X A.No error
75 B. The functions of his coronary
4# C. since the last 3 weeks.

2% D. arteries have been declining gradually

Question ID : 54062619356
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Q.6 Fill in the blank with appropriate word.
The company decided to its big plans for the new corporate project.
Ans o A unvell
< B. conceal
< C. expend
25 D. devise

Question ID : 54062619363

Q.7 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.

The tension in the room (1)/ was palpable, it could almost (2)/ be physically felt. (3)/ No
Error (4)

Ans X A. be physically felt.
«# B. was palpable, it could almost
25 C. No error

< D. The tension in the room

Question ID : 54062619354

Q.8 Select the word segment that substitutes (replaces) the bracketed word segmé\’Qorrectly
and completes the sentence meaningfully. Select the option 'no correction rq’ired' if the
sentence is correct as given. O

(Public funds are designated) for the construction of new highways pbp\'bned to stimulate

tourism. {0(\

Ans X A.Public funds will have been designated 6
25 B. No corrections required (b

4” C. Public funds were designated $ .
#< D. Public funds would have been designa@

Question ID : 54062619357

Q.9 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.

The ideologies and principles (1)/ of his majesty are the cornerstones (2)/ up on which this
great nation is built. (3)/ No Error (4)

Ans X A. The ideologies and principles
25 B. of his majesty are the cornerstones
«# C. up on which this great nation is built.

< D. No error

Question ID : 54062619355
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Q.10 Select the word segment that substitutes (replaces) the bracketed word segment correctly
and completes the sentence meaningfully. Select the option 'no correction required' if the
sentence is correct as given.

(It was either a case of pneumonia nor a case of SARS), the doctors just couldn't figure out
which.

Ans X A It neither a case of pneumonia or a case of SARS
#< B. It either a case of pneumonia nor a case of SARS
25 C. No corrections required

4" D. It was either a case of pneumonia or a case of SARS

Question ID : 54062619360

Q.11 The question below consist of a set of labelled sentences. Out of four options given, select
the most logical order of the sentences which form a paragraph.

World War Il, also called Second World War, a conflict which involved virtually every part of
the world during the years 1939-45.

P. The war is considered the bloodiest conflict, as well as the largest war, in history.

Q. The war was in many respects a continuation, after an uneasy 20-year hiatus, of the
disputes left unsettled by World War I.

R. The leading themes include, political takeover in 1933 of Germany by Adolf Hitler and the
Nazi Party, which ruthlessly promoted an aggressive foreign policy in violation of the
Versailles Treaty of 1919, Japanese militarism against China, Italian aggression against
Ethiopia, and the success of Germany in forming an agreement with the Soviet Union in
August 1939 to divide up Eastern Europe.

S. The principal belligerents were the Axis powers—Germany, Italy, and Japan—and the
Allies—France, Great Britain, the United States, the Soviet Union, and, to a lesser extent,
China.

The death toll count reached some 40,000,000 - 50,000,000 effortléssly dwarfing its
predecessor.

Ans X A SQPR
«" B.SQRP
2 C.SPQR
2 D.SRPQ

Question ID : 54062619368

Q.12 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.

His beloved (1)/ clarinet which he had since his childhood (2)/ was stolen from his school.
(3)/ No Error (4)

Ans  # A clarinet which he had since his childhood
25 B. His beloved
< C. was stolen from his school.

25 D. No error

Question ID : 54062619353
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Q.13 Select the word segment that substitutes (replaces) the bracketed word segment correctly
and completes the sentence meaningfully. Select the option 'no correction required' if the
sentence is correct as given.

The most provocative, (if as yet inconclusive), discoveries, all stem from the pioneering
exploration of a tiny 1.4 kg universe: the human brain.

Ans X A as of yetinconclusive
2 B. has as yet inconclusive
" C. No corrections required

< D. whether as yet inconclusive

Question ID : 54062619358

Q.14 Select the word that is opposite in meaning (ANTONYM) to the word given below

Anodyne
Ans X A. Anaesthetic
" B. Painful
< C. Filter
75 D. Palliative
Question ID : 54062619370
Al
\\
Q.15 Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. t the
option that gives the correct sequence in which these parts can be rearr: to forma
meaningful and grammatically correct sentence. 3

But if the Order (\(b
>

P. had now become a superfluous anachronism, 6
Q. disposed of, and o)
R. it had still to be

S. this was no $ .
easy task. §
Ans X A PSQR

< B.PRSQ

75 C.PSRQ

«” D. PRQS

Question ID : 54062619367

Q.16 Fill in the blank with appropriate word.

The speech the tragedies of the suffering and the needy.
Ans X A.scored

< B. secluded
+" C. underscored

25 D. over scored

Question ID : 54062619362
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Q.17 Fill in the blank with appropriate word.

The motion to release the accused on bail met with a strong from the
prosecutor.

Ans X A. declaration
25 B. dubious
o C.demur
25 D. dominion

Question ID : 54062619364

Q.18 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.

It is about time that (1)/ the people of this country (2)/ understand which side of the line
they stood on. (3)/ No Error (4)

Ans X A.No error
7% B. the people of this country
«" C. understand which side of the line they stood on.

25 D. ltis about time that

Question ID : 54062619352

Al

and completes the sentence meaningfully. Select the option 'no correctio uired' if the

\\
Q.19 Select the word segment that substitutes (replaces) the bracketed word se @nt correctly
sentence is correct as given. Sg

(The labourer’s protest against the corporates) for not conforming% the safety and
security proved successful and yielded a more secure work en ent for everyone.

Ans X A. The labourer's protest with the corporates (bg
«" B. The labourers’ protest against the corporates
#< C. The labourers’ protest with the corporates&
< D. No corrections required $

Question ID : 54062619359

Q.20 Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the
option that gives the correct sequence in which these parts can be rearranged to form a
meaningful and grammatically correct sentence.

The speech was supposed to help

P. him attract more voters

Q. used a negatively

R. when he unknowingly

S. for the party but it all took a sour turn

connoted word.
Ans  # A PSRQ
< B.PRSQ
X C.PSQR
725 D.PQRS

Question ID : 54062619366
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Section : General English2

Q.1 Four words are given, out of which only one word is spelt correctly. Choose the correctly
spelt word.

Ans  # A Paramour
< B. Paramorue
25 C. Paramoure
25 D. Paramuor

Question ID : 54062619374

Q.2 Select the word that is opposite in meaning (ANTONYM) to the word given below
Pagan
Ans o A Religious
75 B. Courageous
2 C. Sacrilegious

#< D. Matins
Question ID : 54062619372
Q.3 Four words are given, out of which only one word is spelt correctly. Choose the ctly
spelt word. 6 .
Ans  # A Coquette 60

75 B. Cuqoette 5
&

< C. Coquete (b

< D. Coqquete 6

\2\’(}

$ N Question ID : 54062619378

Q.4 Select the word that is closest in meaning (SY@M) to the word given below
Epistle
Ans X A Fable
" B. Letter
< C.Feeble

25 D. Hymn

Question ID : 54062619373

Q.5 Select the most appropriate meaning of the given idiom

A fair crack of the whip.
Ans X A. To be anxious
«# B. The same chance as other people to do something

#< C. Characteristics of one's ancestors.

25 D. To restrain

Question ID : 54062619382
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Q.6 Select the most appropriate ‘one word' for the expressions given below

In a way that is experienced in the imagination through the actions of another person.
Ans  # A Vicariously
< B. Hyperbole
25 C. Neurotic

#5 D. Quixotic

Question ID : 54062619383

Q.7 Select the most appropriate meaning of the given idiom

To fly off the handle.
Ans X A.To lose one's hope
#< B. To lose one's pride
75 C. To send one away

«# D. To lose one's temper

Question ID : 54062619379

Q.8 Four words are given, out of which only one word is spelt correctly. Choose the correctly

spelt word. Q
Ans X' A. Poutporri N\

" B. Potpourri 60
2 C. Potpouri (05

#< D. Poutpourri

(0 Question ID : 54062619377

\ .

Q.9 Four words are given, out of which only one wor: pelt correctly. Choose the correctly
spelt word.

Ans  # A Odyssey
< B. Odysey
< C. Odyseey
25 D. Oddysey

Question ID : 54062619375

Q.10 Select the most appropriate ‘one word' for the expressions given below

The practice of eating the flesh of one's own species.
Ans & A Cannibalism

< B. Polyglot
25 C. Herbarium
X D. Parasite

Question ID : 54062619386
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Q.11 Select the most appropriate meaning of the given idiom
To be at daggers drawn.

Ans X A. To be a strong enemy

#5 B. To be the better enemy

#< C. To be a coward enemy

4" D. To be in a state of open hostility

Question ID : 54062619380

Q.12 Select the most appropriate ‘one word' for the expressions given below
A person of humble origin who has gained wealth and/or influence.
Ans  # A Parvenu

< B. Ramify

X C.Decree

< D. Taut

Question ID : 54062619384

Q.13 Select the most appropriate meaning of the given idiom
To be in abeyance. 'Q
Ans & A Tobein suspense \06 :
25 B. To bein fear O

2 C.Tobein pain .Q
>

#< D. To be in a difficult situation 6

\2\ Question ID : 54062619381

&

N\
Q.14 Four words are given, out of which only one w@is spelt correctly. Choose the correctly
spelt word.

Ans X A.Indeminify
¥ B. Indemnify
5 C. Indemnifie
25 D. Indiminify

Question ID : 54062619376

Q.15 Select the most appropriate ‘one word' for the expressions given below
A person who has an obsessive desire for power.
Ans X A.Sinomaniac
" B. Megalomaniac
< C. Hypomanic
#< D. Kleptomaniac

Question ID : 54062619385
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Q.16
Ans

Comprehension:

Read the following passage carefully and answer the given questions.

Every day, since 1904, staff at the Kodaikanal Solar Observatory in Tamil Nadu have aimed
their telescope at the sun, freezing the images in its disc. This data, spanning a hundred years
and more.

Apart from use in academic studies of long-term behaviour of the sun, the data can be used
to better understand sunspot activity which impacts climate and affects telecommunication
systems. It also throws light on major events in the past which had an impact on the earth’s
magnetic field. “From that knowledge we may understand the current and future events with
greater precision. This also allows us to predict future [sunspot] activity levels with better
accuracy,” says Dipankar Banerjee, IIAP, the Principal Investigator.

While ‘spectroheliograms’ were taken at the Kodai observatory since 1902, it was in 1909 that
the data was used to discover the Evershed effect — that gases in the sunspots flowed
radially outwards. The discovery by John Evershed put the KSO at par with the best
observatories in the world. But its importance eventually declined as it was not upgraded or
maintained.

The data is unique not only in that it spans a hundred years, but that there are three sets of
images, taken using different filters — White light, H-alpha and Calcium-K. It is known that the
sun has a layered structure, and each of these data sets exposes a different layer.

Under white light filtering, the sun’s photosphere and the sunspots are visible, while the
Calcium-K light can show layers some 2,000 km above this, in the chromosphere. The H-alpha
images show up layers a little above the Calcium-K images. Features called “filaments”, which
are related to large expulsions of material from the sun’s surface, can be viewed in the sets.
The data was historically archived in photographic plates and film. After the digitisation, the
images are preserved in high-resolution digital format. “We store it in FITS [flexible image
transport system] which is the most commonly used digital file format,” clarifies Dr Banerjee.

SubQuestion No : 16

According to the passage, which of the following statements is incorrect?

25 A. The white light filter exposes the photosphere of the sun where the sunspdts are
visible.

75 B. Feature known as “Filaments”, are related to large material expulsjons’from the sun’s
surface.

«# C. Each image taken of the sun by the Kodaikanal Solar Obse{atory is taken by using
all three filters to expose different layers of the sun.

< D. The Kodaikanal Solar Observatory has started functjening at least since 1902 or
earlier.

Question ID

: 54062619392
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Q.17
Ans

Comprehension:

Read the following passage carefully and answer the given questions.

Every day, since 1904, staff at the Kodaikanal Solar Observatory in Tamil Nadu have aimed
their telescope at the sun, freezing the images in its disc. This data, spanning a hundred years
and more.

Apart from use in academic studies of long-term behaviour of the sun, the data can be used
to better understand sunspot activity which impacts climate and affects telecommunication
systems. It also throws light on major events in the past which had an impact on the earth’s
magnetic field. “From that knowledge we may understand the current and future events with
greater precision. This also allows us to predict future [sunspot] activity levels with better
accuracy,” says Dipankar Banerjee, IIAP, the Principal Investigator.

While ‘spectroheliograms’ were taken at the Kodai observatory since 1902, it was in 1909 that
the data was used to discover the Evershed effect — that gases in the sunspots flowed
radially outwards. The discovery by John Evershed put the KSO at par with the best
observatories in the world. But its importance eventually declined as it was not upgraded or
maintained.

The data is unique not only in that it spans a hundred years, but that there are three sets of
images, taken using different filters — White light, H-alpha and Calcium-K. It is known that the
sun has a layered structure, and each of these data sets exposes a different layer.

Under white light filtering, the sun’s photosphere and the sunspots are visible, while the
Calcium-K light can show layers some 2,000 km above this, in the chromosphere. The H-alpha
images show up layers a little above the Calcium-K images. Features called “filaments”, which
are related to large expulsions of material from the sun’s surface, can be viewed in the sets.
The data was historically archived in photographic plates and film. After the digitisation, the
images are preserved in high-resolution digital format. “We store it in FITS [flexible image
transport system] which is the most commonly used digital file format,” clarifies Dr Banerjee.

SubQuestion No : 17
What is the reason for taking three different images of the sun?

«” A. Because sun has a layered structure and each of these filters expose a tiifferent
layer.

< B. Because the different filters create for an overall better data image:
2% C. Because the data is unique and spans over a hundred years.

25 D. Because features called “filaments”, which are related tq latge expulsions of material
from the sun's surface, can be viewed in the sets.

Question ID

: 54062619391
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Comprehension:
Read the following passage carefully and answer the given questions.

Every day, since 1904, staff at the Kodaikanal Solar Observatory in Tamil Nadu have aimed
their telescope at the sun, freezing the images in its disc. This data, spanning a hundred years
and more.

Apart from use in academic studies of long-term behaviour of the sun, the data can be used
to better understand sunspot activity which impacts climate and affects telecommunication
systems. It also throws light on major events in the past which had an impact on the earth’s
magnetic field. “From that knowledge we may understand the current and future events with
greater precision. This also allows us to predict future [sunspot] activity levels with better
accuracy,” says Dipankar Banerjee, IIAP, the Principal Investigator.

While ‘spectroheliograms’ were taken at the Kodai observatory since 1902, it was in 1909 that
the data was used to discover the Evershed effect — that gases in the sunspots flowed
radially outwards. The discovery by John Evershed put the KSO at par with the best
observatories in the world. But its importance eventually declined as it was not upgraded or
maintained.

The data is unique not only in that it spans a hundred years, but that there are three sets of
images, taken using different filters — White light, H-alpha and Calcium-K. It is known that the
sun has a layered structure, and each of these data sets exposes a different layer.

Under white light filtering, the sun’s photosphere and the sunspots are visible, while the
Calcium-K light can show layers some 2,000 km above this, in the chromosphere. The H-alpha
images show up layers a little above the Calcium-K images. Features called “filaments”, which
are related to large expulsions of material from the sun’s surface, can be viewed in the sets.
The data was historically archived in photographic plates and film. After the digitisation, the
images are preserved in high-resolution digital format. “We store it in FITS [flexible image
transport system] which is the most commonly used digital file format,” clarifies Dr Banerjee.

SubQuestion No : 18

Q.18 Prior to the digitisation of the data, how was the solar imagery data stored?

Ans

" A. It was stored using photographic plates and films.
< B. It was stored using a high-resolution analogue format.
5 C. It was stored using a high-resolution digital format.

25 D. It was stored using F.1.T.S.
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Q.19

Ans

Comprehension:
Read the following passage carefully and answer the given questions.

Every day, since 1904, staff at the Kodaikanal Solar Observatory in Tamil Nadu have aimed
their telescope at the sun, freezing the images in its disc. This data, spanning a hundred years
and more.

Apart from use in academic studies of long-term behaviour of the sun, the data can be used
to better understand sunspot activity which impacts climate and affects telecommunication
systems. It also throws light on major events in the past which had an impact on the earth’s
magnetic field. “From that knowledge we may understand the current and future events with
greater precision. This also allows us to predict future [sunspot] activity levels with better
accuracy,” says Dipankar Banerjee, IIAP, the Principal Investigator.

While ‘spectroheliograms’ were taken at the Kodai observatory since 1902, it was in 1909 that
the data was used to discover the Evershed effect — that gases in the sunspots flowed
radially outwards. The discovery by John Evershed put the KSO at par with the best
observatories in the world. But its importance eventually declined as it was not upgraded or
maintained.

The data is unique not only in that it spans a hundred years, but that there are three sets of
images, taken using different filters — White light, H-alpha and Calcium-K. It is known that the
sun has a layered structure, and each of these data sets exposes a different layer.

Under white light filtering, the sun’s photosphere and the sunspots are visible, while the
Calcium-K light can show layers some 2,000 km above this, in the chromosphere. The H-alpha
images show up layers a little above the Calcium-K images. Features called “filaments”, which
are related to large expulsions of material from the sun’s surface, can be viewed in the sets.
The data was historically archived in photographic plates and film. After the digitisation, the
images are preserved in high-resolution digital format. “We store it in FITS [flexible image
transport system] which is the most commonly used digital file format,” clarifies Dr Banerjee.

SubQuestion No : 19

According to the passage, which of the following statement is incorrect about the data
collected from Kodaikanal Solar Observatory?

" A. According to Dipankar Banerjee, this data will help us postulate the effects of
sunspot activity with greater precision.

5 B. It can be used for academic purposes to understand the long-term*behaviour of the
sun.

5 C. To better understand the sunspot activity of the sun which/impacts the climate and
affects the telecommunication systems.

25 D. It provides us with an enriched understanding of majer events which had an impact
on the earth’'s magnetic field.
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Comprehension:
Read the following passage carefully and answer the given questions.

Every day, since 1904, staff at the Kodaikanal Solar Observatory in Tamil Nadu have aimed
their telescope at the sun, freezing the images in its disc. This data, spanning a hundred years
and more.

Apart from use in academic studies of long-term behaviour of the sun, the data can be used
to better understand sunspot activity which impacts climate and affects telecommunication
systems. It also throws light on major events in the past which had an impact on the earth’s
magnetic field. “From that knowledge we may understand the current and future events with
greater precision. This also allows us to predict future [sunspot] activity levels with better
accuracy,” says Dipankar Banerjee, IIAP, the Principal Investigator.

While ‘spectroheliograms’ were taken at the Kodai observatory since 1902, it was in 1909 that
the data was used to discover the Evershed effect — that gases in the sunspots flowed
radially outwards. The discovery by John Evershed put the KSO at par with the best
observatories in the world. But its importance eventually declined as it was not upgraded or
maintained.

The data is unique not only in that it spans a hundred years, but that there are three sets of
images, taken using different filters — White light, H-alpha and Calcium-K. It is known that the
sun has a layered structure, and each of these data sets exposes a different layer.

Under white light filtering, the sun’s photosphere and the sunspots are visible, while the
Calcium-K light can show layers some 2,000 km above this, in the chromosphere. The H-alpha
images show up layers a little above the Calcium-K images. Features called “filaments”, which
are related to large expulsions of material from the sun’s surface, can be viewed in the sets.
The data was historically archived in photographic plates and film. After the digitisation, the
images are preserved in high-resolution digital format. “We store it in FITS [flexible image
transport system] which is the most commonly used digital file format,” clarifies Dr Banerjee.

SubQuestion No : 20
Q.20 Where is the Kodaikanal Solar Observatory situated?
Ans X A. Karnataka

#< B. Andhra Pradesh
«# C. Tamil Nadu
2 D. Telangana
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Comprehension:

fferfea Terier et eagdes ufeq ok 5T Ty usif & SR S|

TR U 1T 18T Foreht T GO~ a1 T-U=Td st # chl ST Aehdll 811 §H St $© Y ahd & 398
BHARY TRl I TeTeh gIdlT &1 ST H, Tpfd ST o1 Geh aRiehT & 3R T d<ienT Afedl O STHT gle 39
TETST ST g & foed g9 o o €)1 gafr, O gnrer § g 31 gu € SOt et gar TR g
Y 31U Sfea § §H St UhR STHT X 36 & I8 HI ST UXpId 3T 7T I STd & SR 7 oh &G 89
3 IS oh T U TEpfdt i forTera oft a1t Ham & forg ®ig Sird &1 4foy, Ueepfd a8 @i
AT STl & S §HR IR Sfied ot et g & T foradht o ok faema | sries afedt & srgval &1 gry
&1 TSP gART o1 TH-SHIaR dd el | 31U Tl Yeh ATHRUT Shelad ¢ foh foIeent ST 9%hR &,
TG 391 &1 Gs off g1 8| T¥ehR IT TEp(d, S1eet #, RIR ol @], STeHT 2T 0T & SR Fafch Fear
hr It & gART Hee R & A1 g e ST 8, a9 o gAR Teepfd T UeTa gAY ST 3 9Ty -
STHTAR deh TIeldT BT 8l
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THTST ST g1 & fSad g9 o o €1 gafry, O gwrer § g A1 gu E-39dh It gar Tfa g
Y 31U Sfa § §H St UhR STHT X 36 & a8 HI SR UXpid T SR ST & SR 7= oh a1G 89
31 gl & AT STt Tepfar Y ferrard off sroeht T o foy Bl wid & | 3ufoig, TR ag i
AT STt & S §HR IR Sfie ot et g & T foradht o iR f&ena | sries afedt & iyl & gry
&1 TP gART o] TH-SHIaR dd el 8| 31U+ Tl Yeh TTHIRUT heTad g foh foreent ST 9%hR &,
T 397 &1 Gst off EYaT &1 TEehR a1 SWp(d, S1eet H, RIR T g1, STeHT 2T 0T & SR Fafch gear
& I & gART Tefer RR & 6T 8 @ ST 8, 79 AR Tl 1 weTe §HRY ST & 61y S -
SR dh TerdT 3§l gl
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TETST § ST g & s g9 o o €)1 gafr, o gnrer § g 3T g € SO It gar TR 8
T 31U Sfe § §H St UhR STHT X 36 & I8 HI ST UXpId 3T 7T I SITd & SR 7 oh &G 89
31 IS oh T ST TXpfcl i forTerd oft 7ot Tt o forg ®ig T &1 4foiy, Ueepfd ag @i

A STt & St gHR TR Sfia Y g gQ @ T forreht w9 ofR e # e Al & srgal o gty
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TG 391 &1 Gst off giaT ¢ 1 T¥ehR a1 SEpid, S1eet H, RIR ol @], STeHT &l 0T & SR Safch Fear
hr It & gART Hee R & A1 g e ST 8, a9 +ff gAR Yeepf T UTa gAY ST 3 9Ty S6-
SR deh IoidT 8T 8l
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Section : General Ability1

Q.1 frfafRe sjaer d g ue J1d &3
V3X,______,P9R, M120

2 A.R6U

< B.S6V

X< C.Q6V

«" D. S6U

Ans

Question ID : 2752286037

Q.2 ﬁqwﬁaﬁ-ﬁﬁﬂ%ﬂqwﬁ@aaﬂéﬁﬁmélmaﬁ,wha??bézézaqaﬁrmgqﬁél
I faehred 1 90 & Sit 39 9 ST 21 *

Ans X A2 (&
o &
X C. e Q)
X D@z $

Question ID : 2752286040

Q.3 39 SIS @1 g e St v A &) 7 S @ g v @ Se6fda g1
orer:aist o ?

o A 3T

< B.oiff: ggm

X C. A R

2 D. fera: g

Ans

Question ID : 2752286044
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Q.4 39 NS &1 9= B3 it v A & 7 S @ g9 v @ &6 A g
IRX :KUB ::?
Ans X A.QCK:O0XM
& B.HMW : JPZ
X C.BRK:FUL
«" D.MUD : OXH

Question ID : 2752286045

Q.5 uf wR N 8, 99 TG 8, TR Aislhe g, wrsfhe ara 8, =ra gang sigr 8, gand sierst
gellarieR ¢, gellaier dermst &, at fA=farf@ra & @ = ar ufkags -t A swwre forar s
Tehell &2

Ans X A demet
7< B. gcflepiex
" C. 5a1s STgrst
& D.A@

Question ID : 2752286046

Q.6 faq g faereul & @ &= ves fAfSa a8as @ gur= &1 grifen, @ﬁmmeﬁwaﬁmaﬁél
39 farered o1 T99 &SIt 31T @ 31T 2l

Ans  # A.DX:GU
& B.MC:IG 3

X Cc.QL:MP @Q
X D.KP:GT 6

\2\ Question ID : 2752286041

§.

Q.7 PR sjae & ere o T O
A1,PV,B,E
Ans X AP
X B.V
« C.B
X D

Question ID : 2752286034

Q.8 fy g fasmeal & @ = wer AfYa adteh @ guT= )1 g1eiifen, Uah faerea or=g i1 Y awg =8l &1
39 frered h1 T99 &SI 31T @ ST 21

Ans X A &
X B. Rftre : srgdta
o C. a1t : fasyfaenera
< D. FeAThR : A=

Question ID : 2752286038
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Q.9 fg g fasmeal & @ =1 ger AfYa adtah @ a1 1 gTeiiten, Uah faerea or=a it Y avg =gt &1
39 frehed hT T &SIl 31T & ST 21

Ans  # A YAC
#< B.ECA
#< C.FDB
#< D.JHF

Question ID : 2752286039

Q.10 fa=afaf@d st aifehes o A maf@d &3

1. 99
2. Tt
3. 9UwF
4. 59
5. fepaniz

Ans X A.1,53,4,2
o B.4,2531
X C.4251,3
X D.1,3,54,2

Question ID : 2752286050
\‘Q

Q.11 v Rfga@is s d, AS)
2351 okt o @ grapes are very sour SO
4359 &1 31f @ these are the grapes fb
3851 @1 31 @ grapes are very healthy Q}(\

very & forg sz aam 82
Ans X A5 \br&ﬁ

X B.8 $
X c.3
Q)

D1

Question ID : 2752286049

Q.12 39 frerea o1 Tg+1 A3 St R g & IE ueh1z & Hafda @ fore uehR @ govr ug uget ue &
Hafda gl

EHK :ILO ::DQW :?
Ans  # A HUA
& B.GTN
< C.ESB

2 D.IVB

Question ID : 2752286042
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Q.13 af¥ FLAMINGO & AMFLNGOI & & & if3d farar mar &, it PANDEMIC & farg s @ @2
Ans X A.CMIPEDNA

" B. NDPAMICE
#5 C. ANDPCMIE
< D. DNPMIECA

Question ID : 2752286048

Q.14 3w+ wyfa @ ster 8, Afra AR o st 78 81 e 99 @ st ¢, Afrrwfad dan g1 aa
# gt Ster wF8?

Ans o A TS
< B. 3
X c.ém
X D. fidw

Question ID : 2752286051

Q.15 fr=fef@e siar sjaen &t g1 &%

HGF, MLK, RQPWVU, ________

Ans X A ACY

X B.CDW \Q

. &
«" C.BAZ 360
2 D.DCX o3
Q
>
6 Question ID : 2752286036
D0

Q.16 PrafafRa sjaen § qw ue 718 &% &3

DF HJ,LN, ______ ,TV $
Ans o A PR

X B.PT
X C.NQ
X D.MP

Question ID : 2752286035

Q.17 39 fashea &1 7a= o3 ot e ug @ I veriR & aifda @ e R @ 5w ug ugdt ug @
Hafada gl
ThgreaR : O guter: ?
Ans o A G
& B.7e
X C. et
X D. g

Question ID : 2752286043
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Q.18 wi A=Ay & ahgt, "gH A8 AT & Far & gra1g & R g7 Ty wrht § F Se6fda g, afy
iy Y ATar & S urs-gga Al 22

Ans X A fuar
< B. grelm
X C.da
o D. o

Question ID : 2752286052

Q.19 siwifer, fafgam, arefi ofir e erom awr= i gormn aa &1 siwifer 3R fafgem &1 gt fAemaw
ToT, TTAT 3R EY&IT & et FAITRR It o SRTeR &1 s fafgem o= dYerm o1 et AeTaRR
gorH, sivifer sfiR arell & et fAreTeR? ot @ aifres 81 siwtfer 1 gor fafgen & oifde g1 woft &
Y fopgent aot9 ad A 87

Ans X A et
X B. fafeam
X C. s
& D. 3l

Question ID : 2752286053

Q.20 af¥ MATCH = 42, BELIEF = 56 &, dt MUSCULAR & forq @itz aram 22

Ans X A.100 Q
B. 90 ‘06
X C.81
&
X D.70 A{0
>
\2\ Question ID : 2752286047
s¥ 2
N
N
*‘)

Section : General Ability2

Q.1 fag g faereut & @ &= ves fAfSa a8a @ gur= &1 graiter, Ueh faerea arg i & avg =1di 21
I faehet 1 Tg & oIt 3R Q ST 21

Ans X A
< B.
< C.
& D.

Question ID : 2752286068

Q.2 f=fafRad & ot ar 3 s afssrd, @St 3R oreg & i & Teie ol Te™t 3t garfar 82
Ans X A

< B.

< C.

« D.

Question ID : 2752286065
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Q.3 39 farerea @1 gga &< ot HEd ofy F I ywR @ H6lda g 5w ver @ @ sfa ussft sfa @
Hafda gl
Ans X A
< B.
< C.
o D.

Question ID : 2752286067

Q.4 uH ® U Y= fear mar €, foreh a1e hréand & &) = | 3R 11 fag g &1 enueRY 391 k=i i
A | &, ¥t gt gg rar=ad: 91d a2 @ 3= udta gt snmuen! ag fAvfa d=n @ fas feg g
Frears & A | & @i A, afE s 8, |t fRg T FHuw T srgaver w3l

HY: WA | arHtor &5 ) fenfla o & fore vgw Ia1g w11+ =nfgal

HIXETE BT ShA:
I: areftor &= A fera wdldes e &t farsteft aer ug= g+t =nfaq
11: Treftor @it A wep sitg=nfes f& vorreft g+t anfgul

Ans X A. had || SFIRUT haT &
2< B. 71 3R A& Il SF¥RUT el §
< C. hael | SIITRUT T &
o D. | 3R || ST SITERUT Fed & \Q

4
60 Question ID : 2752286054

Q.5 & E IR SMTepfl |, IH SMTepfer T A7 F: forad ust spfa ; gl

Ans X A (&A

 B. $
X C.
o &

Question ID : 2752286072

Q.6 af ges gdor Rt I@T MN R @1 7171 g, @t Rt Tt IR airepfar €1 1 arrepfer a1 @t gdor ufafee
2

Ans X A
« B.

xc
X D.

Question ID : 2752286073
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Q.7 " ¥ g ;Y= Ry &, forads are &) fase | 3R 11 fag o &1 sruert 39 Y=l &t I AT+ &,
¥ & gg GrATaa: A1d a2 @ 9= udta @11 smueRt ag fAofa A @ o Ry e fAsepuf d @ &=
a1, afy &td g, at fag g Y=t 1 IFFEROT & 21

HYT 1: gt Uf e wer &1
YT 2: IS heAd Fhard T &1

foreeef |: e foparal O &1
fasenef |11 e Ofde e &1

Ans X A Fac s | SR AT §
7< B. 18R 11 ST Frsere SRERUT e &
o C. Fhae Ry || SR el §
25 D. 71 3R T8 Il fsemed Srgeror e g

Question ID : 2752286055

Q.8 fa=AfafEdd @ &t a1 a9 oA 2R, Aiguafl 3k gt & g & Ty = a9 =1 g2rfar &2
Ans X A.

 B.
X
*xD.
&\Q\ Question ID : 2752286062
5
Q.9 werd &) s Reg g &, R e e v |, 11 3k 11 Rrg g &1 [ N

AT 8, ¥t 8 I JTHT: T1d 92 @ {9 udid 811 enmuen! ag fAofa for feq g faseput
# @ i 1, afg &iE g, dt f{u g Fu=i o1 SIgeRoT e g1

%"(}
HY 1: Gt ARER 3TReTH &l (bg
HY 2: ot ufdNere siTRerw &1

forserf |: o nfNeres ShreR & $

fasenef 11: e oiRers GhiER &l $$

foenef 111: o eiReis ufAersw &

Ans X A Tafi s |, 11 ofR 111 SIgERoT e &
& B. et fsendf || 3R 111 ST aed §
X C. had fsent | ofR 11 SaR0T hed §
7< D. Fhae e | STIERUT T &

Question ID : 2752286056

Q.10 fag g a9 sy d 39 il Y T ) Z2afar mar g fogia o ur &kt &1, diet sl gy @ d
I @1 579 @ foham @il A 3o 'R &) Sheret it SR @ &1/ I 8?

Ans X A.8
o B.6
K C.5
X D.14

Question ID : 2752286063
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Q.11 fa=fef@a § @ o= ot 39 snpfa Oest it ust siapfar a1+ & forg SiteT s Semar 82

Ans X A
X B.
 C.
< D.

Question ID : 2752286070

Q.12 fa=fef@a & @ = o1 foereu sj@en # ea sgpfa 8?

Ans X A ®faB
X B.3RA
X c.sRic
& D.3RID

Question ID : 2752286069

Q.13 fa=ferf@a snepfar |, B farstt o ufafaf A wwar 8, smaa Sshifeast @ ufafaf e e 8,
=1 uraerel ot ufaf=fde @wzar 81 foram foar dhae urase &2

Ans o A3 'Q
X B.4 Ysb’
X C.9 §§)
@
X D.16 Q
{b
\2\(& Question ID : 2752286064

Q.14 #%&qmqwﬁmaﬂmﬂwﬂa?mﬁﬂﬁﬁ@wmmw
18+3+2x10-6=16
Ans X A = 3iR-
X B.+3fR-
o C.+ 3R x
7 D.+ 3R x

Question ID : 2752286059
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Q.15 usr ¥ ek Y= fear mar §, forass arg &Y ah | ok 11 fg e &1 siueht 39 =il el I AT &,
U & gg GrATaa: A1d a2 @ 9= udta 811 smueRt ag fAofa A4 @ fok fiw g aent & @ =,
afg wiE gt, at T 1g HU= 1 SIgER0T FHear 81

HY: T GR 42T H hael Yeh gl UehIR hl har gir afgg?

eh:
1. g, ag a1 & et & = qurear &t aerar &m)
1. =1, 321 & fafa &=t J wg= arat @il Y Seepfar srer- o 81

Ans X A FGdh|RIFITEAE
X B.&ad IF | Tae &
X C.akh | R T Il i qaeT &
o D. A dh || gIT &

Question ID : 2752286057

Q.16 fo=AfoifEra ST sjaer & @1 &3

17,14,19,12,
Ans X A .23
X B.24
X C.22

« D. 21 ’\Q

N~
@Q Question ID : 2752286061

Q.17 wfﬁmmmaﬁﬁﬂhﬁwﬂwﬂmﬁnﬁ;ﬁﬁm%ﬁwm&awmwﬁ

wafta 2 O
| S
50:7:82:? >
Ans X A 12 .
oo &
X C.5 $
X D.18

Question ID : 2752286058

Q.18 fA=faf@a usr &, g @ urd it =R A & 1€ @1 7 a1 e & faudia (T v R e @
Tz ghft?

Ans X A9
& B.4

xc.s8
X D.5

Question ID : 2752286071
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Q.19 PrefofRa S siae F g #:
17,50,149, 446, _______
Ans X A 1467
X B.1783
% C.1252
o D.1337

Question ID : 2752286060

Q.20 fr=farf@a d & o o IR srepfar ust smepfar o siaer ot g el 82

Ans A
/< B.
< C.
< D.

Question ID : 2752286066

Section : General Awareness1 N Q

Q1 @Wqﬁmmgﬁqﬁaﬁaﬁaﬁfﬁmaﬁiﬁﬁﬁﬁaﬂwﬂﬁﬂm
& forg fafra venrr i rarafes ufaferarg enfae gt &1 3
Ans X A USHEH Q
>

o B. Ty
< C. e \2{0&%

< D. uRag $

$ Question ID : 2752286083

Q.2 AT I3 & Uk Aerd rgfgs AigRe S wErT_____ & HgT= 1Al wR smunfa
gl

Ans X A ggAM
X B.IH
" C. o
Z< D. ot

Question ID : 2752286075

Q.3 uehta fAafa-smard e &t ®uTaaT s 6 71 of1?
Ans X A.1975

o B.1982
X C.1970
X D.1996

Question ID : 2752286080
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Q.4 fr=fefRa d @ st a1 & g 9@ MSME (Y84, 9 Td Aead Jen) & foera w FHfea g?

Ans

2 A 9Rd Rerd da

#< B. ¥ HfY 3R ymfior far g
o C. YIRdg g SaT faene dJen
2 D. R Ve d5

Question ID : 2752286078

Q.5 fam=faf@ad @ = afie 2020 a6 Ta@ 3ifde faxiia aote 91 A &1 Repls T@arn 82
Ans X A gdd @
#< B. yurg gsit
& C. ARRSH ard
#< D. fFfer Harme,
Question ID : 2752286079
Q.6 f=afafaad @ wta @ qe1 A 3= Rerrea & uRormaasy a=ed 82
Ans X A &
25 B. arel
o C. 8T .
XD 630
. [
N \Q
8 Question ID : 2752286091
O
Q7 _____________ = GDP (Hehet uve 3a01g) + NFIA (fdar & g & 3TA) |
Ans X A fga i 3@rg \2\
X B.ygwm e N
X C. g g 3@ §

« D. % TE IATG

Question ID : 2752286082

Q.8
Ans

garaet 7€) FPrforfa d @ forg 76t Y ST @2
< A T

X B.#gHd

X C.som

" D. Marad

Question ID : 2752286089
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Q.9 SriaferaTa ge uehR &1 unfifer Ma @ O sraaR Aafdanfad gea ar sifdarfaa e & fag
T Siren g, Rl e ufesa 7 and) g+t 81 ag fPfaf@ad S fravsa d ger @2

Ans o A A TR
X B.gRaron
X C.usme
< D. ITR TR

Question ID : 2752286077

Q.10 fr=forfEa d & o arger AsTdsr & GITUS 47
Ans X A &iehar|

X B.enmfex |
o C. qah |
#< D.peor |

Question ID : 2752286092

Q.11 dtar fF=fafEa | 4 fora wedwfral & of § d@afda d?
Ans o A TfIE
X B. 7 g7 (UrsTEy)
< C. 3R 23
X D.wém P

(50 Question ID : 2752286086

Q.12 o=t & arg a1 '+ M T FEfaf@ad @ fraasa g )aligtma:?r%?
Ans X A HERTE $‘

< B.dHaTg §

# C. TSR

#< D.wem s

Question ID : 2752286074

Q.13 fam=fafEa adfta Sarl & 9 wiq o aforr d fR@T@?
Ans X A S &fde Iga Ia=

«F B. FII SISt TE IaH

< C. Fifam g=gsfig sarvy

X D. TRE I IE

Question ID : 2752286085
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Q.14 dg @ F NS urIA Rl FfFasar g1 en@r RS F vt ______ & 19 @ S
ST 21

Ans o A gf®Uea
5 B. WwHUSA
X c.3Ra
X D.Jg

Question ID : 2752286084

Q.15 e 9t fafaaaa o= fafesr wira & aoft =rareat & adt aur R ufesy o fear o,

Ans X A.1838
& B.1829
% C.1792
2 D.1850

Question ID : 2752286093

Q.16 gzt 3w f=fafaea faafaa & @ foradh &+ & wror glar 82

Ans X A fafagE
X B. Rrefir A \Q
 C.RafD o

X D.frafm ¢ @360

QO

6(0 Question ID : 2752286087
or

Q.17 PreafRrR ot o @ e e it el PTG erra e 22
Ans X A TR o o (SNgis o) $$

X B. Ay w $

X Cc.afFAa=

o D. fomifaaa e

Question ID : 2752286081

Q.18 famferf@a & @ ool Ht Y@ WiRa ofiR uTfeRear &t orerT ahwelt 872
Ans X A fcHiEd @

o B. it 3@

X C.gxug xan

25 D. Beaent 3@

Question ID : 2752286088
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Q.19 MFAF Mar & geh urdufes wites J g, FFafefaa @lerdt § 9 forg & Siwr= forar siran 82
Ans X A gHE IR

«” B. Rrmt &gr
X C. Frfaa
75 D. SepdTT ER

Question ID : 2752286076

Q.20 fam=fof@a & @ fora uda ot "dfRa uda” & wu & off st smrar 82
Ans X A @ugudd

«” B. Sareme} uda

2< C. safe uda

#< D.afed udq

Question ID : 2752286090

Section : General Awareness?2

Q.1 1909 & urfya wha ufwe sfdffmm et ____ #aﬁmﬁumwﬂmm&mml
Ans X A T& sifafram %§

X B. 3de giem 360
X C. fie &1 vRa sifdfaq 003
« D. Tl fidt g @Q

Question ID : 2752286095

\ .
Q.2 aﬁmﬁaﬁﬂmmﬁmwﬁﬂﬁmqqgﬁﬁﬁm%mm?
Ans X A 1946

o B. 1947

X C.1948

25 D.1945

Question ID : 2752286108

Q.3 wist iR AT RIRT & Tgat @ Arg SHIYE HATAT &SGR 9 o sif@e vt
aeh-ithY faer afikwe A S Y FaraR Y eraar @1 gderor A & forg
AT SHTATS TeioT R A |

Ans X A Sfles
« B. Imu=
< C.gfaem
< D. uert

Question ID : 2752286103
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Q.4 fa=efaf@ad @ forg arsu & dfarisd 3 27 ST 2020 =t faen= ufkue & gaTa A &1
T arfa ferar?

Ans X A TERTE
" B. sy ur
X C.Omwer

2 D.afeaTg

Question ID : 2752286102

Q.5 AT FE A fEfafEa § @ o= @ fpara foreft 82
Ans X A TS 3ifh sAfSRRE

2 B. foed g sraf@mm

X C. & aifth 21eh AR

« D. T Ud3d it ueilRd

Question ID : 2752286098

Q6 _________ 1 FAHe IR WIRA & araeERra |t 33« iR farfesr wiea & v awrifas
Jarait & dft= farer | g€ wah o oAt

Ans X A 1919
2 B.1928 \(\
o C.1945 o

X D.1936 @360

6(0 Question ID : 2752286094

Q7 _________ ﬁwmﬁngﬁw,meﬁuwﬁumﬁé\é:ﬂqﬁ-mﬁaﬁz
AUty a1 faarsr= umi $

Ans X A.1932 $$
o B.1907
X C.1885
X D.1918

Question ID : 2752286096

Q.8 fr=fafRa d @ fora e & forg wng s ot Td9is wivegw fasaR & forg sifea fAem?
Ans X A wwEhT fAfemR

2 B. @™

o C. et

2< D. T &9 30T Y <18 A & gfean

Question ID : 2752286097
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Q.9 FeawufrafafRadd frada a g d?
Ans o A BIhI

X B.sa e

X C. frdre

25 D.Mew

Question ID : 2752286113

Q.10 fr=faf@ad @ @Y= ot & arfie 2020 deh iR 19 fErdhe fay wu & gaiw &u w@hiz &1 Repid
@t 87

Ans o A Sifgferr
< B.YRd
X C.3@vg
#< D. gsiteiug
Question ID : 2752286112
Q.11 uRdg Gl arede 29 3iR30_______ | Hafda gl

Ans X A TEFECT S YRR
« B. Tipias ok A aifdapr
25 C. 2nwor & fRers sifder
25 D. Tad=dT T fYhR 60

(50 Question ID : 2752286105

Q.12 fa=ferfEra ufdg NBA f@efeal & @ o= s=ast 2020 & ;ﬁlz?gdzmﬂ‘maﬂm?
Ans X A FfT=Re &.
X B.&Ew H N\
o . e Q@
X D. S grEA

Question ID : 2752286101

Q.13 fa=afaf@a @ @ forg Gaurfaes denty= 3 mitar, ga=1 ok &g ot widiia 99 7 nfae ferar?
Ans X A.189

o B.123
X C.223
X D.53

Question ID : 2752286107
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Q.14 fa=afaf@a d @ forg weiia afg«r 3 siier 2020 e Afg«r 0DI firdhe wiwy A ot 3i1fdek =
FCE?

Ans X A Efd HymT
< B. &ifcy smf
< C. gm i &R
o D. fRareh =

Question ID : 2752286111

Q.15 ety dferers & "earare 3R anforsy &Y w@edsar &Y s ffaf@ad @ fra 2a s
GfgemT @ Iy ot 7€ @2

Ans o A Siigfern
5 B.<gH
25 C.9gh =g
< D. TSl

Question ID : 2752286106

Q.16 fam=faf@a d @ 1= 599 (ISRO) & uge sremer 42
Ans X A dtRrgad

X B.%. 7@ AR R N
25 C. A I o
o
o D. o IR 3
&
*(b Question ID : 2752286099
N

Q.17 ﬁnﬁr@aﬁﬁaﬂqaﬁazozom%ﬁqﬁqﬁﬁmMP\@ﬂwoommGﬁaﬁaﬂ
RepiE wgar &2 ’

Ans X A Tiars Seifag $$
75 B. ISR hewR
o C. THGE STl
& D.gE ¥

Question ID : 2752286110

Q.18 1975 & ferdhe fagy sva & feraet &= 3w foran?
Ans A8

X B.10

X C.14

X D.12

Question ID : 2752286109
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Q.19 fagy snfdies war 6t arfiies S & 5t AfYer uferm uferal st FgEeriar 2020 &F SrgER WA &1 ¥
T 8?

Ans X A.85
% B.54
X C.63
o D.72

Question ID : 2752286104

Q.20 TY=h AY T UgeT 9 gl smaifra farar mar ur?
Ans X ARy

X B. =&

o C. e

25 D.fSRar

Question ID : 2752286100

Section : Arithmetic Ability1

Q.1 qa:aﬁ#moomﬁqa:gzmwﬁamaﬁwaﬁzg@mmzoomt@%m

A STt 1140 FUQ A 5@ 3= fEar| Igen g1f ufara ar 2 &
Ans o A 5T 360
% B.20 ufaaa Qo)
X C.8ufasa *@Q
X D. 16 ufdsrd \2\(&

§ Question ID : 2752286125

Q.2 U fashar srsfm de & fRAfga 7o o= 10 ufeea & ge 3 & arz +ft 10 ufaa @1 @ afSia
e g1 afy ag srsfm de i fashr wr 900 Fug @ @1 oifSfa e &, &t FRAfga gea o 82

Ans X A. 900034y
2 B. 10200 %Y
o« C. 11000 3Ug
 D. 8500 ¥UY

Question ID : 2752286126

Q.3 5 ufazre, 8 ufaera ok 14 uferRra & Hwer Yahd T T 872
Ans X A 25.15ufasd

2 B.26.32 ufdea
«” C.24.836 ufasa
< D. 27 ufaza

Question ID : 2752286119
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Q.4 BTl ot Uek witedr § 3<hof g1 & forg 45 nfsrd ure A &Y srazgerar g1 sifstes &t 120
3ieh fAeTd & 3R 60 3ichl @ fawe g srar &1 udter & forg sifderam ik arT 472

Ans X A.300
« B.400
% C.600
% D. 500

Question ID : 2752286122

Q.5 =g-Taw " T g fesh Z1=1 588 okt 1o faRar st anfge arfer ag ue gof i a2
Ans X A6

X B.9

« C.3

X D.2

Question ID : 2752286114

Q.6 15,17,19,21 ..... 35, 37, 39 @1 SitEd T 87

Ans X A.25
o B.27
xon BN
X D.23 60
&
Question ID : 2752286118
,00

o

Q.7 T&¥TH 10 FUg, 20$waﬁ150méﬁ=ﬂa3:4:5#@@‘?%#&3@?%%&7
1800 Tuq &1 &t 50 FUq i At fi Tw=ar farat 87

Ans X A.30 &&
X B.20 N\

& C.25
X D.15

Question ID : 2752286129

Q.8 T HwATSHT h FYwH THIUAh 3R Ag™H THTUGIh o UTh 216 &1 &1 HEAT3HT i 3R 6
&1 Ty T 87
Ans X A.18,22

X B.28,32
2 C.22,28
& D.12,18

Question ID : 2752286116
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Q.9 " @ HH fohan adf g1= afay fSrad ufar adf 4.5 ufera Y g7 @ 2500 FUQ UR 61 ATUIROT sATH,
JUY hY &A1 T & gHm?

Ans X A.3
& B.2
X C.4
X D.1

Question ID : 2752286132

Q.10 Grirer 3R AS] Y ST T SIFUTA 5 : 2 §1 ITehl aTard ohT 313uTd 13 : 4 &1 AfE I7H & vdas sk
3T ¥ 4000 FUQ @ e @ | ot S i 3 =am 2

Ans X A.20000 3T, 8000 FUY
2< B. 10000 %UY, 4000 TIY
& C.30000 3T, 12000 FTY
2< D. 6000 3T, 2000 FUY

Question ID : 2752286131

Q.11 ATE=AE7:2: 8 & gura & &1 ugelt 3R guH T o1 3ieR 3R gEdt ok et =t &
Y, BT T 90 1 TETY T 82

Ans X A.14,4,16 .
N
X B.21,6,24

X% C.28,8,32 3

o D.42,12,48 Q
ﬁfb
(0\ Question ID : 2752286130

Q.12 Uehs AR Y a1 STAE=ar 70000 g1 ag ufa adf 4 ‘R G Tedt 21 2 adf a1 SEEE
1 ghft?
Ans X A 75752 $

X B.73425
X C.72754
o D.75712

Question ID : 2752286121

Q.13 A & 3 i g A A9 i A1 20 uferra A &1 g & s i A1 FH= @ fope uferrra
HHE?

Ans A 16.67 ufasE
< B.76.23 ufasra
/< C.83.33 ufasra
25 D.25.11 ufasa

Question ID : 2752286124
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Q.14 e foenera & €1 g199 0 - ¥ QU 311X & 70 &, o=+ shaan: 40 8 50 o171 &1 afy T gu
3 ge11 52 kg & 3R s JU &1 a1 45 kg &, @t T+t Ty & o3l o1 oftud aor = @2

Ans o A 4811
X B.43

X C.45
< D.46.55

Question ID : 2752286120

Q.15 200 =fiex & fAsror &, gur ik ur+ft 7 : 3 & srgura & €1 o1 foram ur=it siver sr=n =nfgg anfes g
3tz T+t a7 SrguTe 2 1 1 g sIe?
Ans X A 20cfie®

X B.12 e
o C.10 R
X D. 14

Question ID : 2752286128

Q.16 farshr & forg, ger garTaT? =t uget S1u+ Jeaurel <t g2 H 15 uferra &t gy Fi ofi fRr 15 ufawra
&Y Fe &Y | g1 Y gt A Iael Y &R F ufvad = 82

Ans o A 2.25ufdsd . Q

N\
< B. 1.50 ufazma (=X
< C.2 ufasra 360
X D. 1 vz Qo)

(\
A’b
(b\ Question ID : 2752286123

Q.17 2rEr foreft Semg ur 8 ufarra it ge 3t & sfiz fme TfeIRIe a1 AT SifSTd el 8, ST
& arEafaes a1 T @ afy 39 Iare o fRAfga 200 ¥Uq &2

Ans X A.11803ug
2< B.1104 3ug
2 C.1080 &Y
o D. 960 TUY

Question ID : 2752286127

Q.18 Uk her Ul f&= & forg uar As1gy &t 100 FUQ 1 WFTATH 3l @ 3R AvIgR des fea &
forg 40 Tug @t & & af ag JeF1= 81 30 Rl & sia A, AvTER F 2300 FUY fAera &1 AR
ferem il & forg JepmR u?

Ans X A 8fF
X B.6fem
o C.5RA
X D.7f=

Question ID : 2752286117
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Q.19 uferadf 12 ufdera wR 2 af J ge fAfYa a7 afA R Frenvor sarst 3k weRgicy saTst o1 9iaR 1728
TUq &1 AfA =Far @2

Ans 4 A 120000 %07
2< B. 98000 Y
 C.60000 g
2< D. 12000 Fug

Question ID : 2752286133

Q.20 =M 3R N o1 ur-cher 9/8 &1 af fy M, f9= N &t smmer &, &t f9r= N &1 A & 82
Ans X A 3/4

X B.9/16
X C.9/4
& D.3/2

Question ID : 2752286115

Section : Arithmetic Ability2

Q.1 g wura @@ @ @, 40 km/hr B siterm Ry @ 6% 6 e & e ot Piarereh #1 it R @

T arert @At g1 5 e & arg a4t @ fArerar 81 aafw Y far e 82 \Q%
Ans X A.10 Km/hr SO
#< B.15Km/hr (b
< C.4Km/hr *{0(\
 D.8 Km/hr \2\(&

§ [ Question ID : 2752286138

Q.2 f=fafia aR ws s o aul | g dusl (gST1RT J) ZIv1 el & sarg (kg #) &t
Zarfar 812003 # gU Ieare &Y ger=m | 2009 # hieAT2renl & Iare # ufeerd gfs; o o2
Ans X A 80 ufasa
< B. 60 ufasra
« C. 100 ufaz@
2< D. 120 ufasa

Question ID : 2752286152

Q.3 sifeRa 3iiz umer gek foig & = &wva & ofiR shwsr: 3.5 km/hr 3R 10.5 km/hr i nfar @ fagdia
feamant & e €)1 fopas 9w a1 & Gop-g@R & 77 km & @@ R gh?

Ans # A 54230 fFe
2 B.11 & 10 e
< C.36¢15 e
X D.6He 15 fme

Question ID : 2752286136
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Q.4 1000 7t & sfi=r gep wderor foRaT o AT arfer uar o« 9ok foh d WiRa & gen feasiia fopdhe &9
& T & U A RS 3@ A1gd & | g1 &l hear & 9 & fhaq &t == angd 42

Ans o A 150
< B.120
#< C.350
#< D.250

Question ID : 2752286146

Q.5 &) &I TR 3R e orerT- o1 3 3R 6 fAT d goh A1 1 R Tehel &1 T TR = et @
3R A denfetres f&=t A e e & &t 3 forem f=t & e g1 Rd?

Ans X A.8fH
o B.4fF
X cis5fA
X D.10fe

Question ID : 2752286141

Q.6 famfefEe arfernr e go aul J forft su-it @1 ufeed soa (Fug &) @ gafdt 1 FH
3itaa AfA (Fug &) T @ it Hui t rafY & RIT WFIard AT uSr?

Ans o A 016 @ O
60
X B.98.2 @R 60
X C.84amg 5
&

2 D.96.5ara O

A{O

S

o Question ID : 2752286148

Q.7 msmﬁamm%mﬁar@ﬁwmmmﬁnﬁnm%mu
m‘:ﬁaﬁtmaﬁa&rfm%lmﬁmmﬁaﬁaﬁsﬁaﬁuﬁmﬁmmm,ﬁ%ﬁ
et | 60 ufaera @ HwR sick urwd fopw A | wgTfenera 7 fopan a13f w6t uder fAen?

Ans X A.180

X B.90
& C.100

2 D.70

Question ID : 2752286150

Q.8 wEhgly arfter ®u & 6 ufarre ufer atf fi g3 & 50000 Fug hr wfA Iz &) 7€ 21 3 af ang afy
/T ghfi?
Ans X A 58570.253%UT
< B. 60000 34g
" C.59550.80 34T

#< D.55050.50 ¥Uq

Question ID : 2752286135
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Q.9 fa=fef@a aifore og adta &Y srafd d wigen, afawrse sk @it (gl e #) & fAafa &t
g2t g1 6 7t Y orafd A forafa forg g wrast o1 sitwa gea T uT?
Ans o A.20.16
# B.22.16
2 C.24.33
2 D.20.33

Question ID : 2752286147

Q.10 Tk 319 T # Ih a1 | Qe Mierref ghar g ok 39 2fief oR g 21 glar &1 a1 i s 3.5
m g, i Y Fard 2 m @ 3R S Yy Fand 7 m @1 uRorrht St snepfa @t smaae @ @2 A=l
& Brear gaTa 81

Ans X A 495cum
" B.385cum
2 C.545¢cum
25 D.595¢cum

Question ID : 2752286144

Q.11 Teh AfA W, 2 aef & forg Fremzor sq1sT 200 FUQ &, mﬁ;aaq%wrazosmé‘ &Y=t Araet

# TS &R AT &1 SqTST & T 8?2 R\
Ans X A 8ufderd \Q% .
«” B. 5 ufasa SO
X C. 4 ufaera (\(b
X D.10 ufaera 6{0
\2\"0
$ . Question ID : 2752286134

o

Q.12 A=t A, 18ﬁﬁﬁ@mﬁwmm?|m@ souﬁﬂmﬂﬁa;@am%maﬁquq
a1 et foRe T & gt awem?

Ans X A 15fA
o B.12fF
X coiofa
X D.gf=

Question ID : 2752286139

Q.13 4.2 cm 341 & Qe M HT &) TATT 1T 7 HTeT SATaT &1 TR W T el GEIT Srehet T
&?

Ans X A.332.64sqcm
« B.166.32sqcm
25 C.282sqgcm
< D.189.36 sqcm

Question ID : 2752286145
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Q.14 Gf= vesf (Irftherer Rusieer) 6t eiferiOaar &1 udr o= & forg ger Sdaror farar mar Ui
el BT o fehaat uferd &Y IR I geis 82
Ans X A 20 ufagea
«" B. 30 ufaz@
75 C. 50 ufasra
< D. 45 ufasa

Question ID : 2752286151

Q.15 ek &hl &l wRA & forg faf s aama & =1 ursal &t shwen: 40, 30 3R 24 A v &1 afE g
=it ursyl <Rt ek ATy G SiTan g, ot & foran fame | ar srafi?

Ans X A 16 faFe
 B.10fiFe
X c.8fe
X D.18 e

Question ID : 2752286140

Q.16 ek 20 T ST T § foeent aa19 12.6 cm R FA1E 4.9 cm 8?

Ans X A.404.126 cucm .
N

< B.104.652 cucm (=X

25 C.254.236 cu cm 360

o« D.203.742 cu cm (\(b

{0
\ Question ID : 2752286143
X0

Q.17 fﬁmﬁf@am&mwaggawm##sﬁhaﬁﬁ@ﬂ\%amaﬁaﬂméluﬁﬂﬁaﬁaﬁ
Reareft aifremsr & s 100 s firerd &, # Rrer it =t Reareft wrearg & oot wranfees
m(aﬁmwaﬁa)#mﬁasommm@mﬁaﬁﬁ?

Ans X A.180

X B.150
X C.200
" D.185

Question ID : 2752286153

Q.18 &t atwa fore ofiz ST &% gag AT 2 km/hr 3R 3 km/hr &Y 7ifar & G919 ©ft ST vl €1 ST
gR2 15 AT 3 & S &1 7= e @ oiR foRm & 15 e ugs a9ma el 81 s golg
ST el THa udeh foRarit gft o e 82

Ans o A.3Km
& B.5Km
X C.6Km
X D.10Km

Question ID : 2752286137
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Q.19 12 g=ui 3z 10 Afgemsil grwr g e 3 fa=t d g1 foram <11 wemar 8, o 6 goul ok 8 Afgersit
a1 5 f=t & gxr foram i1 wemar @1 afy 3 gew ofir 5 Afgend gas w1y e &R €, 4t A fRem
fot F vt g1 R

Ans X A.18f=
X B.14fA
o C.Of
X D.24fF

Question ID : 2752286142

Q.20 urg =ré af 2010 & gt fafva Dt wr g werfaenea & e &t g2far 81 wgifeenaa Gt
WR 400000 YT W AT g1 Feald, aqMihedie 3R Rih R @< Y 7 0fA |, e, ke
3R ¢ R @ it 1 af @ T g T 82

Ans X A.3:2
X B.4:5

X C.8:9
& D.8:17

Question ID : 2752286149

6.
o

Section : General English1

Q.1 Select the word that is closest in meaning (SYNONYM) to th{@% given below

Subterranean 6{0’
o

Ans  # A. Underground

< B.Overt $.

< C.Terrestrial $
25 D. Subcutaneous $

Question ID : 2752286173

Q.2 Find the part of the given sentence that has an errorinit. If there is no error,
choose ‘No error'.

The newly introduced stringently policies on income tax filing and collection (1)/ will
certainly bring about a substantial increase (2)/ in revenue generated from income
tax. (3)/ No Error (4)

Ans X A.No error
#< B. will certainly bring about a substantial increase
75 C.in revenue generated from income tax.

«" D. The newly introduced stringently policies on income tax filing and collection

Question ID : 2752286154




Join Telegram Group "HaryanadJobs.in

Q.3 Find the part of the given sentence that has an error init. If there is no error,
choose ‘No error’.

The mission Chandrayaan 2 could be a success, (1)/ had it not lost contact with the
ISRO (2)/in its final moments of descent. (3)/ No Error (4)

Ans X A had it not lost contact with the ISRO
75 B.inits final moments of descent.
«" C. Themission Chandrayaan 2 could be a success,

25 D. No error

Question ID : 2752286155

Q.4 Find the part of the given sentence that has an error init. If there is no error,
choose ‘No error’.

In his memoirs, he has been quoted been saying that, (1)/ “It is my faith, based on
experience, that if one's heart is pure, (2)/ calamity brings in its trained men and
measures to fight it.” (3) No Error (4)

Ans X A calamity brings in its trained men and measures to fight it."
" B. In his memoirs, he has been quoted been saying that,

25 C."Itis my faith, based on experience, that if one's heart is pure,

25 D. No error
\Q Question ID : 2752286156
=
Y
Q.5 Select the word segment that substitutes (replaces) the bracke ord segment
correctly and completes the sentence meaningfully. Select th ion'no
correction required' if the sentence is correct as given. (\
His (malicious intent could have been seen) when he det\ to murder his entire
family.
Ans " A.malicious intent was seen $
#< B. No corrections required $

75 C.malicious intent would have been seehs

25 D. malicious intent should be seen

Question ID : 2752286160

Q.6 Fillin the blank with appropriate word.

The scientists have provided numerous _______________ researches, to prove their
hypothesis.

Ans  # A empirical
25 B.imminent
< C. empathetic
5 D. epiphanic

Question ID : 2752286166
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Q.7 Select the word that is opposite in meaning (ANTONYM) to the word given below

Polygamy
Ans X A Homogamy

2 B. Misogamy
#< C.Endogamy

« D. Monogamy

Question ID : 2752286172

Q.8 Find the part of the given sentence that has an error init. If there is no error,
choose ‘No error’.

Everyone were absolutely perplexed (1)/ by his decision to not participate (2)/in the
upcoming assembly elections. (3)/ No Error (4)

Ans X A. by his decision to not participate
" B. Everyone were absolutely perplexed
25 C. No error

2 D. in the upcoming assembly elections.

Question ID : 2752286157

Q.9 The question below consist of a set of labelled sentences. Out of four options
given, select the most logical order of the sentences which form a paragraph.

Google's history began in 1995 when Larry Page met Sergey Brin.

P. At the time Larry Page was a Ph.D. student at Stanford University, and Sergey was
considering studying there.

Q. In 1996 Larry and Sergey began working on a search engine called BackRub.

R. This engine worked on the Stanford servers for more than a year which event ually
clogged up the bandwidth and hence Google.com was registered on September 15th,
1997.

S. The name came from the algorithms ranking for how many "back-links" a page
has.

Google, is a play on words of "googol" which is a mathematical term for the number
1 followed by 100 zeros. It is rumoured that this reflects the founders' mission to
organize the infinite amount of information on the internet.

Ans X A PSQR
< B.PRSQ
« C.PQSR
< D.PQRS

Question ID : 2752286170
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Q.10 Select the word segment that substitutes (replaces) the bracketed word segment

Ans

correctly and completes the sentence meaningfully. Select the option 'no
correction required' if the sentence is correct as given.

Gandhi completed his studies in England and became a lawyer, (for he practised law

in South Africa) as he was racially discriminated in England.
25 A. as, he practiced law in South Africa

#< B. No corrections required
#< C.but he practice law in South Africa

«# D. but he practised law in South Africa

Question ID : 2752286159

Q.11

Ans

Fill in the blank with appropriate word.

Their relationship had reached a point where it was
75 A.sociable

25 B.communicable
" C.irreconcilable

< D.insatiable

Question ID : 2752286164

Q.12 Fillin the blank with appropriate word. % d

Ans

The massages were quite pleasantly ________________ . 3
«" A.rejuvenating

< B. enumerating A
25 C.endowing \2\{&

X D. facilitating $ .

Question ID : 2752286165

Q.13 Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the

Ans

option that gives the correct sequence in which these parts can be rearranged to
form a meaningful and grammatically correct sentence.

The employees of the restaurant

P. they were given leave without an

Q. and if something urgent cropped up

R. were well paid, well fed, well rested, well clothed
S. eyebrow raised and in the

blink of an eye.
25 A.RPQS
< B.RPSQ
«" C.RQPS
X D.PSQP

Question ID : 2752286169
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Q.14 Select the word segment that substitutes (replaces) the bracketed word segment
correctly and completes the sentence meaningfully. Select the option 'no
correction required' if the sentence is correct as given.

(As the country copes from the aftermath of the horrors of Mumbai), the hard
work of reconstruction, of rebuilding and of reimagining our country has begun.

Ans X A.As the country copes within the aftermath of the horrors of Mumbai
4" B. As the country copes with the aftermath of the horrors of Mumbai
#< C. No corrections required

72< D. As the country copes in the aftermath of the horrors of Mumbai

Question ID : 2752286161

Q.15 Select the word that is closest in meaning (SYNONYM) to the word given below

Subversive
Ans X A.Admissible

«" B.Insurgent
X C. Legitimate
75 D. Obedient

Question ID : 2752286171

Q.16 The question below consist of a set of labelled sentences. Out of fouroptions
given, select the most logical order of the sentences which form a paragraph.

The pivotal engineering and scientific success of the Twentieth.century was the
Manhattan Project.

P. The only cloud hanging over the impressive achievement-of the atomic
researchers and engineers is what their success truly/meant; hundreds of
thousands of innocent lives obliterated.

Q. The Manhattan Project assimilated concepts.and leaders from all scientific fields
and engineering disciplines to construct the first'two atomic bombs.

R. The presence of communication amid scientific minds was equally important to
the success of the Manhattan Project as‘scientific intellect was.

S. From the study of nuclear physics and chemistry to the practical engineering and
processing of uranium 235 and plutonium 239 and the final construction of the
weapons, scientific knowledge grew at an exponential rate to critical levels.

Yet this grave definition of success cannot diminish the impressive collaboration
and efficiency of the Manhattan Project.

Ans X A.QPRS
< B.QPSR
< C.QSPR
«” D.QSRP

Question ID : 2752286167
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Q.17 Select the word segment that substitutes (replaces) the bracketed word segment
correctly and completes the sentence meaningfully. Select the option 'no
correction required' if the sentence is correct as given.

(The latest edition of the Official Highway Code includes), new drug driving laws, HGV
speed limit changes on single and dual carriageways.

Ans X A.The latest edition of the Official Highway Code is included
+" B. No corrections required
#< C. The latest edition of the Official Highway Code included
75 D. The latest edition of the Official Highway Code include

Question ID : 2752286162

Q.18 Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the
option that gives the correct sequence in which these parts can be rearranged to
form a meaningful and grammatically correct sentence.

The cacophony of deafening noises

P. memories | have from
Q. is one of the more vivid
R. mytimel

S. served in the

pre-lraq war.
Ans X A.QPSR

&

#< B.QPSP &
«" C.QPRS 6Q
2 D.QSPR ,03

>

6 Question ID : 2752286168

Q.19 Find the part of the given sentence that has an$o§ init. If there is no error,
choose ‘No error’. $

The government has acknowledged its fa the plummeting economy today; (1)/
owing to its various egregious and farfetched policies (2)/ which were assured to
never yield any results. (3)/ No Error (4)

Ans  # A.Thegovernment has acknowledged its fault in the plummeting economy today;
< B. No error
#< C. which were assured to never yield any results.

75 D. owing to its various egregious and farfetched policies

Question ID : 2752286158

Q.20 Fillin the blank with appropriate word.

You can't just that kind of data from these results.

Ans X A. expedite
" B. extrapolate
75 C.exudate
< D.exalt

Question ID : 2752286163
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Section : General English2

Q.1 Select the most appropriate meaning of the given idiom

A skeleton in the cupboard
Ans  # A. A past event which is kept secret, something embarrassing or shameful

#< B. A secret which is revealed by someone.
#< C. Shared secrets between family members

25 D. A secret of someone which is kept hidden from everyone else in the family.

Question ID : 2752286182

Q.2 Select the most appropriate meaning of the given idiom

Feet of clay
Ans  * A Afundamental flaw or weakness in a person otherwise revered.

#< B.To be a good dancer
5 C. Advance in harmony
75 D. Todriverashly

Question ID : 2752286181

£

<

Q.3 Select the most appropriate 'one word' for the expressions given below_ .

Impossible to stop or prevent. 560
&

Ans X A Exorable
75 B. Deplorable (50
25 C.Uninsurable 6

o
« D. Inexorable \g\
Q

§ Question ID : 2752286185

Q.4 Four words are given, out of which only one word is spelt correctly. Choose the
correctly spelt word.

Ans X A.Consaguinity
«# B. Consanguinity
2 C.Consanuity
#< D. Consagnuity

Question ID : 2752286180

Q.5 Select the most appropriate 'one word' for the expressions given below

The joint control of a state's affairs by other states.
Ans  # A Condominium
25 B. Dominium
2 C.Biennium
#< D. Meconium

Question ID : 2752286186
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Q.6 Select the word that is closest in meaning (SYNONYM) to the word given below

Equestrian
Ans X A Pleasant
#< B. Callisthenics
75 C. Pedantic
«" D. Horseman

Question ID : 2752286175

Q.7 Four words are given, out of which only one word is spelt correctly. Choose the
correctly spelt word.

Ans X A Convalesence
5 B. Convalascence
& C.Convelence

" D. Convalescence

Question ID : 2752286179

Q.8 Select the most appropriate 'one word' for the expressions given below

A person who is dissatisfied and rebellious.

Ans X A. Synod .Q
#< B. Interregnum 60
#< C. Monomaniac (bs

" D. Malcontent

(b Question ID : 2752286188

\ .

Q.9 Select the most appropriate meaning of thgﬁ‘en idiom

Gird up one's loins
Ans 4 A. Get ready for the job

#< B. Theend part of something
< C. Not having a prepared action before time

725 D. With one's own efforts

Question ID : 2752286183

Q.10 Select the word that is opposite in meaning (ANTONYM) to the word given below
Besiege
Ans X A. Palisade
< B. Smother
¥ C. Defend
25 D. Skirt

Question ID : 2752286174
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Q.11 Four words are given, out of which only one word is spelt correctly. Choose the
correctly spelt word.

Ans X A Acsthete
75 B. Ascthete
5 C. Asthete

" D. Aesthete

Question ID : 2752286177

Q.12 Select the most appropriate meaning of the given idiom
The thin end of the wedge.
Ans X A. Toadmit something readily
75 B. Someone who is against the religion

" C.Beginning of something bad which seems harmless in
the present but is likely to become worse in future.

< D. Watching all actions closely

Question ID : 2752286184

Q.13 Select the most appropriate 'one word' for the expressions given below

Aremark or statement, especially one with a moral content, that has b edtoo
often to be interesting or thoughtful. %.

Ans X A Habitude
< B. Solitude ‘03
25 C.Finitude (OQ
«# D. Platitude 6

\2\’0

$ : Question ID : 2752286187

Q.14 Four words are given, out of which only one \ﬁord is spelt correctly. Choose the
correctly spelt word.

Ans  * A Alliteration
725 B. Alliterasion
75 C. Aliteration
< D. Aliteretion

Question ID : 2752286178

Q.15 Four words are given, out of which only one word is spelt correctly. Choose the
correctly spelt word.

Ans  # A Palatable
#< B. Palateble
75 C. Peletable
25 D. Paletable

Question ID : 2752286176
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Comprehension:
Read the following information carefully and answer the given questions.

The New Yorker article, "A Star in a Bottle" explained the ambitious project upon which,
world-wide physicists and engineers are embarking on: the creation of an artificial "star",
which humanity hopes to use for its energy to power our civilization. T his "artificial star" is
essentially a controlled fusion reaction which, when successful, releases a massive
amount of energy (gamma rays, in compliance with E=mc2) that they can then harness as
electricity. T he current machine (work in progress) is the International Thermonuclear
Experimental Reactor (ITER). T his is an international project, which China, the U.S., Russia,
and several European countries are participating in. T he collaborators at IT ER hope to use
the machine to solve a major problem humanity faces as a civilization- the pollution in the
atmosphere created by the burning of fossil fuels. T he IT ER project began during the Cold
War in the mid-21st century. Apart from the obvious economic and environmental assets of
such a machine, the curiosity of American physicists in the 21st century also acted as a
major catalyst. In the early 1980’s the Argentinian president, Juan Peron, incorrectly
announced that his scientists had successfully constructed a fusion machine of such
sorts. Americans, despite the fact that Peron's claim was a fraud, began to ponder and
wonder that a thermonuclear fusion machine would look like. At that point, the U.S.
government began to pour large amounts of money into the project, and was constantly
disrupted by numerous set-backs and obstacles. One of the major problems the entire
international collaboration faced was the issue of cost and each country's economic
devotion to the project. T he author claimed that as science and its frontier continued to
advance, both the cost and complexity of further exploration sky rockets as well, which the
ITER project clearly portrays.

SubQuestion No : 16

Q.16 According to the passage, out of the numerous problems which the ITER project
faced, which is the one mentioned in the passage.

Ans X A.The complexity of the programme.
5 B. The impracticality of the existence of such a machine.
4" C. The cost of such a project and receiving the economic aid from {fig*Collaborators.

25 D. The security threats which accompanies while harnessing niuglear energy.

Question ID

1 2752286194
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Q.17

Ans

Comprehension:
Read the following information carefully and answer the given questions.

The New Yorker article, "A Star in a Bottle" explained the ambitious project upon which,
world-wide physicists and engineers are embarking on: the creation of an artificial "star",
which humanity hopes to use for its energy to power our civilization. T his "artificial star" is
essentially a controlled fusion reaction which, when successful, releases a massive

amount of energy (gamma rays, in compliance with E=mc2) that they can then harness as
electricity. T he current machine (work in progress) is the International Thermonuclear
Experimental Reactor (ITER). T his is an international project, which China, the U.S., Russia,
and several European countries are participating in. T he collaborators at IT ER hope to use
the machine to solve a major problem humanity faces as a civilization- the pollution in the
atmosphere created by the burning of fossil fuels. T he IT ER project began during the Cold
War in the mid-21st century. Apart from the obvious economic and environmental assets of
such a machine, the curiosity of American physicists in the 21st century also acted as a
major catalyst. In the early 1980's the Argentinian president, Juan Peron, incorrectly
announced that his scientists had successfully constructed a fusion machine of such
sorts. Americans, despite the fact that Peron's claim was a fraud, began to ponder and
wonder that a thermonuclear fusion machine would look like. At that point, the U.S.
government began to pour large amounts of money into the project, and was constantly
disrupted by numerous set-backs and obstacles. One of the major problems the entire
international collaboration faced was the issue of cost and each country's economic
devotion to the project. T he author claimed that as science and its frontier continued to
advance, both the cost and complexity of further exploration sky rockets as well, which the
ITER project clearly portrays.

SubQuestion No : 17

According to the passage, what is major problem which the project ITER hopes to
solve?

/< A.Reduction in the stress put on renewable resources
< B. Solving the electricity crisis
" C. Reduction in pollution caused by the usage of fossil fuels

< D. Cost efficiency and energy saving

Question ID

: 2752286190
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Q.18

Ans

Comprehension:
Read the following information carefully and answer the given questions.

The New Yorker article, "A Star in a Bottle" explained the ambitious project upon which,
world-wide physicists and engineers are embarking on: the creation of an artificial "star",
which humanity hopes to use for its energy to power our civilization. T his "artificial star" is
essentially a controlled fusion reaction which, when successful, releases a massive

amount of energy (gamma rays, in compliance with E=mcz) that they can then harness as
electricity. T he current machine (work in progress) is the International Thermonuclear
Experimental Reactor (ITER). This is an international project, which China, the U.S,, Russia,
and several European countries are participating in. T he collaborators at IT ER hope to use
the machine to solve a major problem humanity faces as a civilization- the pollution in the
atmosphere created by the burning of fossil fuels. The IT ER project began during the Cold
War in the mid-21st century. Apart from the obvious economic and environmental assets of
such a machine, the curiosity of American physicists in the 21st century also acted as a
major catalyst. In the early 1980’s the Argentinian president, Juan Peron, incorrectly
announced that his scientists had successfully constructed a fusion machine of such
sorts. Americans, despite the fact that Peron's claim was a fraud, began to ponder and
wonder that a thermonuclear fusion machine would look like. At that point, the U.S.
government began to pour large amounts of money into the project, and was constantly
disrupted by numerous set-backs and obstacles. One of the major problems the entire
international collaboration faced was the issue of cost and each country's economic
devotion to the project. T he author claimed that as science and its frontier continued to
advance, both the cost and complexity of further exploration sky rockets as well, which the
ITER project clearly portrays.

SubQuestion No : 18

According to which country’s fraudulent claim did America become curious about a
thermonuclear fusion?

/< A.Russia
«" B. Argentina
2 C.TheUK
/< D.China

Question ID

1 2752286191
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Comprehension:
Read the following information carefully and answer the given questions.

The New Yorker article, "A Star in a Bottle" explained the ambitious project upon which,
world-wide physicists and engineers are embarking on: the creation of an artificial "star”,
which humanity hopes to use for its energy to power our civilization. T his "artificial star" is
essentially a controlled fusion reaction which, when successful, releases a massive
amount of energy (gamma rays, in compliance with E=mcz) that they can then harness as
electricity. T he current machine (work in progress) is the International Thermonuclear
Experimental Reactor (IT ER). T his is an international project, which China, the U.S,, Russia,
and several European countries are participating in. T he collaborators at IT ER hope to use
the machine to solve a major problem humanity faces as a civilization- the pollution in the
atmosphere created by the burning of fossil fuels. T he IT ER project began during the Cold
War in the mid-21st century. Apart from the obvious economic and environmental assets of
such a machine, the curiosity of American physicists in the 21st century also acted as a
major catalyst. In the early 1980’s the Argentinian president, Juan Peron, incorrectly
announced that his scientists had successfully constructed a fusion machine of such
sorts. Americans, despite the fact that Peron's claim was a fraud, began to ponder and
wonder that a thermonuclear fusion machine would look like. At that point, the U.S.
government began to pour large amounts of money into the project, and was constantly
disrupted by numerous set-backs and obstacles. One of the major problems the entire
international collaboration faced was the issue of cost and each country's economic
devotion to the project. T he author claimed that as science and its frontier continued to
advance, both the cost and complexity of further exploration sky rockets as well, which the
ITER project clearly portrays.

SubQuestion No : 19
Q.19 When did the project ITER begin?
Ans X A. Atthe start of 21st century

< B. During the Second World War
25 C.In the middle of First World War

+” D. In the middle of 21st century

Question ID : 2752286192
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Comprehension:
Read the following information carefully and answer the given questions.

The New Yorker article, "A Star in a Bottle" explained the ambitious project upon which,
world-wide physicists and engineers are embarking on: the creation of an artificial "star’,
which humanity hopes to use for its energy to power our civilization. T his "artificial star" is
essentially a controlled fusion reaction which, when successful, releases a massive

amount of energy (gamma rays, in compliance with E:mcz) that they can then harness as
electricity. T he current machine (work in progress) is the International Thermonuclear
Experimental Reactor (ITER). T his is an international project, which China, the U.S,, Russia,
and several European countries are participating in. T he collaborators at ITER hope to use
the machine to solve a major problem humanity faces as a civilization- the pollution in the
atmosphere created by the burning of fossil fuels. The IT ER project began during the Cold
War in the mid-21st century. Apart from the obvious economic and environmental assets of
such a machine, the curiosity of American physicists in the 21st century also acted as a
major catalyst. In the early 1980’s the Argentinian president, Juan Peron, incorrectly
announced that his scientists had successfully constructed a fusion machine of such
sorts. Americans, despite the fact that Peron's claim was a fraud, began to ponder and
wonder that a thermonuclear fusion machine would look like. At that point, the U.S.
government began to pour large amounts of money into the project, and was constantly
disrupted by numerous set-backs and obstacles. One of the major problems the entire
international collaboration faced was the issue of cost and each country's economic
devotion to the project. T he author claimed that as science and its frontier continued to
advance, both the cost and complexity of further exploration sky rockets as well, which the
ITER project clearly portrays.

SubQuestion No : 20

Q.20 According to the passage, which of the following given statements is incorrect?

Ans X A.ITERis an international project, and its participants are China, the U.S., Russia, and
several European countries.

«” B. Artificial star' is essentially a controlled fission reaction, similar to gfnuglear bomb.
< C.Inthe early 1980’s the Argentinian president, Juan Peron, incorrectljzannounced
that his scientists had successfully constructed a thermonuclear fusiop machine.

25 D. International T hermonuclear Experimental Reactor is the n@ne of the machine
which is under development for harnessing the thermonuclear €nérgy.

Question ID : 2752286193

Section : General Hindi1

Q.1 fa=Afaf@aust A, =R faereal & @, 39 faered &1 T9 &3 St g e Tu ar«r fasea g1

Ans X A A
< B.dfgar
o C. 1R
25 D.Har

Question ID : 2752286212
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Q.2

Ans

frafafEa usr d, R faereal & @, 39 T faerea & a7 &3 51t g 710 2reg & 9t oref ar
3 faerea gt

@

X A 3u™
X B.@FeH
X C.@eH
o D. T

Question ID : 2752286206

Q.3

Ans

feraferea ust |, ar fawmedl | &, 39 faerea @1 =g & <1t g 7 2rez & forg @it agsife
1Y % forg o1 farea gt

THATA
25 A, 9T & Y e
#< B. ¥ & forger v
25 C. =g gH1 HTe
o D. 9T R I § foah

Question ID : 2752286201

(o

Q.4 PR s, e R 4 , e el P 1 s it gl 3 g g e
fasrea gt 6Q
feet @ g e (03
Ans X A WY Q}Q
« B.3f&&m 6
o
X c.f&

X D.galy \$$

Question ID : 2752286205

Q.5

Ans

frferf@a us d, ar faeedl 9 |, 39 faseu o1 999 & 1t Fires 9 3 79 2reg & srgar
faiwor & A arer fawmea g

AR T (STREHY) U1 age w81
X A s
X B. Rffa d=aams
< C. sfafgya ufmror arae
@ D. UiErh

Question ID : 2752286199
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Q.6 fr=fef@a us |, 9 e |# 9, 39 faerea &1 9a=1 3 st fokar & A arer 98t fRerea gt
Eueh @R Were T[T
Ans X A T3 foRan
7< B. ATenq foham
2< C. tRumefes forar
«” D. qdamiferen fomar

Question ID : 2752286195

Q.7 fr=fafRa v &, o et 7 @, 39 faeea &1 9g-1 & St wisa | g g oreg & orgem?
T & 92 F1 9l Rea gl

@A | (Fo) at @ g1
Ans X A USETEh
o B. g araa
25 C. gy graeh
X D. Raras

Question ID : 2752286198

Q.8 famfef@a usr d, o faereut # |, mﬁmmmaﬁ@ﬁaﬁsaﬁfi‘qq&ﬁ#@mzm
& 9% o1 9l faemea gt %
&uers (ufafe) uedar @1 360
Ans X A Teedteds st &
,00

«" B. foRfasivor sreqg 6

X C. Rremafaiters s \2{0
7< D. STy g $

&

$ Question ID : 2752286196

Q.9 far=Afef@ausr d, =R faereal & @, I faerea o1 =9 &R S1 faeie 2reg o1 e 3T faehreu
2l

TR

Ans X A ammed

" B.id
X C. s

25 D. 3R

Question ID : 2752286204
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Q.10 fam=ferf@e us d, = faeredt 9 |, 39 9 faerea o1 Ta=1 ¥ <1t fees 1171 & forg Sugh 2reg
o1 9@l farea &1

Question ID : 2752286207

Q.11 fa=afaf@a s &, == faereal & @, 39 forereq &1 == 3 St 22T 2ree 1 T fameu gl
Ans  # A SHR

X B. &L

X C. 35w

X D. 3fka

Question ID : 2752286200

Q.12 fa=fef@a us d, o fawedl 9 |, 39 faseu o1 999 &R 51t [ 21 &1 a8 faamea g1

Ans X A SHFER A Q
#< B. AR %\
AS)
 C. Saerd 50
#< D. SAMERI &
>
6 Question ID : 2752286209
X0

Q.13 mnwﬁ,mzﬁmﬁﬁ,mﬁmmﬂm@%mdmmaﬁﬁmqﬁ
2l
Ans X A FHUUrEr $
" B.&d
X C.aEda
25 D.g\gr

Question ID : 2752286197

Q.14 fa=afaf@a us &, == faereat 3 @, 39 faerea &1 a7 &I it fEQ 710 2reg, &1 aew U gt

g

Ans X AT
X B. ofif
X C.&hy
« D. o8t

Question ID : 2752286202
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Q.15 fam=ferf@ us d, 9 faeed 9 |, 39 @) foereu o1 wa7 & it fg 71Q ereg-g7a & oref avr wigt
farea gl

AfY afi oifh
Ans X A W& R IER
X B. e 3R 5T
75 C. MR 3R AgaR
o D. 76 3R AgaR

Question ID : 2752286211

Q.16 fr=forf@a v &, = faeedt d |, 39 faereu o1 991 = St 5 2% &1 TEl fameu g1
Ans o A ORI

X B. Sarret

< C. S

#< D. Samet

Question ID : 2752286208

Q.17 fr=fof@a ust &, == freredt & |, 39 fasea o1 aa= & it &g g ez & ageaa &9 o1 gad
3raT faaea &1

fRafgar S
Ans X A Rfvarsi 360
X B. St {03
o C.Rfsat
X D.fRer

$ : Question ID : 2752286213
§

Q.18 fa=faf@aun ¥, mzﬁwﬂﬁﬂ,mﬁmm\\maﬁwﬁftqwam%wmzﬁ A T
farerea =i 81

Uk
Ans X A &eH
< B. TgaT
X C.d=
& DT

Question ID : 2752286210

Q.19 fa=faf@a s &, == faereal & |, 39 faerea &1 ag=1 w2 St faQ 71 2ree & yafgarh g &t
& faerea 7 21

ot

Ans o A TRT
< B. eI
X c.afRe
2 D.=Rg

Question ID : 2752286203
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Q.20 fam=forf@e us d, 9 fawedl d |, 39 fasen o1 999 & <7t Fies d g 79 2reg & srgar
A YT ardch AT I Gt 31eaT faahea 81

Ans o A () I STeT T I &
< B. (FRn) A off g &1
< C. (d8) 3o JdHT dT8d U7l
X D. (3%) GwreIa & s ugarat

Question ID : 2752286214

Section : General Hindi2

Q.1 f=afaf@a uesr |, o= et | 9, 39 ferea &1 9a+71 & st forw Rig g+ a1 9l faeeea

g
Ans X A w3 7Td Q gt T8 I g SerT ST T8 8T, gd g3 AT @

o B3 7 & g, "TE 7! 315 ST Srest Tl g, Igd 1 g '
7< C. 77 3 77d & T, T8 ! 315 ST ST g §e, Igd T BT §
X D. 5 3 71 & o, "L ! IS ST 37T AEY i, Iga I EeT

Question ID : 2752286223

TS
Q.2 ﬁﬂﬁr@ﬂu&rﬁ,mtﬁmﬁﬂ,wﬁmaﬂmaﬁwﬁmﬁmm‘ﬂzaﬂ\gﬁ}g’n
THIE AT @t W ST AT AR Ao SO
Ans o A TY<h AT ‘Q(b
X B. UeTae are %(b.
S
X C. Asrarr >
X D. &Rl arer $

&

N

Question ID : 2752286219

Q.3 f=fafRa vsr |, o et | 9, 39 ferea &1 a1 3 st f3g 719 gt o1 wgh oref arenm
faerea g1
el T IaATA ST
Ans X A JUEY OHH HeAT
#< B. 9gd AfSid A1
o C. STIT a7 ohie STl @ g ST
72X D. sFTiu= e

Question ID : 2752286225
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Q.4 fa=Afaf@aauy A, =R faereal d @, 39 faered &1 Ta &3 St &) 1S SAtepifh o1 It oref arem
faerea g1

FAEY T ETATSTT Gl &
Ans X A &fSAmsal 9 e
X B. 9 fa1 gan 7 16 g
X C. I Tefiad & g2 e at et H v
& D. T R Tft 1 iR gar &

Question ID : 2752286228

Q.5 fr=afaf@a us |, o faweat § @, 39 fReea &1 9a1 o St 3[g arer o1 o=t ar=aT faheu g1
Ans X A JH T M g HT?

7< B. JH T &M &hd 87

«F C. TH R HH A 87

2 D. TH 1 T el 82

Question ID : 2752286218

Q.6 fa=Afaf@a usr d, aR faereal & @, 39 faerea o1 =g &R 51t fEu ¢ arery & &hret a1 9g) fasmea

g
ot @t f@«re at & @reti \Q
%o
Ans X A G YdehTel 60
< B. Tfewy gdm™eer ,05
o C. 3 s {oﬁ\
75 D. =T JiasgehTet \2\(&
$ ’ Question ID : 2752286215
N

Q.7 Frfarfre e 8, = Femeat § @, R a1 7= ¥ it Rrg g mgTa a0 el oref aren
faerea 81
A & g AT
Ans X A Sgd iy STHT
" B. 9gd gl a1 A g1
X C. FfsT ulksm AT
75 D. 9gd R &=AT

Question ID : 2752286226

Q.8 f=fefRa usr |, o= et | 9, 39 faerea &1 a1 & St forma g g+ arer o1 @@l faeeea
gh
Ans X A AT A U1 hY ST T ISR Fat g1 aTiey

& B. 3 A 4@, " ...?7" eFSIa I SRR 1 AT 916y?
X C. 311 A gRT & ...? YT ol SifdeRR ol 8T =Ty
#< D. 331 7 geT, hd g a1 SR it g1 a1y

Question ID : 2752286221
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Q.9 fr=fafRa us |, o et | 9, 36 faerea &1 a1 & st formw fRig g+ arer o1 9@t faerea
gl
Ans X A 3T Ui GlaR Sict "HRAT et GRSt ¢ af ! Sar gl

< B. 3 Arerdict g diel, HRAT ST GHST & af "R H S g
o C. 3 Aa-Uiel g diet, "ARAT S7<sT GHEKd! § daf FR! & ST "
75 D. & 7T diel gle ailet ARAT SreeT GHeld! § Ot 7R A STar g

Question ID : 2752286222

Q.10 fa=AfafEa uy &, == faereal & @, 39 faerea &1 =g =R 57t Tl a1 A &1 famea gl

ag 59 atva gl @ fop Q= d arelf ghi
Ans o A FgarR
< B.dg<har
X C. faumaras are

X D. &=d ar

Question ID : 2752286220

Q.11 fa=fef@ausr &, =R faereul & @, 39 faerea &1 =g &R St & 71 Aepif<h &1 Tl oref aren
faerea g1

&
R faeeht @ A9 &
Ans X A URem &1 go off thel 7 BT 60
< B. Agd fohelt it arey fopehY ofiR e (03
X C. 3 Y o e @Q
Q

o D. 3T SrItherdT uR EigHT

$ ’ Question ID : 2752286229

Q.12 f=faf@aund, mzfﬁwﬁﬁﬁ,mﬁmm\\maﬁsﬁ&qmma;mw&{aﬂzm
a8 a1 faarea &1

gt foRaAT 31T hied Ua R I 8!
Ans X A gufdreides
X B. mrfaeides
< C. 3IR¥eidadh
o D. Trawelas

Question ID : 2752286217

Q.13 fa=fef@a us 9, = faeredl 9 |, 39 faeea o1 997 &R it fag 7g ggrar o wgt eref arem
fapea 21

heh el -ERT THFET
Ans X A vfthgH
«” B. T8 91 IR 0T
#< C.gg dier
< D.5gd A gin
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Q.14 fr=afafEa s |, o fasedt & |, 39 faereu o1 ag= o 5t R 1o arem & g gfer & S o
a9 3o T farea &1

SRR T a1 o1} off Tt g 81
Ans o A s
X B. ddgrf
2 C.faegef
2< D. gurgef

Question ID : 2752286216

Q.15 fa=afafaa uy &, == faereal & @, 39 forerea &1 == w3 57t & 7 terif<h a1 Tt eref arer
faerea g1

T & TRl & Terehl Bl
Ans X A U oY gifur arer
X B.Uhar g aa
25 C. TS 91y 3Meh b AT
« D. BI¢ IS &I &M 7 I&T

Question ID : 2752286227

Comprehension:

f=fafed Teisr @ erFgde ufey ik iy mg s & Iw &)

T et fore dsit & 3Iafd o= <61 &, SU9 gt Hfasa & foig ofR off SieRT 81 wiTar & 89 gor o7 arer
& S1ar e, fagm, el ofik T1fecy giet haet fasmu= ahet o forg € J9TT 3 Seem| 39 dt ot oft
S el & oIg 3TehT @1 IUANT EielT &1 Sga-2t feror Swird § St v e denstt & fasmas 7
SOt it & g @Rl Y RfdAT ATAT ST, T IT SH.ALE b A oh [ehell 3R AT hl TR
A @ veRTfra glene wer Sft &Y e e STt 3 ufdl ©TReR GIhaT Whot 91T e T6! § 7R ST aTel T o
Tg hel, & heH AT g5 Strit| frenfial o e & Qerid Teicaa W= < {3t & smirh), 37
e s | suT @ “Smgdht 18T & IUTNT T Tek & AR &, 31T gt STd-fAafd @ e uRe fifsig |
oo 0o & forg fAfRT 1" 8% 7 SfashR a1 I6x1 FEAICT §oT Sefifast= TR ST $o 39 e fFaed
TS TE g g4 BTG ULTadT & foh TR T i HheldlT ol TRT S 59 U1 i &, Fifh I &
TiedTe SR UROT & #7 39 = & whew g o1

SubQuestion No : 16
Q.16 39 3<% & FHIE IJug=h Mtieh:
Ans X A. 31T @ fasmaa

o B. o= & agdt g
< C. wgaeH =
2 D. fasmu= &t vt gfam

Question ID : 2752286235




Join Telegram Group "HaryanadJobs.in"

Comprehension:

fAfefEa e ot ermgde ufey ok Ry g ushi & Iw ARy

= e O Aot & 33l o= & 8, 39 gt wfasy & farg ofiz oft sidem &1 orTar & @9 g o arer
& STar e, fam, el ik T1fecy g1ent haet fasTu= ot o forq & IUANT 3 SITQamm| a9t ot off
T el o foIQ 3TehT T SUANT BiaT 81 Sga-4T fReTor Serd § it aiveriies dwmsii o fasma= a4 81
ST It o S wIRachl T picl ATl STHATA, AT T 39 g o AT o foheit 3R Tl H TIRS
1 & yemfRra glens e Sit &Y a1 o Uil IRk B T Wt S1aT e Y@l § PR ST aTel T &
Tg hel, & heH A Fg st Rrenfial o fyfaerem & Seria agicaa R S {3t & smirh), 371
et ol o ©uT I8 “3Tueh fRASTT & ST bl Ueh g1 AT g, STTST gt STard-Fafd o ear Ry Fifsigl
T gefto 3 forg fofRr 1 a1 7Y snfarseh a1 AT HeahvraT gon eifaer R e 3o 59 a¥E e
HAT-HS TG g gy BIIeh UTadT & foh #R T hl TOhedT ol TRT S 59 U1 &l &, Fifh 32
e 3R TR 9§ &4 59 feem & sved g o

SubQuestion No : 17
Q.17 argede d famru= & ufey ufdsy & forg e aneiest rars ms @72
Ans X A fOSTYS o AE<a A 8 Sg

o B. Tl &7 3191 e 327 Siga AN Il o A= o o smda
X C. flgma= &1 gt U wes S
25 D. fagmu= o1 Iuah fA-g =i & gt fomar sy

Question ID : 2752286231

Comprehension:

fAfefEa e ot emmgde ufey ok Ry g ushi & Iw S|

T ohetT 1T dSht O A R 3@l &, I Hat Aias & forg ofiR off Sidam &1 Sl e O i 31 arer
& ST e, o, Sl ok Aifecy gent et fasmoe dhe & forg & Sua 38 S 39 at et of
T el o foIQ 3TehT WTTT SUANT gl 51 Sga-4t fReror Serd § it wiveriien @wmaii o s = 81
ST It o RS <IRachl T il ATl STHATA, AT T 39 G o ATH. e fohait 3R Tl T TTRS
Y & yemfra glens e Sit Y fedTTa ST o Ul ©IReR §1F AT thnt @ial e Y@l & VR ST aTel T &
TE ohel, & TheH 31 s Stgeit | faenfiat @ Rryfeemea & Serid Geicaa w <t 3t & s, s
et o9 o ©uT I8 “31ueh fRASTT & ST bl Ueh &1 AT 8, TSl 6t STaTd-Fafd o ear Ry fifsigl
T gefto 3 forg fofR 1* a1 7T Snfarseh a1 AT HRanian g e R ST $® 39 a¥g e
AT T Phed gY glieeh UTadT & foh TR TaIe Y qhetell ol IRT 97 39 U1 &l §, 1fh Il oh
e 3R URon 9§ &4 39 feem & sved g o

SubQuestion No : 18
Q.18 39 3J=3E o AT Y FGeh AT g1 ATgaT g7
Ans X A fOSTOs & Agsa & Sfied | &S Ag<a el §

o B. A= &er A wsa & &fes Sfiaw &t weifaa forar &
X C.ags g A Ag d e R &
< D. oa Stta g fammae eheff ges 1y 81 31 Tehd

Question ID : 2752286233
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Comprehension:

fAfefEa ey ot ermgde ufey ok Ry g ushi & Iw S|

T et o1 dSh O A R 3@ &, ITX Jat Jiasg o forg ofi off Sidam &1 & § O T 31 arett
& STar e, fagm, Seepfa ofik T1fecy g1aht haet fasmu= ot o forg € IUdiT 3 SIQem| a9 dt ot oft
S el & oIg 3TehT @TT IUANT BielT &1 Sga-2t feror Swird § St Aiveriies denstt r fasmas 7t g1
SOt it & g @Rl T PfaAT ATAT ST, FAATA IT 5 =G o AT oh [chell 3R AT hl TR
A @ eRTfra glene arer Sft &Y Regra 1T 3 ufal ©TReR 1R ol Wt S1aT & 36! & TR ST aTer g |
g ohell, & hed 3Tt §¢ S| [enffal e fayfemer & Serid weicra wR i {3t & sdh, sas
et oA o ©uT I8 “31uch fASTT & ST bl Ueh &1 AT 8, 31T &t STaTd-Fafd o ear ury hifSigl
o geftu & forg ff@g 1 &2 97 enfasenR a1 =T HeanerdT gor ¢efifasi uR SiTe e 59 avE fAder
HAT-G3! TG hgd gy gliceh TH=d & o AR Tre &hY AeheldT &1 ART 949 9 U1 &l g, Hifch 3! &
e 3R TR § &4 39 fen & sved agm ol

SubQuestion No : 19
Q.19 adwT= & feror Teureit &t T fR_AfT T 71E 82

Ans o A. 3 FiUcRIe Se1sT & fAFTOH A SR B TS §
X B.owl HI g TS §
72X C. givrerfiies Gearail & g1y e dhis oy T §
X D.ghdd R

Question ID : 2752286232

Comprehension:

f=fafed Taier @ erFgde ufey ik iy mg s & sw &)

T et fore dsft & 3Iafd = <61 8, SU9 gt Hfasa & foig ofiR off sidanm §1 el s OH g o1 arert
& S1ar e, fam, Seepfa ofik T1fecy giet haet fasmu= ahet o forg € IUTiT 38 wimeem| 39 dt ot oft
S el & foIQ gTehT W SUANT glaT 1 Sga-4l fAeror deard § ST Aivreriien &emati @ fasma= A g1
S0+t g} & S IRadhi chl AT ATl DI, AT dT 9 ARG o AT, o fchdlT 3R ATt &l TR
A @ yeRTfIa glene wrer Sit &Y fegra ST 3 ufa ©TReR iR ol Tt 8iaT o 26! & TR ST aTel T A
T T, & heH 31T g SIgeft | faenffat ot fryfeemea & Qerig Ggicaa wR it 3t & s, 396
e s | suT @ “STudht R8T & IUTNT T Uek g AR §, S{1T gt SrTd-fAafd @t e uRe Rifsig |
o Geftu & forg ff@g 1 &2 97 anfasenR 1 9=t Jeandiar gon Sefifasi ur Sie e 59 ave Ader
HAT-G5! 6 hgd gy gliaeh TH=d & foh AR TIe &t quetell ol URT 97 9 U1 &l g, Hlfch I &
TiedTe SR UROT & A7 39 = & shew agrm 1|

SubQuestion No : 20
Q.20 g9 @ R - T At W1 T qafgars! ez gl &2
Ans X A wfafes
7< B. gmifa

o C. g
2< D. e

Question ID : 2752286234
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